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GENERRL DESCRIPTICON

THIS DIAGNOSTIC CAN CHAIN 16 DUIL'S. THIS MEANS THAT
16 DEVICES CAN BE SEJUENTIALLY EXERCISEC. THE DIAGNOSTIC
MWES ONE PRSS BEFCRE PROCEYDING TO THE LEXT DEVICE

R0 CONTINES EXERCISING ALL CEVICES IN THIS FASHION UNTIL
THE DUll OFFLINE LOGIC_TESTS VERIFY THAT AL. “EGISTERS EXIST
.ANC ALL RESPECTIVE BITS CAN BE MASTER CLERRED, RERC,
WRITTEN AND7OR RERD/WRITTEN

REGUIREMENTE

POP-11 FAMILY STANCARD COMPUTER WITH OR KITHCUT HARDWRRE SWITCH
REGISTER (LOC. 17757C)

DUI1  SYNCRONCUS/ISOCRONOUS OPTION
ONE CONSOLE TELETYPE OP EQUIVALENT
STORRGE

THE PRCGRAM LORDS AND RUNS IN BK OF MEMORY.

LORDING PROCEDURE

THE_STANDARD PROCEDURE FOR LOADING RBSOLUTE BINRRY TAPES
1S 10 BE USED.

STARTING ADORESS
FOR ABSOLUTE LOARDER

4K 017500
8K 037500
12K 057500
16K 077500
20K 117500
24K 137500
28K 157500

STRRTING PROCEDURE
CONTROL SWITCH SETTINGS

NOTE: SOFTWARE SWITCH REGISTER IS DEFINED RS LOC. 176, WHILE
THE SOFTWARE DISPLAY REGISTER 1S DEFINED RS LOC. 174,

AFTER PROGRAM LOAD (INITIAL PROGRAM START)

SEv 0002
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RLL CONSOLE SWITCHES DOWN

4.1.2 TU_MODITY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
RFTER PROGRAM RESTRART OR TQ RUN MULTIPLE DEVICES

SWo0=1

4.1.3 TO START PROGRAM AT SELECTED TEST AFTER R PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

1=l
9.1.4 7O LOCK ON SELECTED TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

Skd2=1
NOTEl: IN GENERAL SKOl WILL BE USED WHEN SW02=] IS USED
NOTE2: WITHOUT SWOl=1 “LOCK ON TEST™ WILL DEFAULT TO TEST |
4.2 STARTING RDORESS
THE STARTING RDDRESS FOR ALL TESTS IS 000200
THE RETARTING ADORESS FOR ALL TESTS IS 000200
THE STARTING ADDRESS TO ENTER AR SELECTED TEST IS  00C200
THE STARTING RODRESS TO LOCK ON TEST IS 000200
4.3 PROGRAM AND/OR OPERATOR RCTION
4.3.1 INITIAL PROGRAM STRRT
4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4.3.1.2 LORD RDORESS 003200
4.3.1.3 CLERR CONSOLE SWITCHES

4.3.1.4 PRESS START
4.3.1.5 THE PROGRAM WILL TYPE “DUll DZDUR-D TAPE R™ (ONCE ONLY)

NOTE: IF THE ?OFTM SUITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=X)000XX NEWz  (REFER TO SECTION 5. FOR OPERATOR’S OPTION)

4,3.1.7 THE ILL T “R™ TO_INDICATE THAT IT IS ABOUT
10 START TESTI HEN TESTING WILL BEGIN

4.3.2 PROGRAM RESTART HITH ALL SWITCHES DOWN
4.3.2.1 THE PROGRAM WILL TYPE “R™ AND WILL COMMENCE TESTING
4.3.3 PROGRAM RESTART WITH SW0O0=1

SEQ 0003
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4.3.3.1 LORD ADDRESS 003200
4.3.3.2 SET SW0O=]
4.3.3.3 PRESS START

NOTE: IF T}'E SOFTWARE SWITCH REGISTER IS ECTED T"EN THE FOLLOWING
WILL BE TYP%E RFTER THE PROGRAM %DEN ES ITSEL
SHR=XOOXXX NeW=  (REFER TO SECT FOR OP ERRTOR S OPTION)

4.3.3.4 THE PROGRAM WILL TYPE * ST DEV RECEIVER CONTROL PEGISTER

ICE
RODRESS™ AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
T

4.3.3.5 TYPE IN THE RDDRESS Of THE FIRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUL1 TO BE TESTED
FOLLOWED BY R (CRRRIAGE RETURN>

SEL
TIF
ON S.
¢
R

IF AN INCORRECT RDORESS IS TYPED ,THE PROuRRH WILL TYPE ==
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE “VECTOR RDDRESS-" AND WARIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUIl 10 BE TESTED FOLLOWED BY A (CRRRIAGE RETURN)
IF AN INCORRECT ADORESS IS TYPED ,THE Pnocmn WilL TYPE ==
AND WILL TH'N REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE “ARE YOU RUNNING MULTIPLE DEVICES **
(Y OR N)-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
(CARRIAGE RETURN>

IF AN INCORRECT ANSKER IS GIVEN, THE PROGRAM WILL TYPE “?*
AND WILL THEN REPERT THE MESSAGE OF 4.3.3.8

£ A IhNO= ANSIER IS GIVEN: JUP TO SECTION 4.3.3.12
F A "YES™ ANSWER 1S GIVEN: THE NEXT GUE GEtTon” 15 adkeo

4.3.3.10 THE PROGRAM WILL TYPE "LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS~-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.11 TYPE IN THE ADORESS OF THE LRST RECEIVER CONTROL REGISTER
RODRESS OF THE DULl TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED TFE PROGRAM WILL TYPE "7
AND WILL THEN REPERT THE MESSAGE OF 4.3.3.10
NGTE:ALL ADORESSES SHALL BE CONTIGUOUS

SEC OOC4




<OUR-
HELLO.

Al

FOI

MACYL)] 27(10Q6) 17-RJ3-TH 08:17 PRAGE §
B53-3JG-%6 00:10 SEQ 000S

4.3.3.11.1 IF AN "QUT OF RANGE™ ADDRESS IS TYPED
IE MORE THAN 16 (10) DEVICES AWAY_ (UPWARRDS)..... THE
PROGRAM WILL TYPE "OUT OF RANGE:RETYPE LAST DEVICE RXCSR RDCRESS-"
RAND KRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ARDDRESS OF THE DUIl TO BE TESTED FOLLOWED
BY R (CARRIRGE RETURN>

IF AN INCORRECT ANSWER I3 TYPED ,THE PROGRAM WILL TYPE ~7°
AND WILL REPEAT THE MESSRGE OF 4.3.3.1

IF A DEVICE RDORESS LOWER THAN 1ST DEVICE RDDRESS IS TYPED...........
.SCHOOLS OUT......... THERE IS NO PROTECTION FOR THIS.

THE 'PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FROM

iST DEVICE RDDRESS).THE SAME APPLIES TO IDENTICAL RDDRESSES

TYPED FOR FIRST AND LRST DEVICE.

OBSERVE LOCATION 3 ACTREG: SEE SECTION 7.2

4.3.3.1¢ THE PROGRAM WILL TYPE “DU PRIORITY LEVEL-" AND
WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.13 TYPE IN THE APPROPRIRTE DEVICE PRIORITY LEVEL OF THE
DUL1 OR DUI1'S TO BE TESTED FOLLOWED BY R_<CRRRIAGE RETURN)>
&NovETE)THRTISLL SN...ILTIPLE DEVICES MUST BE AT THE SAME PRIORITY

IF AN INCORRECT LEVEL IS TYPED ,THE PROGRAM WILL TYPE "7*
AND REPERT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE “& OF SYNC CHARS
%LYECTED (1 OR 2)-" AND WAIT FOR AN INPUT FROM THE TELETYPE

4.3.3.15 TYPE IN THE APPROPRIARTE ANSWER *1* OR “2" FOLLOWED
BY ’éCﬂRRIﬁGE RETURN> . (NOTE:ALL MULTIPLE DEVICES MUST

iﬂ

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "?%
AND WILL REPEAT THE MESSAGE OF 4.3.3.14

4.3.3.16 THE PROGRAM WILL TYPE " 1S SEC XMIT JUMPER #6 IN ? (Y OR N)-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.17 TYPE IN THE APPROPRIATE ANSKER YES OR NO FOLLOWED

BY A (CARRIAGE RETURN>.(NOTE THRT ALL MULTIPLE DEVICES
MUST BE THE SARME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRM WILL TYPE *?*
AND WILL REPERT THE MESSAGE OF 4.3.3.1

>y -
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4.3.3.18 THE PROGRAM WILL TYPE "IS SEC REC JLMPER 8 S IN ?
{Y CR N)-" ANC WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.19 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED

BY R <CRRRIAGE RETURN)>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "7~
AND WILL REPEAT THE MESSRGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE “IS OPT CLR ENABLE JUMPER
84 IN ? (Y OR N)-* AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.21 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIARGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
iF AN INCORRECT RNSWER 1S TYPED ,THE PROGRAM WILL TYPE "7"
AND WILL REPEAT THF MESSRGE OF 4.3.3.20
4.3.3.22 THE PROGRRH WILL TYPE “RRE YOU RUNNING IN MAINT,
MODE EXTERNML ” RND ...... DO YOU HAVE THE EXTERNAL MODEM
BYPRSS JUMPZR (.ONMECTOR ON ? (Y OR N)=-" AND WRIT FOR AN
INPUT FROM TH: TELETYPE KEYBORRD
4.3.3.23 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED BY
A (CARRIARGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SARME)
IF AN INCCRRECT GNSWER IS TYPED THE PRCGRAM WILL TYPE *?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.22

4.3.3.24 THE PROGRAM WILL TYPE "R™ TO INDICATE THART IT
HRS STRRTED RAND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH Su0l=}
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
.+, IT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED
JF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,
ggg gsgeg SWOC=1 AND ANSKER “NO™ TO THE MULYIPLE DEVICE QUESTION
4.3.4.1 LORD 000200
4.3.4.2 SET SWOl=1

4.3.4.3 PRESS START

NOTE: i EE ?OFTHREETEgI¥ gSSABTER BEN?EbEETE? THEN THE FOLLOWING

XXXXXX NEW=  (REFER TO SECTION 5. FOR OPERQTCQ S OPTION)

4.3.4.4 THE PROGRAM WILL TYPE “TEST PC-* AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBORRD

4.3.4.5 TYPE IN THE ARDDRESS OF THE TEST RT WHICH THE PROGRAM IS TO
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BE STARTED FOLLOWED BY R <CRRRIARGE RETURN)

4.3.4.6 THE PROGRAM ﬁéLL TYP; “R" T0 INDICRTE THART IT HARS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TRKEN WHEN THIS FEATURE IS USED
SINCE THERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS
tHAT IS IN THE MIDOLE OF R TEST

4.3.5 PROGRAM RESTRART WITH SWO2 =1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
SEE NOTE IN 4.3.4 FOR MORE DETRILS

Y.3.5.1 LOARD ADORESS 000200

4.3.5.2 SET SW0e =1
NOTE: IT MAY BE ADVANTAGEOUS TO SET SWOI=1 (OPTIONAL)

4.3.5.3 PRESS START

NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=)XXXXXX NEM=  (REFER TO SECTION 5. FOR OPERATOR'S OPTION)

4.3.5.4 THE PROGRAM WILL TYPE “LOCK ON SELECTED TEST ? (Y OR N)-"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.5.5 TYPE IN THE APPROPRIARTE ANSWER YES OR NO FOLLOWED BY R
(CARRIARGE RETURN>

IF A_NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM HILL TYPE "R™ TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1

qassIrnmsmmmumcwmtmpmmmuuLm AS FOLLOWS. ..

THE PROGRAM WILL TYPE “R™ TO INDICATE THAT IT HAS STARTED
rssrxuc AT TEST 1 nno HILL RE IN IN TEST | UNTIL HALTED

IF ANY KEY 1S STRUCK ON THE T LUWET%PW@M
HILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE mocmn IF SWOL =1 IT
WILL PERFORM RS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

S. OPERATING PROCEDURE

IF THE DIRGNOSTIC IS RUN ON R CPU WITHOUT R SWITCH
REGISTER THEN R SOFTWARE SWITCH REGISTER IS USED WHICH ALLOWS

. R THE

' IF T Hﬂﬂﬁﬂﬂggﬂgu?uéﬂ REGIS*ER DOES NOT EXIST OR IF ONE DOES
' AND IT CONTAINS ALL CNES (177777) THEN THE SOFTWARE SWITCH

| REGISTER (LOC. 176) IS USED.

CONTROL :

——— ———

HARDWARE SWITCH REGISTER.

SEQ 0007
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Ti{1S PROGRAM ALSQ SUPPORTS THE _DYNAMIC LORDING OF THE SOFTWRRE SWITCH
REGISTER (LOC. 176) FROM THE TTY. THIS CAN BE ACCOMPLISHED BY
DOING THE FOLLOWING:

1) TYPE CONTROL G <#G>: THIS WILL ALLOW THE TTY TO ENTER DATR INTO
LOC. 176 AT SELECTED POINTS WITHIN THE PROGRA

2) THE MACHINE WILL THEN TYPE: SWR= XXXXXXNEH- (XXXXXX IS THE OCTAL CONTENTS
OF THE SOFTWARE SWITCH REGISTER.)

3) AFTER THE '’NEW="' HAS BEEN TYPED THEN THE OPERATOR CAN DO ONE
OF THE FOLLOWING AT THE TTY:

R) TYPE A NUMBER TO BE LORDED INTO LOC. 176 FOLLOWED BY R (CR).
(ONLY_NUMBERS BETWEEN O-7 WILL BE ACCEPTED ARND ONLY & NUMBERS

WILL BE RLLOWED)
IF R <CR> IS THE FIRST KEY DEPRESSED THE SOFTWARE SWITCH
REGISTER CONTENTS WILL NOT BE CHANGED.

B) IF A CONTROL U <tU> IS DEPRESSED THEN THE PROGRAM WILL SEND YOU
BRCK TO STEP 2.

OPERATIONAL SWITCH SETTINGS
SW1S =1 HALT ON ERR

= OR
SW1Y =] LOOP ON CURRENT TEST
SHI3 =1 INHIBIT ERROR TYPEOUT
SHll =l INHIBIT ITERATIONS
SWi0 =1 ESCAPE TO NEXT TEST ON ERROR
SKo8 =1 LOOP ON ERROR
Skie =1 LOCK ON TEST
Slil =1 RESTART PROGRAM AT SELECTED TEST
SWO0 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES
SPARAMETERS RFTER A_PROGRAM RESTART
TO INHIBIT “END OF PASS™ TYPEOUT - TURN TELETYPE OFF
ERRORS
ERROR HALTS

THERE ARE FOUR DISTINCT ERROR TYPEOUTS

NOTE: IF THE SOFTWARE SKITCH REGISTER IS TO BE CHANGED RFTER R HALT
THE THE OPERATOR IS REQUIRED TO0 TYPE R ¢tG> BEFORE DEPRESSING CONTINLE.
THE FOLLOWING WILL BE TYPED:

SWR=XXXXXX NEW=  (REFER TO SECTION 5. FOR OPERATOR OPTION)

PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE “HLT™ IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS & RXCSR: TO LOCARTE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER ERROR PC
REGISTER EXPECTED RCTUAL
16XXXX YYYYYY 222222

SEQ 0008
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WHERE 16XXXX 1S THE ADDRESS OF THE FRILING DEVICE REGISTER

KHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER

WHERE 222222 1S THE RCTUAL CONTENTS OF THRT REGISTER

PC +2 = RECEIVER ERROR PC

REGISTER EXPECTED RACTURL

16XXXX YYYYYY 222222

WHERE 16XXXX IS THE ADDRESS OF TrE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER

WHERE 222222 IS THE ACTURL DATR CONTENTS OF THAT REGISTER

PC +2 = TRANSMITTER ERROR PC

REGISTER EXPECTED ARCTURL

16XXXX YYYYYY 222222

WHERE 16XXXX IS THE ADDRESS OF THE FRILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER

WHERE 222222 1S THE ACTUAL CONTENTS OF THART REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROR RECOVERY

SKIS =0
IF THE PROGRAM IS RUN WI
REQUIRED TO CONTINUE TEST

SH1S =1

IF_THE PROGRAM IS RUN WITH SW1S =1 ,TO CONTINUE TESTING
RFTER THE PROGRAM HAS HALTED ,PRESS’ THE PROCESSOR
CONSOLE “CONTINUE SWITCH™

NOTE: THE PC + 2 OF THE “HLT"™ WILL BE DISPLRYED .n THE DATR LIGHTS

ILLEGRL INTERRUPTS
IF AN INTERRUPT OCCURS TO R VECTOR RDDRESS NOT SELECTED
DURING PROGRAM INITIRLIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE RDDRESS AT WHICH THE PROGRAM

HALTS 1S a GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTRRTED AT 000200 TO
RECOVER FROM THIS ERROR.

RODITIONAL TROUBLESHOOTING RIDS ERRCNT: 8 PASCNT:

?NE“IS =0 ,NO OPERATOR ACTION IS

CHECK THESE TWO TAG LOCATIONS FOR TOTAL 8 OF ERRORS AND PARSSES RESPECTIVELY.

LORDING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

END OF PRSS ROUTINE

SEQ 0009
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THIS TYPEQUT IS MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y
16XXXX = CEVICE

WHERE Y IS THE TRPE LORDED

WHERE 16XXXX IS THE DEVICE'S BASE REGISTER ADDRESS
TO INHIBIT THIS TYPEQUT - TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST MRVE CONTIGUOUS RDDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE °“~ZERO:  AROD %10, BASEIV :NEXT BLOCK,
(VECTORS)™ TO ~ZERO: RDD  80,BRSEIV~;

THEREBY THE VECTOR ADDRESSES WILL NOT BE

UPDATED RFTER EACH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST 1IE. BIT O FOR
DEVICE 0 ,BIT 15 FOR DEVICE 1S

T0 DISQUALIFY DEVICES:

IF DEVICE O IS TO BE DISGUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOD =I AND OMIT THE FIRST DEVICE.

0¥ Y COMBINATION THEREOF

IF HOWEVER, DEVICES 1 THRU | AN
HE LOCATION OF ACTREG:

1
5
ARE TO BE DISQUALIFIED....LORD
OBSERVE THE ACTIVE BITS (RCTIVE =1, NONACTIVE = 0)
AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...LORD 000200 IN SWR AND DEPRESS START....
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WRS IN BEFORE HALTING.

7.2.2.2 ....... OR ..... LORD 000200 WITH SWOD =1 AND DEPRESS START....
ANSWER THE QUESTION :1ST DEVICE : ETC...........
....THE PROGRAM WILL CONTINUE WITH DEVICE O

7.2.2.3 IF ALL DEVICES RRE DISQUALIFIED BY MISTRKE  THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... LORD & START RT 000200

CRBLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CRBLE WITH H31S CONNECTOK ON)

TO PROVIDE SUFFICIENT DELRY FOR CLOCK SIGNAL OVER THE CABLE

LOCATION “HOLD:* MUST BE MODIFIED TO ACCOMODRTE FOR FASTER MACHINES.
PRESENTLY “HOLD:* =20 1S SUFFICIENT TIME ON AN 11/20 MACHINE.

TF RUNNING ON AN 11/40 OR AN 11/45 "HOLD:™ MUST BE PATCHED TO 40 .

SEQ 0010
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BRSICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIR DRIVERS

TO0 USE THE “XOR™ TESTER ,THE BRANCH ARCUND THE "XOR"
CODE MUST BE PATCHED TO A “NOP". (SEE LISTINGS FOR DETAILS)

DEFAULT PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER RDDRESS- RXCSR: 160040

VECTOR ADDRESS- DURIV: 770
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD: O
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- LASTRDD: O
DU PRIORITY LEVEL- LEVEL S DUPRT: LEVEL 5

8 OF SYNC CHARS SELECTED - 2 SYNC10: 377

IS SEC XMIT JUMPER # & IN ?- YES SEXMIT: 377

IS SEC REC JUMPER # S IN ?- YES SEREC: 377

IS OPT CLR ENARBLE JUMPER # 4 IN ?- YES OPTCLR: 377

DC YOU HAVE THE EXTERNAL MODEM BYPARSS JUMPER
CONNECTOR ON (H31S)- YES JMRBY: 377

PROGRAM DESCRIPTION
THIS PROER?E PERFORMS THE OFFLINE LOGIC BIT BANGING

OF THE DEVICE
SEE LISTING FOR DETRILS

FLOW CHARTS: RECEIYER FLOW, TRANSMITTER FLOW,TRANSMITTER 8 RECEIVER FLOW

LISTINGS

SEQ 0011
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S87
cgs8
589
S99
591
592
533
S
S35
53¢
597
536
599
600
631
602
603 - 100000
604 040000
605 020000
606 010000
807 004000
608 002000
603 001000
610 000400
bll 000100
bl2 000040
613 000020
614 030010
615 000004

blb
617 000001
€18
619
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PAGE 15

.ENRBLE RABS
;0ULl DZDUR-D TAPE R

s COPYRIGHT 1973, DIGITAL EQUIPMENT CORP.,

MOl

4
MAYNARD, MASS. 01754

; STRRTING PROCEDURE

:LORD PROGRAM
s PRESS START

s PROGRAM WILL TYPE "DUL1 DZDUR-D TAPE A *
:PROGRAM WILL TYPE "R" TO INDICARTE THAT TESTING HRS STARTED
!AT THE END OF A PASS, PROGRAM WILL TYPE “END OF PASS TRPE A“
:AND THEN RESUME TESTING

; SWITCH REGISTER OPTIONS

SW15=100000
SW14=40000
SW13=20000
Si2=10000
SW11=4000
SW10=2000
SW09=1000
SW08=400
SK06=100
SWOS=40
SWO4=20
SW03=10
SW02=M4
SWOl=2
Si00=1

e BE e wme

ALT ON ERROR
O0OP_ON CURRENT TEST
NHIBIT ERROR TYPEQUT

H
L
I
éNHIBIT ITERATIONS
L
L

- w -

5CAPE TO NEXT TEST ON ERROR
O0P WITH CURRENT DATA
00P ON ERRCR

Pt Pt Pt Pt Pt P o

;LOCK ON TEST SELECT

:RESTART PROGRAM AT SELECTED TEST
:RESELECT VECTOR AND CONTROL REGISTER
:ADDRESS AFTER PROGRAM RESTART

SEQ 0012
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000000
C0001
00002

200003

000004

BERRRE

000007

177570
177570
172776
001100

C74g
05726
J10046
012600
024646
02cked

100000
040000

NO1
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;REGISTER DEFINITIONS

RO=0 ;GENERAL REGISTER
Ri=%1 ENERRL RE% STER

R2=ve : GENERAL REGISTER

R3=43 : GENERAL REGISTER

squq : GENERAL REGISTER

sEEiE EE sboE g}gcx POINTER

PC=y7 : PROGRAM COUNTER

sLOCATION EQUIVALENCIES

DSWR=1"7570  HARDWARE SWITCH REGISTER LOC.
DLIGHTS=177570 :HARDWARE DISPLAY REGISTER LOC.

P5=177776 :PROCESSOR STATUS WORD

STACK=1100 :START OF PROCESSOR STACK

« INSTRUCTION DEFINITIONS

PUSHISP=5746  ;DECREMENT PROCESSOR STACK 1 WORD =TST -(SP)
POP1SP=5726 : INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+
PUSHRO=10046  ;SAVE RO ON STACK =MOV RO, -(SP)

POPRO=12600 *RESTORE RO FROM STACK =MOV (SP)+,RO

PUSH2SP=24646  ;CECREMENT STACK TWICE =CMP -(SP),-(SP)
POP25SP=22626 : INCREMENT STACK TWICE =CMP (SP)+, (SP)+
.EQUIV EMT,HLT ;BASIC DEFINITION OF ERROR CALL

—Le—nL
00O

. PROCESSER LEVELS
(EVEL7=340
LEVELb=300
LEVELS=240
LEVEL4=200
LEVEL3=140
LEVEL2=100
LEVEL =040
LEVELO=000

SEQ 0013
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:REGISTER DEFINITIONS
Rx(S&k BIT DEFINITIANG
Dsc=e171 iDATATSET CHANGE
nzm:e%m RING
CT5=BIT13 cn.n T0 SEND
CARDET=R1T12 :CARRIER DETECT
RECACT=BITI1 :REC RCTIVE
SRD=B]T10 :SEC REC DATA
C3R=BITq :DATA SET RDY
STPSYN=B178 :STRIP SYNC
RYDONE=BIT? :REC DONE
RINTEN=BITE +REC INTR EMRBLE
DSINTE=BITS :0SC INTR ENABLE
SYNGCH=BITY :SYNC SEARCH
STD=BIT3 sec xMIT DATR
RTS=BIT2 Q T0 SEND
DTR=BIT] onm TERM RDY
vO1D=BITO
-RXDBUF BIT DEFINITIONS
RXERR=BIY15 -REC ERROR
OVRRUN=BITIN : OVERRUN
FRMERR= ama -FRAME ERROR
PARER=BIT]2 :PARITY ERROR
- PARCSR BIT DEFINITIONS
FRREN=B1t9 A TTY ENABLE
EVPAR=BI T8 ‘EVEN PRRITY SENSE
-PARCSR WRD DEFINITIONS
SYNINT=33000 ,smc EXTERNAL MCDE
SYNEXT=23000 :SYNC INTERNAL MOOE
15v%00=0 : 1S0C MODE
Flve=0D -WORQ LEMGTH S BITS
SIx= ‘WORD LENGTH b BITS
SEVEN=4000 WORD LENGTH 7 BITS
EIGHT=6000 ‘WORD LENGTH 8 BITS
NOPAR N0 PARITY
0DDPAR=1000 ;000 PARITY
EVEPAR=1400 :EVEN PRRITY
:TXCSR BIT DEFINITI
=BIT1S :DATA MOT AVRILABLE
NTDATR=&ITIY MAINT DATA
CLK=BIr13 : CLK
BITW=BIT1O :8IT WINDOW
SET=B1T8 i rsn RESET
T =BI17 T DONE
TXINTE=EIT6 xrm INTR ENRBLE
DMAINTE=BITS :DNA INTR ENAB
SEND=BI T : SEND
HOXENZ=BIT3 : HOX/FDX
BREAK=BITQ : BREAK
: TXCSR WRD DEFIN}TIONS
USER=0 - USER
MINT=4000 'MRINT INT R&
MEXT=10000 mxm XT
SYSTST-IHU YSTEM TEST M

SEQ 0014
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T3l

T Ll SRR SR PARRE AL ST At Tt B

BEREES

RERERE

BESEREEEE
GRENIREE

88888EEHEEE
REFEKEE ESER

000024
015533

214702
000342

000-40

000174
000000

000000
000167

 1036)
ON-RUG-TS 00:09

17-RAJe=TH (08:I7

coe

PRGE 18

SE. 0015
; STRHORRD INTERRUPT VECTCRS

.=e4
PFRIL ;POWER FRIL HANDLER
340 :SERVICE AT LEVEL 7
LHLY : ERROR HANDLER
340 :SERVICE AT LEVEL
. TRPSRY : GENERAL HANDLER DISPQTCH SERVICE
340 'SERVICE AT LEVEL 7
s SOFTHARE SWITCH REGISTER
=17 -
DISPREG: .WORD O : SOF TWARE DISPLAY REG.
SWREG: .WORD C :SOF TWARE SWITCH REGISTER
JMP .STRRT :G0 T0 START OF PROGRAM
.=11C60
+ INDIRECT POINTERS
SWR: 177570 ;SHITCH € SISTER POINTER
LIGHTS: 177570 :DISPLAY REGISTER POINTER
TKCSR: 177560 s TCLETYPE KEYBOARD CONTROL REGISTER
TKDBR: 177562 : TELETYPE KEYBORRD DATA BUFFER
TPCSR: 177564 : TELEPRINTER CONTROL REGISTER
TPDBR: 177566 : TELEPRINTER DRTA BUFFER
: PROGRAM CONTROL PRRRAMETERS
RTRN: O :SCOPE RDDRESS FOR LOOP ON TEST
NEXT: O sRDDRESS OF NEXT TEST 1O BE EXECUTFO
LOCK: O +RDDRESS FOR LOCK ON CURRENT DATA
ICOUNT: O {NUMBER OF ITERATIONS THAT CURRENT TEST WILL BE EXECUTED
LPCNT: O ;NUMBER OF ITEREATIONS COMPLETED
TSTNO: O +NUMBER OF TEST IN PROGRESS
PASCNT: O :NUMBER OF PRSSES COHPLETED
ERRCNTY: O :TOTAL NUMBER OF ERRORS
LSTERR: O PC OF LAST ERROR CALL
:PROGRA¥ VARIAB._ES
HOLD: 20 ; TEMPORARY STORRGE=DELAY TIME FOR CRBLES
SHIFT: O TEHPORQRY STORRGE= 8 Of SHIFTS PER CHAR
COUNT: TEHPORRRY STORRGE= 8 OF TIMES R CHAR WILL BE SENT
TEMPl: O * TEMPORARY STORAGE
TEMP2: (0 : TEMPORRRY STORAGE
TEMP3: O TEHPORQRY STORAGE
TEMPY: O ' TEMPORRRY STORAGE
TEMPS: O : TEMPORARY STORARGE
SAVRO: O ‘RO STORAGE
SAVRL: O ‘Rl STORAGE
SAVRZ: O ‘RS STORAGE
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COURD.PLL O4-RUG-76 00:20 Stq 0016
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T8r OC1164 000000 SAVR3: 0 :R3 STORAZE

-8 001166 00DO0D CAVR4: O :R4 STORAGE

-89 001170 002000 SAVRS: 0 *RS_STORAGE _

533 001inZ  0OCLOS §avsP: 0 :5TaCk POINTER STORAGE
791 0Dii74 007690 SAVPC: C :PROGRAM COUNTER STORAGE
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6 08:17 PAGE 20

PROGRRHJCONVERSQTIONQL PQRQHETER

E0e

SEG 0017

F SYNC CHARS REQ'D FOR SYNC'ZATION
;SEC XMIT JUMPER "IN®
:SEC REC JUMPER "IN®
:OPTIONAL JUMPER CLR "IN
:NO_MULTIPLE DEVICE FLAG
:EXTERNAL MODEM BYPASS JUMFER “IN®

;PROGRAM MULTIPL: DEVICE PARAMETERS

SYNCNQ: .BYTE
SEXMIT: .BYIE 377
SEREC: .BYTE 377
OPTCLR: .BYTE 377
MULTD: .BYTE O
JMRBY: .BYTE 377
.EVEN

pEa g
KEETARD: 3
BRSEIV: 0
KEEPIV: C
ACTREG: 8
ROTRDD: 0

§§3G0C02¥R0E5§D 1ST DEVICE ADDR
R I R
: PROG CONYROLLED xv
snv;o INTR VE
TIVE REGISTER MODIFY THIS

bSCRTES“ IFY OR QUALIFY

VICES (1= DON'T RUN)
:ROTATING POINTEﬁ $OR ACTREG. . POINTS
:TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DE

; PROGRRM CONTROL FLRGS

I?éFtG: .BYTE O

RRFLG: . TE 8

LOKFLG: .BYTE O
sDEF INITIONS

PROGRQH INITIRLIZRTION FLRG

EET START bﬂ?
OR OCCURED FLAG
LOCK ON CURRENT TEST FLAG

FOR _TRAP SUBROUTINE CALLS

:POINTERS TO SUBROUTINES CAN BE FOUND
:IN THE TRBLE IMMEDIATLY FOLLOWING THE DEFINITIONS

. TRPTAB:

JERRREEREAERERRER R RRERR R RRRERERERRRRA R RRERFERRRRRRRRERRRRRE RN
!i!i!*lll*iiillll!**l'lllil*lll‘li‘!lI"I'l**iiili!i*ii!*l**ill*lii*i!i*i!!*il’ii

SCOPE=TRAP+0
SCOP1=TRAP+]

.SCOPE
.SCOP1

TYPE=TRAP+2

.TYPE

INSTR=TRAP+3
INSTER=TRAP+4

SAVOS=TRAP+6
RESOS=TRAP+?
CONVRT=TRAP+10
CNVRT=TRAP+11
SETFLG=TRAP+12

; CALL
:CALL
;CALL
;CALL
sCALL
;CALL
sCALL
+CALL
sCRLL
;CALL
:CALL

TO SCOPEt LOOP AND ITERATION HANDLER
TO LOOP ON CURRENT DATR HANDLER

TO TELETYPE OUTPUT ROUTINE

TO RASCII STRING INPUT ROUTINE

TO INPUT ERROR HANDLER

TO NUMERICAL DATA INPUT ROUTINE

TO REGISTER SAVE ROUTINE

TO REGISTER RESTORE ROUTINE

TO DATR OUTPUT ROUTINE

TO DATR OUTPUT ROUTINE WITHOUT CR/LF
TO FLAG SET ROUTINE
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DZDURD.PLL QN-RUG-7
B48 01252 014602
849 104413
B850 001254 (018316
851 104414
852 0012586 015372
B8S3
BSY
BSS
856
857
858
BSS
860
861
862
863 001260 012787
864 001266 012706
865 001272 012737
866 001300 00S067
867 001304 10S067
B68 001310 005067
869 001314 105067
870 001320 00S067
871 001324 00SD&7
872 D0!330 012767
3773 001336 012767
B7S 00134 105767
876 001350 00100M
877 001352 104402
878 001356 10S167
879 001362 012767
880 001370 012767
B8l 001376 013746
882 001402 013746
883 00I406 012737
B4 00ININ 022777
885 001422 001402
886 001424 000407
887 001426 022626
888 00i430 012767
889 00143 012767
B90 001444 012637
891 001480 012637
B32 001454 005737
833 001460 001005
B8 001462 022767
895 001470 001001
8% 001472 104414
897 0018474 032777
€38 001502 001002
899 00IS04 000167
300 001510 012700
901 001S14 012704
802 061520 012702
903 00iS24 010110

FO2

17-RJG-"6 08:1T PRAGE 21
& 00:00 SEG 0018
.SETFLG
SR CKSWR=TRAP+13  ;CALL TO ALLOW SWREG TG BE LOADED FROM TTY
ONTL CNTLU=TRAP+14  ;CALL TO ALLOW LOADING OF SWREG FRGM TTY
: FERREFRRARE L ERE LR RN LR R R R R R EEEABEEREERFER SRR LR EEERRRERFERERERREEES%%RN
4 SRR TT T 093096 NN NN REERERRRRENEEREREEEESEEERER
: PROGRAM INIT ATION
s LOCK OUY rurénkuz
*SET UP PROCESSOR srncx
:SET UP POWER FAIL VECTOR
:CLEAR PROGRAM CONTROL FLAGS AND COUNTS
*TYPE TITLE MESSAGE
000340 176510 .START: MOV 8340, PS :LOCK OUT INTERRUPTS
001100 MOV 8STALK SP :SET UP STARCK
015152 000024 MOV s.PFRIL, 824 :SET UP POWER FAIL VECTOR
177620 CLR LPCNT :CLEAR % OF ITERATION COMPLETED LOCATION
177713 CLRB  STFLG :CLEAR START FLAG
177614 CLR PRSCNT : CLEAR PRSS COUNT
177704 CLRB  ERRFLG :CLEAR ERROR FLAG
177606 CLR ERRCNT :CLEAR ERROR COUNT
177604 CLR LSTERR :CLERR LAST sanon POINTER
1 177570 MOV 81, TSTNO :SET UP FOR TEST
001260 177550 MOV 8.5TART,RTRN :SET UP FOR POWER FRIL BEFORE
) :TESTING STRRTS
177652 Egga égéELG MAS INITIALIZATION BEEN PERFORMED
015472 TYPE MTITLE :TYPE TITLE MESSAGE
177640 coms tNIFLc :IF NOT SET FLAG AND DO
177570 177510 ONCE: MOV 8DSWR, S ‘RELORD HARDWARE SWITCH REGISTER INTO POINTER
177570 177504 MOV muMwmes ‘RELOAD HWRDWARE DISPLAY REGISTER INTO POINTER
000006 MOV 336, - (SP) :SAVE VECTORS
0CO00N MOV 384’ -(sp)
061426 000004 MOV s64d, duy :SET UP FOR TIMEOUT
177777 177456 ggz gg; , 9SWR *REFERENCE HRRDWARE SWITCH REGISTER
BR 668
BYS:  CMP (sm+ (S + :ADJUST STACK
000176 177442 65S: MOV WRES , SWR :POINT TO SOF TWARE SWITCH REG
000174 177436 MOV oolspntc LIGHTS :POINT TO SOFT DISPLAY REG
00000M 66S: MOV (SP)+, 984 RESTORE VECTORS
D00G06 MOV (SP)+. 386
000042 gag gnza s UNDER MONITOR
000176 177410 CMP 8SWREG, SWR - 1S SWREG USED
T
000001 177376 67S: ggg :guno.asun s PESELECT VECTOR 8 CONTROL REG?
000446 IMP .BEGIN
000300 18 MOV 300, R0 :RESTORE VECTOR AREA TO TRAPCATCHER
000302 MOV $302.R] *START AT LOCATION 300
000004 MOV 4, Re
28: MOV R1. (RO)
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SM 00!
S80S 001530
98§ 001532
907 001534
308 001t40
309 001542
910 001544
911 00154
9i2 001550
913 D01552
914 001554
315 001556
916 001557
917 001560
918 001566
919 001572
20 001600
2! 001632
322 001604
923 001606
324 001610
925 001612
26 001614
Q27 001618
328 001616
%29 0016aM
930 00le3e
931 001634
932 001636
923 001640
93 001642
335

93 001646
337 001650
938 001654
939 001660
N0 001664
941 001664
X2 001666
™3 001670
44 001672
4SS 001674
M6 001676
47 001700
48 001701
949

950 001702
€l 001710
952 001714
953 001722
9S4 001724
955 001730
9Sb 001732
957 001740
9S8 001746
959 001750

g
e

001000

177334

177342
177340
000140

000001
177302
177300
177270

000010
177244

177244

*095adk%g ghiggemT 8L

177420
177404

177370
177360

177310
177274

177244
177236

177240

.BYTE
.BYTE

.BYTE
.BYTE

BBB:

BYTE

PAGE e¢

INSTR
M_ASTD
PARAM

160000
167776
&RSTRDD

GO2

(R
R, RO
R2' Rl
séOUO,RI +END AT LOCATION 776
: OUTPUT MESSAGE 8 GET INPUT STRING
' MESSAGE
: CONVERT STRING
'LOW LIMIT
‘HIGH LIMIT

STORE AT THIS LCCATION

MASK
HOH MANY TIMES + 2
gUBQSEbKEEPﬂDD ; SAVE

C, DURDDR
kEEPADD, BASEADD ;RESTORE FOR ROTATION
-OUTPUT MESSAGE & GET INPUT STRING
: MESSAGE
convznr STRING
:LOW LIMIT

HIGH LIMIT
STORE QT THIS LOCATION

MASK
HOH MANY TIMES + 2
DURIV,KEEPIV ; SRVt

DURIN ,BRSEIV :SET UP FOR _ROTATION
OUngéEHESSRGE 3 GET INPUT STRING

s MES
SET FLRG BASED UPON INPUT STRING

HIS FLAG
MULTD  ;ARE THERE nULTxﬁLE DEVICES
:ON THE SYSTEM ?
888 :YES,RSK NEXT QUESTION
ACTREG
ROTARCD
OUTMUL ;JUMP RROUND NEXT QUESTION

;OUTPUT MESSAGE & GET INPUT STRING
s MESSAGE

: CONVERT STRING

sLOM LIMIT

HIGH LIMIT

:STORE AT THIS LOCATION

s MASK
‘HOW MANY TIMES + 2

THE FOLLOHING ROUTINE SETS UP ACTREG FOR THE FIRST TIME

Is:
cs:

TADD “SET UP POINTER
ncfnzc -CLR RCTYVE REGISTER
ROTAOD,ALTREG  ;MAKE THIS DEVICE ACTIVE

ROTAOD ;SET UP POINTER
38 :ARE YOU OUT OF RANGE ?

810, BASEADD :SET UP BASE ADDRESS

%gsfnoo aﬂgsggo ?IS THIS THE LRST DEVICE °
ROTADD, RETREG THIS nssunss THAT THERE ARE AT

SEG 0C19
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012767
016767

e
SFREE
2o=8
5253

33355
N LU0
S
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e
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SRR R E AR LA SRR R FRRR R S S i
it
8
B

HRRRERERRRERRRRRRS
FESERIRBRERBEZRERB

oO00000
s 0 e ot Pt e
MNLWN~-DO

17-RUS-7 0B:17

00:00

30C001 177234
177216 177212

177206 177202

177656

015126

000061 014754
177110

000062 (14736
177777 177070

HOZ2

PRGE 23
:LERST TWO DEVICES WHEN YGU ANSWER YES T0
MULTIPLE DEVICE QUESTION )
4§: MOV k1. ROTAOD :SET UP FOR LATER USE IN ENC OF PRSS RCUTINE
MOV KEEPARDD, BRSEADD :DITT0
BR OUTMUL ' :CONTINUE QUESTIONS
3s: MOV KEEPADD, BRSEADD - RESTORE
INSTR ;UTPUT MESSAGE 3 GET INPUT STRING
MRANGE : MESSAGE
PARAN :CONVERT STRING
162000 LOH LIMIT
167776 HIGH LIMIT
L ASTADD srons nT THIS LOCATICON
.BYTE 1 MASK
.BYTE | HOH MANY TIMES + 2
ImP 18 :D0 IT AGAIN
OUTMUL :
INSTR : OUTPUT MESSAGE 8 GET INPUT STRING
MLEVEL * MESSAGE
PARAM : CONVERT STRING
4 :LOW LIMIT
7 *HIGH LIMIT
DUPRT :GTORE AT THIS LOCATION
.BYTE O : MASK
BYTE | 'HOW MANY TIMES + 2
ISR PC, DULEV
- COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
:BUFFER TO THE CHARACTERS *1* AND “2~.
:IF THE CHARACTER IS “I* CLERR THE FLAG
- -IF THE CHARACTER IS *2= SET THE FLAG
INSTR :OUTPUT MESSAGE 3 GET INPUT STRING
MSYNC : MESSAGE
38: CMPB  #'1, INBUF SISTIT <1 2
BNE 18
CLRB  SYNCNO : 000
BR 4§
18: CMPB  #°'2, INBUF IS IT =2 ?
BNE 2s
MOVB  $-1,SYNCNO 1377
BR 4§
2s: INSTER :RETRY
BR 3s
4s: NOP
INSTR ;OUTPUT MESSAGE & GET INPUT STRING
MWIRES : MESSAGE
SETFLG 'SET FLAG BASED UPON INPUT STRING
SEXMIT :THIS FLAG
INSTR ourpur MESSAGE 3 GET INPUT STRING
MWIRES MESSAGE
SETFLG ssr anc BASED UPON INPUT STRING
SEREC :TRIS F
INSTR OUTPUT nessnce 8 GET INPUT STRING
MWIREY *MESSRGE
SETFLG 'GET anc BRSED UPON INPUT STRING
OPTCLR :THIS F
INSTR OUTPUT nsssncs 8 GET INPUT STRING

SES 0020
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DZDURD.P11 O4-RUG-76 00:03

1033

22505kns

z

FE3FREEE

S e

R
OO

S
Lo ]
~3
[

002150 016637

Bosies A1

000340
001100
Q00042
177000
011404
011400

000004

176757
N,
011322

011316
000002

002350
016273
176544

°°§232

000340
015274

015266

175tl2

011334
011300

176650

- 00 00
N [ Y 2 [ S
(s oIS ——
oo o
~J+—M) %I
oo o

176554

175550
176532
0000

000006

102

PRGE 24
SEQ 0021
MEXTI : MESSAGE
§ETFLG tCET Fk“& BASED UFON INPUT STRING
MRBY IS FLRG
s TEST START AND RESTART
.BEGIN: MOV 8340, PS LOCK our INTERRUPTS
MOV asrnéx 5P +SET UP STACK
gag gs : 1S PROGRAM UNDER MONITOR CCNTROL
TSTE  MULTD  :DON’T ALLOW LOCK ON TEST IF RUNNING
-MULTIPLE DEVICES
BEQ &g : IF NO,TEST FOR LOCK ON TEST
MOV BRW, TTST *RESTORE NORMAL SCOPE LOOP
MOV BRX. TTST+2 :DITTO
BR 33 : JUMP RROUND IF YES
5%: gég :gITE,BSHR :CHECK FOR LOCK ON TEST
INSTR ;OUTPUT MESSAGE 8 GET INPUT STRING
MLOCK : MESSAGE
SETFLG ssr FLAG BASED UPON INPUT STRING
LOKFLG THIS FLAG
ggge 1gm.c IS LOCK ON TEST OPTION SELECTED
MOV $NOP, TTST
ggv ggop "T15T+2 :SET UP TO LOCK
18: MOV BRW, TTST
MOV BRX TTST+2 -LOCK NOT SELECTED, SET UP FOR NORMAL SCOPE LOOP
2s: gég ggubl JSWR +IF SWOI=1, GET STARTING PC
INSTR :OUTPUT MESSRGE & GET INPUT STRING
MTSTPC : MESSAGE
PARAM : CONVERT srnxnc
1571 :LOW LIMIT
TLAST HIGH LIMIT
RTRN sroas AT THIS LOCATION
.BYTE 1 MASK
"BYTE én . HON MANY TIMES + 2
3s: MOV 87ST1,RTRN srnnr AT TEST |
4s: TYPE MR YPE R
IMP JRTRN srnnr TESTING
;3 THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS
1STI:  fdv 81, TSTNO - SAVE THIS
MOV #7812, NEXT THIS TEST WHEN THRU
MOV 8TRPREG, 934 ; SETUP Thnpcnrc
MOV sLEVEL?, 346
INCB  SRXCSR resr THIS REG
BR BYS 1F OK JMP AROUND HLT
HLT CHECK DEVICE REG ADDRESSES
g4S:  INCB awnxcsn s TEST up#sn avr§ THIS REGISTER
BR MP AROUND HLT
HLT cnscx DEVICE REG ADDRESSES
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DZDURD.P11  DN4-RUG-76 00:0C SEG 0022
1072 002420 012737 000006 000004 65%: MoV 5, 284 sRESTORE TRAPCATCHER
1073 002426 012737 000000 000006 MOV %0, 986 :
1074 002434 104400 SCOPE
io;s ;3 THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS
1579 002436 012767 000002 176462 TST2:  MbV 82, TSTNO :SHVE THIS
1978 D03dea D157%> Di%e4s Gosood oV MTSTaNEXT (SETUP TRAPCATCHER. 1o " T
1 885325 81572 860348 880085 M3V SLEVEL? 986
1081 002466 105277 015212 INCB  aRXDBUF’ TEST THIS REG
1082 0QN72 401 8R BYS :1F OK JMP RROUND HLT
1083 002474 104000 HLT :CHECK DEVICE REG ADDRESSES
1084 002476 105277 015204 BY4S: INCB  QHRXDBUF :TEST UPPER BYTE ms REGISTER
1085 002502 00001 BR 653 *IF OK JMP AROUND HLT
1086 002504 104000 HLT :CHECK DEVICE REG ADDRESSES
1087 002506 012737 000006 000004 65§: MOV 86, 84 :RESTORE TRAPCATCHER
1088 032514 012737 000000 000006 nov 10346 .
1083 002522 108400 SCOP
%gg? ,.THIS TEST PROVES EXISTANCE OF DEVICE RESISTERS
1032 002624 012767 000003 176374 TST3:  Hdv £3, TSTNO -SAVE THIS
1083 002532 012767 002612 176356 MOV .rqu NEXT -GO TO THIS TEST WHEN THPU
1094 002540 012737 017682 00000 MOV $TRPREG, 984 ; SETUP TRAPCATCHER
1095 00oS46 012737 000340 000006 MOV sLEVEL? | 16
1C% 002554 106277 015130 INCB  JPARCSR’ TEST THIS REG
1097 002560 0DOuO! BR BY4S *IF OK JMP AROUND HLT
1098 002562 104000 HLT :CHECK DEVICE REG ADDRESSES
1099 002564 105277 015122 BuYS: INCB  JHPRRCSR s TEST UPPER BYTE THIS REGISTER
1100 902570 0OQMO) BR 65S xr OK JMP AROUND HLT
1101 002572 104000 HLT : CHECK DEVICE REG RDDRESSES
1102 00257 012737 000006 000004 658: MOV 86, I84 nsmmrmmmwm
1103 002802 012737 000000 000006 MOV %0, 386 :
1104 002610 i04400 SCOPE
iigg -+ THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS
1107 002612 012767 000OO4 176306 TST4:  Fdv 84, TSTNO - SAVE ruxs
1108 002620 012767 002700 176270 MOV 8TSTS, NEXT T0 THIS TEST WHEN THRU
1109 002626 012737 017642 (000004 MOV $TRPREG, 384 ;SETUP Thnpcnrcus
1110 002634 0:2737 000340 000006 MOV SLEVEL?. 336
1111 002642 105277 015046 INCB  JTXCSR TEST THIS REG
1112 0026N6 000H0} BR BYS *IF OK JMP AROUND HLT
1113 002650 104000 HLT CHECK DEVICE REG RDDRESSES
1114 002652 105277 015040 BYS: INCB  @HTXCSR ;TEST UPBER BYTE THIS REGISTER
1115 002656 000401 BR 658 IF OK JMP AROUND HLT
1116 002660 104000 HLT : CHECK DEVICE REG RDDRESSES
1117 0026ke 012737 000006 000004 65S: MOV 86, 84 ‘RESTORE TRAPCATCHER
1118 002670 012737 000000 000006 MOV 20, 316 ;
1119 002676 104400 SCOPE
i%S? -+ THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS
1155 8857g2 012767 830922 176220 T15T5:  fbv n; TSTNO -SAVE TH 12
11 706 012767 002 176202 MOV ST6, NEXT 0 TO THIS TEST WHEN THRU
1124 002714 012737 017642 00O0OY MOV sTnpth Ny ; SETUP TRAPCATCHER
1125 002722 012737 000340 000006 MOV SLEVEL?, 346
1126 002730 105277 Ol47eH4 INCB  QTXDBUF' TEST THIS REG
1127 002734 000401 BR BYS *IF OK JMP AROUND HLT
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OZDURD.PII  O4-RUG-7& 00:00 SEQ 0023
1128 002736 104000 MLT : CHECK DEVICE ke . ADDAESSES
1129 002740 105277 014756 EYS: INCB  IHTXDBLUF : TEST UPPER BYTE THIS REGISTER
1130 88§7qq 0 nng BR A3 :IF_OK JMP_AROUND HLT
1131 746 1040 HLT ' CHECK DEVICE REG ADDRESSES
1132 002750 012737 0COOOG 000004 BS5$: MOV 6, J14 *RESTORE TRAPCATCHER
1133 002786 012737 000000 000006 MOV %0, 346 ;

1134 002764 104400 SCOPE

Hgg :+sBUS DRIVER TEST

1137 002786 012767 000006 176132 715Te: fdv 86, TSTNO :SAVE THIS

1138 002774 012767 003016 176114 MOV #7877, NEXT :GO TO THIS TEST WHEN THRU
1139 003002 022777 177777 014710 CMP $1777%7, JTXDBUF

1140 003010 001401 8EQ .44

1141 003012 104000 HLT :READING TXDBUF SHOULD BE ALL 1°S

1142 003014 104400 SCOPE

1143 =< THIS TEST PERFORMS MASTER RESET TESTING 3

ii:g : :TESTING OF RERD/WRITE BIT DTR

1146 003016 012767 000007 176102 TSTZ: MOV 47, TSTNO ;SAVE THIS

1147 003024 012767 003146 176064 MOV 81815, NEXT -GO TO THIS TEST WHEN THRU
1148 003032 052777 000002 014640 BIS $DTR, JRXCSR :SET THIS BIT

1149 003040 032777 000002 014632 BIT DR, aRXCSR :TEST THIS BIT

1150 003046 001001 BNE B4S BR IF *~]*

1151 003050 104000 HLT - THIS BIT SHOULD BE SET

1152 DO3052 BYS:

1153 003052 042777 000002 014620 BIC $DTR, JRXCSR :CLR THIS BIT

11S4 003060 032777 000002 Ol46l2 BIT 8DTR, JRXCSR :TEST THIS BIT

1155 003066 001401 BEQ 65§ ‘BR_IF "0"

1156 003070 104000 HLT : THIS BIT SHOULD BE CLR

1157 003072 . BSS:

1158 -NOW SET THIS BIT

1159 003072 0S2777 000002 014600 815 $DTR, 2RXCSR

1160 003100 052777 000400 014606 BIS sMRESET, JTXCSR  :MASTER RESCT

}fgé - sCHECK EXISTANSE OF OPTIONAL CLEAR JLMPER

1163 002106 105767 176067 818 OPTCLR - TEST FLAG

1164 003112 100006 BPL 18 OPTIONAL CLR JUMPER 1S NOT IN
1165 003114 032777 000002 014556 8IT #DTR, JRXCSR :TEST THIS BIT

1166 003122 001401 BEQ BES :BRIF =0%

1167 003124 104000 HLT :CHECK OUT MASTER RESET LOGIC
1168 003126 663 : .
1169 003126 000405 BR 2% - JMP AROUND

1170 003,30 032777 000002 Ol4542 1S: BIT $DTR, JRXCSR :TEST THIS BIT

1171 003136 001001 BNE 67S -BR IF =]~

1172 003140 10400 HLT :CHECK OUT OPTIONAL CLR JUMPER
1173 003142 67S:

1174 003142 000240 28: NOP

1175 003184 104400 SCOPE

1176 .- THIS TEST PERFORMS MASTER RESET TESTING 3

}i;g : 'TESTING OF READ/WRITE BIT RTS

1179 003146 012767 000010 175752 71sS78: Mbv 8, TSTNO :SAVE THIS

1180 003154 012767 003276 175734 MOV 87579, NEXT :G0 TO THIS TEST WHEN THRU
1181 003162 052777 000004 014510 BIS #RTS, JRXCSR :SET THIS BIT

1182 003170 032777 0000MY 014502 BIT #RTS, JRXCSR : TEST THIS BIT

1183 003176 001001 BNE BYS :BR IF "]~
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DZCURD.PLI

1184
1185
1186
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TR

003200
003202
003202
003210
003216

003220
003222

03222
00323C
003236

44

104000

042777
032777
001401
104000

052777
052777

105767

b30998

001401
104000

00040S
032777
00100l
104000

000240
104400

012767
012767
052777
032777
001001
104000

042777
032777
001401
104000

052777
052777

105767
100006
032777
BJ1401
104000

000405
032777
001001
104000

17-8UG-76 08:1

0000asH
200004

000004
000400

175737
000004

000Co4

000011
003426
000010
000010

000010
000010

000010
000400
175607

000010

000010

014470
014462

014450
014456

014426

014412

175622

175604

014360
014352

014340
0i4332

014278

0i4ce2

L02

T PAGE 27
us HLT : THIS BIT SHOULD BE SET
" BIC #RTS, SRXCSR :CLR THIS BIT
BIT #RTS ) JRXCSR s TEST THIS BIT
BEQ 658 'BR_IF Q"
cs HLT : THIS BIT SHOULD BE CLR
| -NOW SET THIS 81T
8IS $RTS, JRXCSR
BIS $MRESET, TXCSR  :MASTER RESET
-+ CHECK EXISTANCE OF OPTYONAL CLEAR JUMPER
t418  OPTCLR sTEST FLAG
BPL 1% ' OPTIONAL CLR JUMPER IS NOT IN
BIT ¥RTS, RXCSR :TEST THIS BIT
BEQ X :BR IF ~0"
e HLT :CHECK OUT MASTER RESET LOGIC
" BR 2% - JMP AROUND
18: gﬁg gggs,aaxcgs . _iTEST THIS BIT
s HLT ’ -CHECK OUT OPTIONAL CLR JUMPER
2%:  NOP
SCOPE
: s THIS TEST PERFORMS MASTER RESET TESTING 3
t S TESTING OF READ/WRITE BIT STD
1573:  Adv 9, TSTNO -GAVE THIS
Bl :£$Blgh25§; SET THIACrTC Lo TEST WHEN THRU
Eﬁé g&;oiaaxcgs I “iIEST THIS BIT
s HLT ' :THIS BIT SHOULD BE SET
" BIC #STD, JRXCSR :CLR THIS BIT
BIT #STD, SRXCSR : TEST THIS BIT
BEQ 653 :BR IF ~Q%
‘s HLT :THIS BIT SHOULD BE CLR
] .NOW SET THIS BIT
BIS $5TD. JRXCSR
BIS $MRESET  9TXCSR  :MASTER RESET
- -CHECK EXISTANCE OF OPTYONAL CLEAR JUMPER
{818 OPTCLR : TEST FLRG
BPL 18 OPTIONAL CLR JUMPER IS NOT IN
BIT 851D, PRXCSR :TEST THIS BIT
BEQ BES :BRIF “0"
o HLT :CHECK OUT MASTER RESET LOGIC
" BR 28 : JMP_AROUND
18: Sﬁl ggzo,anxcgs I ”iIEST THIS BIT
o7 HLT ' s CHECK OUT OPTIONAL CLR JUMPER

SEG 0024
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1240 003422
1c4l 003424

129 003636

1293 003652
1e%4 003660
1295 003666

000c40
104400

012767
012767
052777
032777
001001
104000

042777
032777
001401
104000

052777
052777
032777
001401
104000

104400

012767
012767
052777
032777
001001
104000

NE777
032777
001401
104000

052777
052777
032777
001401
104000

104400

012767
012767
052777
032777
001001

X

o0
n

17-RUG-76 08:17 PAGE 28
DZ0URD.PL1 Q4-RUG-76 00:00

000012
003532
000020
000020

000020
000C20

000020
000400
000020

000013
003636
000040
000040

000040
000040

000C40
000400
000040

000014
003742
000100
000100

175472
175454
014230
0l4ee2

175366
175350
0l4leY
O14116

014104
014076

014064
014072
014050

175262
175244
014020
0i40ie

2%:

TST10:

BYS:

B58:

£58:

TST11:

64S:

BSs:

663:

TST12:

NOP

SCOPE

;s THIS TEST PERFORMS MASTER RESET TESTING &
: ; TESTING OF RERD/WRITE BIT SYNSCH

Mdv  «10,TSTNO ;SAVE THIS

MOY #7511, NEXT -GO T0 THIS TEST WHEN THRU
BIS #SYNSCH, dRXCSR  ;SET THIS BIT

BIT #SYNSCH, @RXCSR i TEST THIS BIT

BNE 643 .BR IF *]*

HLT s THIS BIT SHOULD BE SET

BIC  ¥SYNSCH,aRXCSR ;CLR THIS BIT
BIT  #SYNSCH JRXCSR :TEST THIS BIT

BEQ 658 ‘BR IF "0"

HLT :THIS BIT SHOULD BE CLR

:NOW SET THIS BIT
8IS $SYNSCH, JRXCSR

BIS #MRESET.aTXCSR ;MASTER RESET
BIT #SYNSCH, BRXCSR $ TEST THIS BIT

BEQ 663 ;BR_IF *0
HLY ; CHECK OUT MASTER RESET LOGIC
SCOPE

;s THIS TEST PERFORMS MASTER RESET TESTING &
; s TESTING OF RERD/WRITE BIT DSINTE

fbv 811, TSTNO :SAVE THIS

MOV s75t12, NEXT -GO TO THIS TEST WHEN THRU
BIS $DSINTE,9RXCSR ;SET THIS BIT

BIT 8DSINTE,JRXCSR :TEST THIS BIT

BIE BYS :BR IF "]~

HLT - THIS BIT SHOULD BE SET

BIC #DSINTE,JRXCSR ;CLR_THIS BIT

BIT $DSINTE,dRXCSR ;TEST THIS BIT

BEQ 65$ ;BR_IF 0"

HLT ; THIS BIT SHOULD BE CLR

-NOW SET THIS BIT
1S $DSINTE , 9RXCSR

cil 1WRESET,dTXCSR  ;MASTER RESET

BIT 8OSTNTE,aR 'CoR ;TEST THIS BIT

BEQ 668 ;BR_IF =0

HLT ; CHECK OUT MASTER RESET LOGIC
SCOPE

;; THIS TEST PERFORMS MASTER RESET TESTING &
; s TESTING OF RERD/WRITE BIT RINTEN

Adv 812, TSTNO :SAVE THIS

MOV 875t13, NEXT -GO TO THIS TEST WHEN THRU
BIS sRINTEAN,9RXCSR  ;SET THIS BIT

BIT sRINTEN @RXCSR :TEST THIS BIT

BNE Bu4s :BR IF “]*

SEQ 0025




1537

1238

1310

003670
003672
003672

+ 003709

003706
033710
003712

003712
003720

003740

003742

004100

22 399937
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104000

042777
032777
001401
104000

052777
052777
032777
001401
104000

104400

012767
012767
052777
032777
001001
104000

104000

05e777
052777
032777
001401
104000

104400

012767
012767
052777
032777
0010C!
104000

Q42777
032777
00140}
104000

0s2777
0s2777

17-AUG-T6  08:1
04-AUG-76 00:00

000100
000100

00C100
0oo400
000100

00001S
004046
006400
000400

000400
000400

000400
00C+400
000400

000016
004152
000001
000001

000001
000001

000001
0004uu

014000
013772

175156
175140
013714
013706

013674
013666

03654
(13662
043640

NO2

~ PAGE 29
cus HLT : THIS BIT SHOULD BE SET
BIC ¥RINTEN,JRXCSR ;CLR THIS BIT
BIT ¥RINTEN  JRXCSR ;TEST THIS BIT
BEQ 653 'BRIF Q%
cs HLT : THIS BIT SHOULD BE CLR
-NOW SET THIS BIT
BIS sRINTEN, JRXCSR
BIS #MRESET. JTXCSR ;MASTER RESET
BIT $RINTEN, GRXCSR :TEST THIS BIT
BEQ 663 :BR_IF "0"
cs HL :CHECK OUT MRSTER RESET LOGIC
SCOPE
;3 IHIS TEST PERFORMS MASTER RESET TESTING 3
i TSSTING OF READ/WRITE BIT STPSYN
1ST12:  fbV #13,TSTNO :SAVE THIS
MOV s75t14, NEXT GO TO THIS TEST WHEN THRU
BIS $STPSYN, 9RXCSR  ;SET THIS BIT
BIT 8STPSYN,9RXCSR :TEST THIS BIT
BNE  B4S sBR IF “]®
cus HLT : THIS BIT SHOULD BE SET
BIC 8STPSYN,dR¥CSR  ;CLR THIS BIT
BIT #STPSYN,9RXCSR  $ TEST THIS BIT
BEQ 85% :BR_IF ~Q"
- HLT :THIS BIT SHOULD BE CLR
NOW SET THIS BIT
8IS #STPSYN, JRXCSR
BIS SMRESET.@T* 2 ;MASTER RESET
BIT #STPSYN'QR: < :TEST THIS BIT
BEQ 66$ :BR_IF Q"
s HLT :CHECK OUT MRSTER RESET LOGIC
bby:
SCOPE
> THIS TEST PERFORMS MASTER RESET TESTING &
i TESTING OF RERD/MRITE BIT BREAK
TSTI4:  HdV 814, TSTNO :SAVE THIS
MOV 875115 NEXT GO TO THIS TEST WHEN THRU
BIS $BREAK . dTXCSR  ;SET THIS BIT
BIT 8BREAK, §TXCSR  :TeST THIS BIT
BNE BNS :BR IF *]*
us HLT : THIS BIT SHOULD BE SET
BIC 8BREAK,3TXCSR  ;CLR THIS BIT
BIT 8BREAK dTXCSR  :TEST THIS BIT
BEQ 558 :BR_IF "0”
cs HLT ' THIS BIT SHOULD BE CLR

-NOW SET THIS BIT
BIS BEREAK, 3TXCS
BIS sMRESE?Y, arxcsn :MASTER RESET

SEG 0026
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1352 0OCN136 032777 022001 D13SS0 8,7 80PEAK,JTXCSR  : TEST THIS BIT
1363 0041WM 0140} BEG 56§ :BR_IF "0”
1384 O0ulve 104000 R :CHECK CUT MASTER RESET LCSIC
1365 00§1!S83 868 :
1266 0OMISD 104490 SCOFE
135° +:T4IS TEST PERFORMS MASTER RESET TESTING &
igssg s TESTING OF RERD/WRITE BIT HDXEN
1362 ooaug Cl2te? 003017 174746 T5715: HAv 815, TSTNO :SRVE THIS
1361 00vi1el 012767 004286 174730 MOV a75416, NEXT GO TO THIS TEST WHEN THRU
1362 00Mieb 052777 000010 013520 1S sHDXEN. 9T¥CSR  :SET THIS 8IT
1363 008174 032777 007013 013512 817 sHOXEN @TXCSR  :TEST THIS BIT
1364 004202 00.00 BNE Bu4S :BRIF "}
1365  00Ne0N HLT :THIS BIT SHOULD BE SET
1366  00M206 A B4S:
1367 004206 0N2777 000010 013750 BIC $HOXEN, 3TXCSR  :CLR THIS BIT
1368 00NZIN 032777 000010 013572 BIT SHOXEN, STXCSR  :TEST TWIS BIT
1369 00N222 OCINOI BEQ BSS :BR IF =0°
iar‘?? 004224 108000 ccs HLT :THIS BIT SHOULD BE CLR
1372 -NOW SET THIS BIT
1373 004226 052777 DO00I0 013460 8IS sHOXEN, 3TXCSR
1374 00N2M 052777 020400 013482 8IS sMRESEY 9TXCSR  ;MASTER RESET
1375 O0N24¥2 032777 OOCOI0 OI34dy BIT 8HDXEN,&TXCSR  ; TEST THIS BIT
| 1376 0ONESO D0INOI BEQ BES 'BR_IF "0*
r 1377 D04252 104090 HLT :CHECK OUT MASTER RESET LOGIC
| 1378 DOM2EH 6ES:
! 1379 0OD42SH  1O4NO0 SCOPE
1389 - THIS TEST PERFORMS MASTER RESET TESTING 3
| Bgé : 1 TESTING OF RERD/WRITE BIT SEND
| 1383 00425k 012767 000020 174642 TSTIE: fadv 816, TSTNO :SAVE THIS
1584 DOM2BN 012767 DON3B2 174624 MOV s75t17 NEXT -GO TO THIS TEST WHEN THRU
1395 004272 052777 000020 OI3NIM BIS 8SEND,9TXCSR  ;SET THIS BIT
. 1386 00M300 032777 0C0020 0;3406 BIT 8SENC. 9TXCSR  :TEST THIS BIT
| 1387 004306 001001 BNE  BYS ;BR IF =]~
| 138 004210 104000 HLT :THIS BIT SHOULD BE SET
1359 DN312 BNS:
1330 0312 Q42777 000020 013374 BIC 8SEND,3TXCSR  ;CLR THIS BIT
1389] 004320 000320 013386 BI7 8SENO.9TXCSR  ;TEST THIS BIT
. 13%2 004326 00140] : BEG 133 iBR_IF "0°
1293 0ON30 1 : RLT THIS BIT SHOULD BE CLR
2394 004332 65$:
1395 -NOW SET THIS BIT
1296 ©0OM332 052777 000020 01334 B1s 8SEND, aTXCSR
1297 00NM0 052777 000400 013396 BiS sMRESET, JTXCSR  ;MASTER RESET
1298 DOM346 035777 000020 013340 BIT 8SEND, 3YXCSR™  TEST THIS BIT
1399 OONISH  00140! BEQ 668 :BR IF ~C*
1400 004356 104000 HLT :CHECK OUT MRSTER RESET LOGIC
v 1801 004360 668 :
1402 00M360 104400 SCOPE
| 1403 . THIS TEST PERFORMS MRSTER RESET TESTING 3
! {% ::TESTING OF READ/WRITE BIT DNAINTE
1406 DOM362 012767 000021 174536 T1STi7: fdy 817, TSTNO :SAVE THIS
1807 004370 012767 004466 174520 MOV 875} 18, NEXT :G0 TO THIS TEST WHEN THRU
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CCURD.PLL
1408 0C4376
1409  OO440M
1410 QQ4Mle
1411 004NN
1412 004416
1413 004416
1414  DOYd2M
141S D044
1416 0OW4NM
1417 004436
1418
1419 004436
1420 D044
l4gl DONMS2
1422 004460
1423 DON4Be
424  D0446N
1425 O04u4bH
1426
1427
1428
1429 00M466
1830 Q07
1431 O04S02
1432 004510
1433 004516
1NN 004520
1835 004522
1436 50M522
1437 004530
1438 004536
1439 004540
1440 004542
1441
1442 004542
1443 004550
1444 OOMSS6
1445 004564
1446 0OOMSED
1447 004570
1448 004570
1449
1450
1451
1452
1453
1454 0OO4S72
INSS 004600
1456 004606
IN57 004614
i:gg 004622
140 Boueas
1461 004626
1462 004634
1463 004642

O4-RUG-76 00:00

052777
032777
001001
104000

042777
Q777
001431
104000

052777
052777
032777
001401
104000

104400

CO3

17-AU3-"6 08:1° PRIE 3.
022043 013310 B.S RDNAINTE, QTXCSR ;SET THIS BIT
060240 013332 eIt 8DNRiNTE, @ TXCSR : TEST THIS BIT
BNE By :BR IF ~1*
s HLT : THIS BIT SHOULD BE SET
00000 013270 BIC sONRINTE, TXCSR :CLR THIS BIT
000040 013262 811 8DNRINTE 9TXCSR :TEST THIS BIT
BEQ 6S$ :BR IF "0"
- HoT :THIS BIT SHOULD BE CLR
-NOW SET THIS BIT
0000N0 013250 3 8DNAINTE, 9TXCSR
D00N20 013242 818 SMRESET, 8TXCSR  ;MASTER RESET
000040 013234 BIT sDNRINTE,JTXCSR ; TEST TWIS BIT
BEQ 668 ‘BR_IF 0"
- HLT :CHECK OUT MASTER RESET LOGIC
o3
SCOPE
- THIS TEST PERFORMS MASTER RESET TESTING 8
: 1 TESTING OF RERD/WRITE BIT TXINTE
000022 174432 7TSTi8: fMdv 218, TSTNO :SAVE THIS
004572 174414 MOV 875119 NEXT GO TO THIS TEST WHEN THRU
000106 (013204 BIS sTXINTE,STXCSR ;SET THIS BIT
000100 013176 BIT $TXINTE.QTXCSR :TEST THIS BIT
BNE B4S -BR IF "]=
s AT - THIS BIT SHOULD BE SET
000100 013164 BIC $TXINTE,dTXCSR :CLR THIS BIT
000100 013156 BIT sTXINTE QTXCSR ;TEST THIS BIT
BEQ B65S$ :BR_IF “Q*
e PLT ThIS BIT SHOWD BE CLR
-NOW SET THIS BIT
000100 013144 BIS sTXINTE, JTXCSR
000400 013136 BIS SMRESET QTXCSR ;MASTER RESET
000100 613130 BIT sTXINTE.STXCSR ;TEST THIS BIT
BEQ 66$ :BR IF =0°
58 HLT :CHECK OUT MASTER RESET LOGIC
SCOPE
s TEST MAINT MODE BIT O
: 1THIS TEST PERFORMS MASTER RESET TESTING 8
: TESTING OF RERO/WRITE BIT BITIL
000023 174326 T1ST19: MAdv 819, ISTNO :SAVE THIS
004676 174210 MOV 875120, NEXT =GO TO THIS TEST WHEN THRU
004000 013100 BIS $BITI1 QTXCSR  ;SET TH1S BIT
004000 013072 BIT 8BITI1.QTXCSR  :TEST THIS BIT
BNE BYS :BR IF =]~
us HLT : THIS BIT SHOULD BE SET
004000 013060 BIC #8IT11,3TXCSR  ;CLR THIS BIT
004000 013052 BIT 8BIT11.3TXCSR  :TEST THIS BIT
BEQ 65§ ‘BR IF 0%

SEd 0028
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1464 DON6MN 104000 HLT : THIS BIT SHOULD BE CLR
1465 004646 £S§:
1466 NOW SET THIS BIT
1467 DO4BME 052777 004000 013040 BIS ~ #BITIL JTXCSR
1468 OO46SY 0S2777 0OCO4CD 012032 BIS sMRESEY, JTXCSR  ;MASTER RESET
1469 0046B2 032777 004000 013024 BIT $BIT11,8TXCSR  :TEST THIS BIT
1870 004670 00140} BEQ 668 :BR IF 0%
1471 004672 104000 . HLT :CHECK OUT MASTER RESET LOGIC
1872 00NN £83:
1473 J0M67M 108400 SCOPE
i:g 3 TEST MAINT MOOE BIT |
1476 ::THIS TEST PERFORMS MASTER RESET TESTING 3
i:zg : TESTING OF READ/WRITE BIT BITI2
1879 00476 012767 0CO024 174222 T1sT20: Hbv 820, TSTNO :SAVE THIS

s75t2], NEXT :GO YO THIS TEST WHEN THRU
881712.3TXCSR  ;SET THIS BIT
881712, 3TXCSR “iIEST THIS BIT

64s ;BR IF
; THIS BIT SHOULD BE SET

1480 004704 012767 005002 174204

1481 004712 052777 Q0I1CCOQ 012774

482 0O0M 032777 010000 012766

1483 004726 001001

1484 004730 104000

1485 004732 64s:

ERID Zomma
O O <

1486 004732 ON2777 D10000 0127854 8BIT12,dTXCSR  ;CLR THIS BIT
1487 OOM790 032777 010000 0127496 sBITI12.9TXCSR  :TEST THIS BIT

1488 O0ON7%6 001401 35 :BR IF “0*

1489 004750 104000 :THIS BIT SHOULD BE CLR

1490 0047852 658 :

149] -NOW SET THIS BIT

1492 008752 0S2777 010000 01273M BIS sBIT12, JTXCSR

1493 DON760 052777 DOON00 012726 BIS sMRESEY JTXCSR  ;MASTER RESET

1494 0ON7BE 032777 010000 012720 BIT 8BIT12,4TXCSR  ;TEST THIS BIT

1495 DO4Z74 001401 BEQ 668 'BR_IF 0%

1496 004776 104000 HLT :CHECK OUT MASTER RESET LOGIC
1497 00S000 66S:

1488 00S000 10400 SCOPE

1499 - THIS TEST PERFORMS MASTER RESET TESTING 3

issﬁ : L TESTING OF RERD/WRITE BIT CLK

1602 00S002 012767 000025 174116 TST21: HAdv 821, TSTNO :GAVE THIS

1503 005010 012767 005106 174100 MOV 87522, NEXT GO TO THIS TEST WHEN THRU
1504 005016 052777 020000 012670 BIS sCLK, 3tXCSR +SET THIS BIT

1505 005024 032777 020000 012662 BIT 8CLK  aTXCSR :TEST THIS BIT

1505 005032 001001 BNE £4S BR IF =]~

1507 DOSO34 104000 HLT s THIS BIT SHOULD BE SET

1508 005036 6Y4S:

1509 005036 042777 020000 012650 BIC 8CLK, 3TXCSR :CLR THIS BIT

1610 00SO44 032777 020000 012642 BIT 8CLK . 8TXCSR ; TEST_THIS BIT

1511 005052 001401 BEQ 65§ :BR IF “0”

1512 00S054 104000 HLT :THIS BIT SHOULD BE CLR

1513 005056 658 :

1614 -NOW SET THIS BIT

iSiS 00S0S6 052777 012630 815 8CLK, aTXCSR

1516 00SOE4 0S2777 000400 012622 BIS SMRESET, 9TXCSR  ;MASTER RESET

1617 005072 032777 020000 012614 817 RCLK, 9TXCSR :TEST THIS BIT

1€18 005100 001401 BEQ 668 :BR_IF "0"

1519 005102 104000 HLT s CHECK OUT MASTER RESET LOGIC
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10440N

EO3
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O4-RUG-76 00:00

000026 174012
00S2l2 173774
040000 012564
040000 012556

040000 012544
O40000 012536

g40000
0og400
040000

000
[ nd o
B
OU‘?

173706

Q12444
Oledse

172524

%

Soog
82?2 3
ShisE

i

0022

8

000030 173576
005400 173560

306408 812342

6es:
SCOPE
:; THIS TEST PERFORMS MRSTER RESE™ TESTING 8
; s TESTING OF RERD/WRITE BIT MTDATA

1ST22: OV 822, TSTNO :SAVE THIS
MOV 875123 NEXT G0 TO THIS TEST WHEN THRU

BIS sMTDATA, §TXCSR  ;SET THIS BIT
BIT sMIDRTA. QTXCSR :TEST THIS BIT
BNE B4S -BR IF =i~
us HLT : THIS BIT SMOULD BE SET
BIC SMTDATR, 3TXCSR ;CLR THIS BIT
BIT BMTDATR, @TXCSR : TEST THIS BIT
8EQ 65§ BRIF “0*
s HLT : THIS BIT SHOULD BE CLR
-NOW SET THIS BIT
BIS sMTDATA, 9TXCSR
BIS sMRESET.JTXCSR ;MASTER RESET
BIT sMTDATA, GTXCSR ; TEST THIS BIT
BEQ 668 :BR IF ~0*
6 HLT :CHECK OUT MASTER RESET LOGIC
SCOPE

+sTHIS TEST VCRIFYS THART INIT (RESET) CLEARS BITS IN THE
:sRXCSR & TXCSR

t8123: mMov 823, TSTNO -SAVE THIS
MOV sTStou, NEXT G0 T0 THIS TEST WHEN THRU
MOV :17777?,gaxcsa ;s;r ALL POSSIBLE BITS
22257 8177777.37xCSR ;DITT0
MOV SLEVEL?,PS :RESTORE NON INTERRUPT STATUS
MOV SRXCSR, R1 : SAVE

MOV JTXCSR . R2 : SAVE
gg}a OETCLR 15 THE OPTIONAL CLR JUMPER ON ?

1 :YES
BIC 816,Rl :CLR THE NON RESETRBLE BITS
is: BIC 3?7éooo,héﬂs -CLRLRBL’NON-CLERRRBLE BITS

157 THEY AL
BEQ L4
HLT -ALL SPECIFIED BITS SHOULD BE CLEAR

BI¢  jgoeeD0,Re . iCLEAR ALL NON-CLERRABLE BITS

.4
HT ;ALL SPECIFIED BITS SHOULD BE CLERR

SCOPE
;s THIS TEST PERFORMS MASTER RESET TESTING 8
;s TESTING OF WRITE ONLY BIT MRESET

TST24:  Adv 824, TSTNO :SAVE THIS
MOV s75t26 NEXT G0 T0 T
BIS sMRESE}, 9TXCSR  ; TRY TO SET THIS
BIT $MRESET, 9TXCSR ;TEST THIS BIT
8EQ BYS 'BR IF "0*

H % TEST WHEN THRU

[
BIT
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DZDURD.P11  DN4-RUG-76 00:09 SEQ 0031
1576 005354 10N000 HLT : THIS BIT SHOULD NOT BE SET
1677 005356 £Y4S:

1578 005356 0S2777 0OC400 012330 BIS SMRESET,aTXCSR  ;MASTER RESET

1579 005364 032777 000400 012322 817 eMRESET QTXCSR :TEST THIS BIT

1880 005372 OCINQ} BEQ 858 ‘BR IF ~0*

15881 005374 104000 HLT : THIS BIT SHOULD NOT BE SET
1582 005376 6SS:

1583 :CHECK MASTER RESET LOGIC
18849 DOS376 104400 SCOPE

§% « s THIS TEST VERIFYS THAT THE RXCSR 8 TXCSR CAN BE BYTE ADDRESSED (DATOB)
1587 0OSM00 012767 000031 173520 t4res: wmov 825, TSTNO :25VE THIS .
1588 00S40e 012767 0D0SSe6 173502 MOV 875126, NEXT :G0 TO THIS TEST WHEN THRU
1589 0OS41M4 052777 00040C 012272 BIS sMRESEY, JTXCSR  :MASTER RESET

1590 00S422 105767 173553 TSTB  OPTCLR ';1S THE OPTIONAL CLR JUMPER ON ?
1591 00S426 100M0S BNI 18 :YES

1592 30 012777 000000 012242 MOV 80, 3RXCSR :CLR OUT NON RESETABLE BITS
1593 436 005777 012236 ST RXCSR :CLR OUT'DSC BY RERDING RXCSR

1554 0OSw42 152777 012232 1§: BISB  #BITO,@HRXCSR  :SET STRIP SYNC UPPER BYTE
1595 DOSNSO 017701 012224 MOV SRXCSR, R1 :SAVE RXCSR

159 DOSYSY 022701 000400 CMP e400,R] ; TEST Rx{SR

1567 00S4H0 001401 BEQ 44

1698 Q0S4 104000 HLT -ONLY STRIP SYNC SHOULD BE SET

1599 0Q0S464 106077 012210 CLRB  SRXCSR :CLR LOWER JYTE

1600 00S470 017701 0l220M4 MOV RXCSR, R} -SAVE RXCSR

1601 00SY74 022701 000400 CHP 8400,R] ;TEST RX(SR

1602 DOSS00 OC1401 BEQ e

1633 005502 mu% HLT i%v TRIP SYNC SHOWLD BE SET

1608 00SSON OS2 000400 012202 BIS SET, 9TXCSR  ;MASTER RESET

1605 00S512 162777 000040 012176 BISB  #BITS, JATXCSR  ;GET MAINT CLK UPPER BYTE
1606 005520 017701 012170 MOV JTXCSR,RI :SAVE TXCSR

1607 00SS24 Q42701 002000 BIC $8I1TH, R :CLR BIT WINDOW (DEPENDENT
1608 -ON H315 CONNECTOR EXISTANCE)

1609 00S530 022701 020200 cHP 820200,R1 :TEST TXCSR

1610 005534 001401 BEQ L+

1611 % 104000 HLT :ONLY MRINT CLK BIT 8 TXDOME SHOULD BE SET
1612 105077 012150 CLRB  @TXCSR :CLR LOWER BYTE

1613 005544 017701 0121944 MOV aTXCSR, Rl -SAVE TXCSR

1614 0DOS550 (42701 BIC $BITH, R1 :CLR BIT WINDOW (DITTO)
1615 00S554 022701 020200 CMP 820200, R1 :TEST TXCSR

1616 005560 001401 BEQ .44

1617 00SSee 104000 HLT :ONLY MAINT CLK BIT 8 TXDONE SHOULD BE SET
1618 DOSSEY 104400 SCOPE

1619 - - THIS TEST PERFORMS MRSTER RESET TESTING 3

1620 t 1 TESTING OF RERD ONLY BIT BITW

i% : 'MAINT INTERNAL

1623 005566 012767 000032 173232 TST26: MV 826, TSTNO :SAVE THIS

1624 005574 012767 005720 173314 MOY nst§7 NEXT GO TO THIS TEST WHEN THRU
ig‘é‘é 005602 01777 084001 012104 MOV SMIN ehmmmanm,arxcshmom;ssr MAINT INT.,BRERK,
1627 005610 032777 002000 012076 BIT eBITW,3TXCSR  ;TEST BItMW

1628 005616 091001 BNE , 4

1629 (005620 104000 HLT -BIT WINDOW SHOULD BE SET

1630 005622 042777 040000 012064 BIC $MTDATA, TXCSR

1€3]1 005630 013702 001136 MOV J8HOLD, R2
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17-RJG-T6 08:1°

DZDUAD.PI1  OM-AUG-76 00:00
1632 00S634 005302
1633 005636 001376
1634 40 032777 002000
1635 46 00140]
63 00SES0 104000
1638 DOSBS2 052777 (040000
1639 0QOSEE0 052777 Q00400
1640 00SEb6 052777 Q04001
1641 00S67M 013702 001136
1642 005700 005302
1643 005702 001376
1644 005704 032777 002000
1645 005712 00I40]
1646 005714 104000
1647 005716 104400
1648
1643
1650
1651
1682 0D0S720 012767 (000033
1653 005726 012767 000D
1654
1655
1655 00S734 105767 173243
1657 100046
1658 005742 012777 050001
1660 00S7S0 032777 0C2000
1661 005756 001001
1662 D05760 104000
1663 005762 0M2777 (040000
1664 005770 Q13702 001136
1665 Boa 08
1666 005776 001376
1667 00B000 032777 (002000
1668 006006 DOIYO]
663 006010 104000
1671 006012 052777 Q400CC
1672 052777 0O0HO0
1673 006026 052777 010001
1674 00RO 013702 001136
1675 DOROM0 005300
1676 006042 001376
1677 0DGOM4 032777 (002000
1678 D0KOS2 DOI40}
1679 00G0S4 104000
1680 006056 104400
1681
1682
1683
1684
1685
1686 012767 0000
1687 006066 012767 006116

1732C0
173162

011744
011736

011724
011706
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:8: DEC R2
8NE 15
BIT 881 TW, JTXCSR
BEG .44
HLT -BIT SHOULD BE CLR
-NOW SET THE MYDATA
815 $MTOARTA, 9TXCSR
BIS SMRESET aTXCSR :MASTER RESET
815 sMINT'BAEAK, JTXCSR
MOV S8HOLD, R2
28: DES R2
BNE 2
81T 881 TW, 3TXCSR
BEQ .44
gggps :BITW SHOULD BE CLR BY MASTER RESET
- THIS TEST PERFORMS MASTER RESET TESTING 8
1 ITESTING OF RERD ONLY BIT BITW
s sMAINT EXTERNAL
15727: Adv 827, TSTNO :SAVE THIS
MOV s75t28, NEXT -GO0 TO THIS TEST WHEN THRL
-TEST TO SEE IF EXTERNAL MODEM BYPASS CONNECTOR
:1S ON (H3IS)....IF "NO* JUMP AROUND TEST
tsT8  JMRBY
BPL 18 17 1S NOT ON
MOV cncxrznrbnrnsansnx,afxcsa&n Yg;ssr MAINT EXT.,BREAK,
BIT 8BITW,3TXCSR  ;TEST BItW
BNE e
HLT .BIT WINDOW SHOULD BE SET
BIC $MTDATA, JTXCSR
MOV 23HOLD, R2
2s: DEC R
BNE 28
BIT 8BITW, 3TXCSR
BEQ L4+
HLT -BIT SHOULD BE CLR
-NOW SET THE MTDATR
B1S $MTDATR, JTXCSR
BIS $MRESET.JTXCSR :MASTER RESET
8IS SMEXTTBREAK, ATXCSR
MOV JSHOLD, R2
3s: DEC R2
BNE 38
BIT 8BITW, 3TXCSR
BEQ .4
HLT :BITW SHOULD BE CLR BY MASTER RESET
1S: SCOPE
:+THIS TEST PERFORMS MASTER RESET TESTING &
: s TESTING OF RERD ONLY BIT RXDONE
15128: MV 828, TSTNO +SAVE THIS

MOV s75t29, NEXT :GO TO THIS TEST WHEN THRU

SEq 0032
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006074
006102
006110
Q06112
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006114
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DZOURD.P11

052777
032777
001401
104000

104400

012767
012767
052777
032777
001401
104000

104400

012767
012787
052777
032777
001401
104000

104400

012767
012767
052777
032777
001001
104000
104400

012767
012767
052777

032777
001401
104000

104400

17-AUG-?6 08:1T
04-AUG-76 00:00

020400
000200

36
0ge2le
100000

000040

000400
100000

01l6le
011570

172744
172726
011516
011474

172706
172670
011460
011482

172650
17e632
0l14e2
011414

HO3

PRGE 36
BLS SMRESET,3TXCSR ;MASTER RESET
BIT BRXDONE | 9RXCSR  + TEST THIS BIT
BEQ BYS :BR_IF Q%
cus HLT :CHECK MASTER RESET LOGIC
' coPE :OR SHORT ON THIS BIT
- < THIS TEST PERFORMS MASTER RESET TESTING 8
* 1 TESTING OF READ ONLY BIT RECACT
15729: fdv 829, TSTNO :SAVE THIS
MOV 875430, NEXT GO TO THIS TEST WHEN THRU
8IS sMRESEY, STXCSR  :MASTER RESET
BIT 8RECACT,9RXCSR ;TEST THIS BIT
BEQ BYS 'BR IF “0*
s HLT :CHECK MASTER RESET LOGIC
) COPE :OR SHORT ON THIS BIT
- THIS TEST PERFORMS MASTER RESET TESTING 3
: *TESTING OF READ ONLY BIT DSC
15730: fbv %30, TSTNO :SAVE THIS
MOV 875131 NEXT G0 TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
BIT 8DSC, JRXCSR :TEST THIS BIT
BEQ BYS :BR_IF “0”
us HLT :CHECK MASTER RESET LOGIC
' COPE :OR SHORT ON THIS BIT
- THIS TEST PERFORMS MRSTER RESET TESTING &
:TESTING OF READ ONLY BIT TXOONE
1ST31: MOV $31. TSTNO :SAVE THIS
MOV 875132, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, STXCSR  ;MASTER RESET
BIT 8TXOONE,JTXCSR ;TEST THIS BIT
BNE L+ :BR IF ~1"
HLT -CHECK MASTER RESET LOGIC
cCOPE :OR SHORT ON THIS BIT
- THIS TEST PERFORMS MASTER RESET TESTING 3
:1TESTING OF READ ONLY BIT DNA
15132: Mbv $32, TSTNO :GAVE THIS
MOV 875133 NEXT G0 TO THIS TEST WHEN THRU
B1S sMRESEY, 9TXCSR  ;MASTER RESET
BIT #DNA, STXCSR :TEST THIS BIT
BEQ 1 :BR_IF “0*
us HCT :CHECK MASTER RESET LOGIC

;OR SHORT ON THIS BIT

SCOPE
;s THIS TEST PERFORMS MASTER RESET TESTING 3
;s TESTING OF RERD ONLY WORD RECEIVE DARTR

SEG 0033
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000400
020000

000044
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000400
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0000u4S
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000400
100000
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Clleye

172450
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011204

172412
172374
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15133:  Mdv £33, TSTNO sSAVE THIS
MOV srsfgq NEXT G0 TO THIS TEST WHEN THRU
BIS sMRESEY JTXCSR  ;MASTER RESET
MOV RXDBUF , R3 :FOR ERROR MESSRGE
MOV 8377 R0 *EXPECTED
MOV JRXDBUF ,R1 : ACTUAL
CMP8  RO,RI
BEQ L +4 :BR IF *0"
gégpe 2 :REC DATA SHOULD BE ALL 1°’S
?;THIS TEST PERFORMS MASTER RESET TESTING &
s TESTING OF READ ONLY BIT PARER
1ST34:  fdv 834, TSTNO :SAVE THIS
MOV s7st35 NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
BIT 8PARER, ORXDBUF  : TEST THIS BIT
BEQ B4S 'BR_IF "0"
us HLT s CHECK MRSTER RESET LOGIC
' S COPE :OR SHORT ON THIS BIT
- THIS TEST PERFORMS MRSTER RESET TESTING 3
+ 1 TESTING OF READ ONLY BiT FRMERR
15135:  Mby 835, TSTNO :SAVE THIS
MOV 875136, NEXT -GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
BIT $FRMERR | JRXDBUF :TEST THIS BIT
BEQ 84S :BR_IF 0"
us HLT :CHECK MASTER RESET LOGIC
| cCoPE :0R SHORT ON THIS BIT
- THIS TEST PERFORMS MASTER RESET TESTING 3
:2TESTING OF READ ONLY BIT OVRRUN
1sT36: Hdv 836, TSTNO :SAVE THIS
MOV 875137, NEXT -GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
BIT 8OVRRUN, GRXDBUF ; TEST THIS BIT
BEQ B4S ‘BR_IF 0"
us HLT : CHECK MASTER RESET LOGIC
) copE :OR SHORT ON THIS BIT
- THIS TEST PERFORMS MASTER RESET TESTING 3
T TESTING OF RERD ONLY BIT RXERR
15T37: fdv 37, TSTNO SAVE THIS
MOV 875138, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET

BIT SRXERR, ORXDBUF  : TEST THIS BIT
BEQ 64S ;BR_IF *0"
HLT ; CHECK MRSTER RESET LOGIC

SEQ 0034
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1825

225RaRRoRRCARERR

2

P11
00eS42
00b542

17-AJS~7

04-AUG-76 00:03

104400

012767
012767
012777
052777
016703
017701
105767

100010
042701

012700
020001
001401
104001
000407
042701

012700
020001

001401
104001

104400

001401

000046
006652
177777
000400
011100
011074
172371

173000
000000

073000
000016

000047
006726
177777

011006
011002
000200

0000S0
006774
000400
010730
010724
000377

JO3

6 09:17 PRGE 238
643
ccoPE :OR SHORT ON THIS BIT
. s THIS TEST VERIFYS THAT THE DEVICE REGISTER RXCSR
:+15 CLERRED BY MARSTER RESET
172354 TST38: Hdv 238, TSTNO -SAVE THIS
172236 MOV 875%39 NEXT :GO TO THIS TEST WHEN THRU
011112 MOV 8177777 3RXCSR ;SET ALL'POSSIBLE BITS
011120 BIS sMRESET QTXCSR ;MASTER RESET
MOV RXCSR, R3 :FOR _ERROR MESSAGE
MOV JRXCSR, R1 :SAVE ACTUAL
TSTB  OPTCLR :TEST THE OPT CLR JUMPER FLRG
BPL 15 N0, ITS NOT IN
BIC 173000, R! : CLR’'NON-MASTER RESETTABLE
-BITS(SINCE THESE ARE DEPENDENT ON H315 CONNECTORS EXISTANCE)
MOV 80,R0  ;EXPECTED
ggg qunx ' EXPECTED VS ACTUAL
HLT i :ALL MASTER RESETABLE BITS SHOULD BE CLR
BR 28 - JUMP_RAROUND
1S: BIC $73000,R1 :CLR NON-MASTER RESETABLE
-BITS(SINCE THESE ARE DEPENDENT ON H315 CONNECTORS EXISTANCE)
MOV §16.R0 -EXPECTED
CHp quﬁl ;EXPECTED VS ACTUAL
. 4
HLT i -ONLY STD,RTS,DTR BITS SHOULD BE SET
:NOTE THAT STD 1S RERD =1 INDEPENDENT OF
:GEC XMIT 86 STRAP
28: SCOPE
: s THIS TEST VERIFYS THAT THE DEVICE REGISTER TXCSR
+ 1S CLEARED BY MASTER RESET
172246 T15T39: HMdv 839, TSTNO :SAVE THIS
172230 MOV 8TSt40, NEXT :GO TO THIS TEST WHEN THRU
011020 MOV 8177777,9TXCSR  ;SET ALL'POSSIBLE BITS
611012 BIS $MRESET JTXCSR ;MASTER RESET
MOV TXCSR,R3 :FOR ERROR MESSAGE
MOV 3TXCSR,R1 -SAVE ACTUAL
MOV 8200 RO ;EXPECTED
ggz qunl :EXPECTED VS ACTUAL
HLT i ONLY TXDONE SHOULD BE SET
SCOPE
s s THIS TEST VERIFYS THAT THE DEVICE REGISTER RXDBUF
: 1S CLERRED BY MASTER RESET
172172 TST40:  fdv 840, TSTNO sSAVE THIS
172154 MOV sTSHYT, NEXT GO TO THIS TEST WHEN THRU
0107494 BIS #MRESEY, 9TXCSR  ;MASTER RESET

MOV RXDBUF,R3 :FOR_ERROR MESSRGE
MOV JRXDBUF, R} : SAVE

MOV 4377 RO’ ;EXPECTED

ggs quai :EXPECTED VS ACTUAL

SEG 0035
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008770 1040C2
006772 104400

006774 012767
DD?UOS 012767
007010 00S0

007014 052777

007922 105767
007C26 100402

007030 000167
007034 016703
007040 017701
007044 00SC00

005701

007046

007050 00!401
0070C2 104001
007054 052777

007062 016702
007066 0C5302
007070 001376

017701

007134 018702
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rll O4-RUG-76 00:00

0000S1 172184 TSTHl:

7710
10664
000409

172155

000ssSe

010640
010634

0Ccoo00e

172050

010602
130002

010564

030002

0oooo

171776

172106
010672

0108616

BYS:

010544

65S:

KO3
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2%5 - 2 :ONLY REC DATA BITS SHOULD BE SET
-+ THIS TEST VERIFYS BITS RING,CTS, CARDET,SRD,DSR
*ALSO DSC IS GENERATED WHEN ANY OF THESE BItS ARE SET
t+OR CLERRED..... IT ALSO CHECKS THE MODEM BYPASS

,,JUMPER AND THAT THESE BITS CAN BE RERD

;;NOTE: THE MODEM BYPASS JUMPER MUST BE ON (H315)

by 4] TSTNO :SAVE THIS

MOV s75%u2, 3 ? ¥a TEST WHEN THRU
CLR JRXCS TO GET RID OF 1D ,RYS,DTR IF OPTCLR JUMPER #4 IS NOT ON
BIS 8MRESET,9TXCSR :MASTER RESET

TEST THAT A “YES" ANSWER WAS GIVEN TO QUESTION IN

:THE MONITOR OR BY DEFAULT

*THIS TEST WILL BE BYPRSSED IF THE EXTERNAL BYPASS

: JUMPER IS NOT INSTALLED

tst8 ~ JIMRBY

BMI L +6 ; THE_ANSWER WAS YES.....

: PERFORM THIS TEST

IMP ouTl1 dggp gaouuo THIS TEST IF THE ANSKER

N
MOV RXCSR,R3’ ;SET UP FOR ERROR MESSAGE

MOV JRXCSR, R1 :ACTUAL

CLR RO s EXPECTED

ST Rl ISIT=07"

BEQ .44

HLT 1 iRXCSR SHOULD BE CLR
$0TR, JRXLSR ET DTR

BIS
-WAIT FOR CABLE DELAYS
!l!!llll!!!illillliilll!!ll!l!!ili!!i*

:MODIFY "HOLD:* RCCORDINGLY FOR FASTER OR SLOWER MACHINE
i**iii*!!!l*l**li**!i!*ii!ii***ii***i*

foV HOLD,R2 ;SET DELAY TIME

DEC R2

BNE BYS -WAIT THIS TIME
0K NOW FALL THRU RND CONTINUE TESTING...........
tEXIT STAGE LEFT + - CHINNEIG!

fOV JRXCS ACTUAL

MOV oxaooué RD :DSC, CTS, CARDET,DTR

CMP noqnx EXPECTED VS ACTUAL

BEQ
HLT -CHECK BYPASS CONNECTOR
MOV aaxcsa Rl - ACTUAL
MOV 30002, RO :CTS, CARDET,DTR
ggg anal :EXPECTED VS'ACTUAL'
HLT 1 :PREVIOUS READING OF RXCSR SHOULD
:HAVE CLERRED DSC
8RTS, 3;RXLSR

BIS
WRIT FOR cnéLs DELAYS
li!lll!!!ii!!!li!i!l!!!ii!*ili!!i*!!*l

tMODIFY “HOLD:* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
L EEHOHEHEHEHHEH HOHEHOHHEH O

AoV HOLD,R2 ;SET DELAY TIME

SEQ 0036
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1413 88713 BBrddE

16 007144 01770}
17 007150 012700
18 007154 020001
13 007156 001431
104001
007162 017701

7166 012700
007172 020001
007174 0O0I401
007176 104C0!

007200 105767
007204 100112
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007222 016702
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007226 005302
007230 00137¢

007232 017701
007236 012700

007242 020001
001401
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007250 017701
007254 012700

007260 020001
007262 001401
007264 104001

007266 (042777
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00 274 018702
007300 00S302
1363 007302 001376

1966 007304 017701
1967 007310 012700
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17-RUG-76 08:17

00:00

171773
171766
00001G

171710

010442
173016

010424
073016

000002

171636

010370
143014

010456

010404

LO3

PRGE 40

3 R
BNE EES ;WAIT THIS TIME
;OK NOW FALL THRU AND CONTINUE TESTING...........

:EXIT STAGE LEFT....CHINNNG!
MOV JRXCSR, R}

MOV 170006, R0 . DSC,RING, CTS, CARDET,RTS, DTR
ggz 994R1 EXPECTED VS ACTUAL

HLT i - CHECK BYPRSS CONNECTOR

MOV JRXCSR, Ri

MOV 70006 RO . RING, CTS, CARDET,RTS,DTR

ggg qun1 EXPECTED VS ACTUAL

HLT 1 : PREVIOUS READING OF RXCSR SHOULD

;HAVE CLERRED DSC
1578 SEXMIT ;1S SEC XMIT JUMPER IN ?

BPL ouT2 ;NO
TSTB SEREC ;1S SEC PEC JUMPER IN ?
BPL ouT3 :NO

N
STD, 3RXLSR

BIS
WAIT FOR CABLE DELAYS
H 1232222222223 3322222222
:MODIFY "HOLD:™ RCCORDINGLY FOR FASTER OR SLOWER MACHINE
© I I E N E R E KRN N EEEEEEEE
5 fov HOLD,R2 ;SET DELAY TIME
DEC R
BNE 66$ -WAIT THIS TIME
0K NOW FALL THR( AND CONTINUE TESTING...........
*EXIT STAGE LEFT....CHINNNG!
foV JRXCSR, R1
MASK]: MOV 173016, R0 - DSC,RING, CTS, CAROET, SRD, DSR
:STD,RTS, DTR
ggz R94R1 -EXPECTED VS’ ARCTUAL
HLT i . CHECK BYPASS CONNECTOR
MOV JRXCSR, R}
MASK2: MOV 873016, R0 ;s*gc ggs,cnnosr,sno,osn,sro
LRTS, DT
SEE qun1 EXPECTED VS ACTUAL
HLT 1 : PREVIOUS READING OF RXCSR SHOULD
-HAVE CLEARED DSC
BIC $0TR, 3RXLSR
:WAIT FOR CABLE DELAYS
;!l*!!iil*!iiili*!iil*!iiiil!*l!*!!i***
:MODIFY "HOLD:™ RCCORDINGLY FOR FASTER OR SLOWER MACHINE
o J030 06 36 3 35 35 3 3 3 3 3 3 3 9 3 3 % 3 % % 3 3% % % 3 % 3 3 3% % 5 % % % % % %
s fov HOLD,R2 ;SET DELAY TIME

DEC R2
BNE BYS -WAIT THIS TIME

0K NOW FALL THRU AND CONTINUE TESTING...........
:EXIT STAGE LEFT....CHINNNG!

MOV JRXCSR, R1

MOV $143014,R0 :DSC,RING, SRD, DSR, STD,RTS

SEG 0037




1968
1969
1970
1971
1972
1973
1974
1975
1976
1977
1978
1979
1880
13981
1982
1983
1984
1385
1886
1987
1988
1889

007314
007316

87352

007330
007334
007334
007336

007340
007344
007350
007352
007354
007356

007364
007370
007370
007372

007374
007400
007404
007406
007410
007412
Q07416
007420
007422
007424

007426
007432
007440
007444

007444
007446

007450

0CDUR-B MACYLL 27(1006)
CZOURD.PLI

Mo3

17-AUG-76 O08:17 PAGE 4l

04-RUG-76 00:00

020001 CMP RO,Rl  ;EXPECTED VS ACTUAL
085q°1 oy 1+q C SHOULD BE SET
43995 000004 010350 B&C BRTS anxcga

:WAIT FOR CABLE DELAYS
***ii!*l*llll*i*li!*ll!*****l**!i*****
:MODIFY "HOLD:" ACCORGINGLY FOR FASTER OR SLOWER MACHINE
*ll*l*!i*ii*i*l**i*l**ii*i***i*******!

016702 171602 ccs oV HOLD,R2 ;SET DELAY TIME

005302 DEC R2

001376 BNE 658 +WAIT THIS TIME
0K NOW FALL THRO AND CONTINUE TESTING...........
*EXIT STAGE LEFT . .CHINNNG!

017701 010334 MOV JRXCSR, R

012700 103010 MASK3: MOV uxoaoxb RO -DSC, SRD, DSR, STD

020001 CMP RO,RI  ;EXPECTED vS'ACTUAL '

001401 BEQ +4

104001 HLT :DSC SHOULD BE SET

042777 000010 010314 BIC asro RX(SR
sWAIT FOR CABLE DELAYS
!!ii*i*!liii*l!!!il*i!**il!!!i!!!!*!l*
:MODIFY "HOLD:™ ACCORDINGLY FOR FASTER OR SLOWER MACHINE
!***i*!*!**li**!*****!****i***ii*****!

016702 171546 us fovV HOLD,R2 ;SET DELAY TIME

005302 DEC R2

001376 BNE 64¢ -WAIT THIS TIME
sOK NOM FALL THRO AND CONTINUE TESTING...........
:EXIT STAGE LEFT . . CHINNNG?

017701 010300 fOV JRXCS

012700 100000 MOV llDUUDb RU

020001 CMP RO,R1 EXPECTEO vs ACTUAL

001401 BEQ 4

104001 HLT .DSC SHOULD E. SET

017701 010282 MOV aRxcs R,R]

005000 CLR RO - NONE

005701 ST Rl

n01401 BEQ L +Y4

104001 HLT 1 -DSC SHOULD BE CLEARED FROM PREVIOUS

nsnoxnc OF RXCSR
000167 000254 JnP oUT1 AROUND
- THE FGLLOWING ROUTINE HANDLES THE SITURTION WHERE SEC XMIT
i *AND SEC REC JUHPERS ARE NOT ON

052777 000010 O10240 Oute:™ BIS SRXCSR
- WAIT ron cnéLE DELAYS
l***!ll*!l*li!!l*i**iill!*************
:MODIFY “HOLD:" ACCORDINGLY FOR FASTER OR SLOWER MACHINE
i*!!!!lilll*li*!li!**i!li!l!!ll!liill*

016702 171472 4 fov HOLD,R2 ;SET DELRY TIME

005302 DEC Re

001376 BNE BYS :WAIT THIS TIME
:OK NOW FALL THRU nno conrxnus TESTING. .. vvvenn..
'EXIT STRGE LEFT....CHINNNG!

017701 010224 fOV JRXCSR,R1 s ACTUAL

SEQ 0038




CcDUR-B MACYLl 27(1006)

024 Q07YsH 012700

025 007460 020001
2026 007462 001401
2027 007464 104001
2028 007466 042777

2633 007474 0:6702
2034 007500

¢035 007500 005302
2036 007502 001376

2033 007504 017701
2040 007510 012700

2042 007514 (020001
2043 007516 001401
2044 007520 104001
204s 007522 042777

9
¢0S0 007530 016702
2051 007534
e0S2 007534 005302
007836 001376

2056 007540 017701
2057 007544 012700
2058 007550 020001

2060 8875%2 104001
062 007562 052777

e0e?7 007570 016702

2369 007574 005302
2070 007576 001376

2073 007600 017701
2074 007604 012700
2075 007610 020001
2376 007612 001401
2077 007e!4 104001
2078 0G76l6 Q42777

17-AUG-76 08:17
DZDURD.PLL 04-RUG-76 00:02

073016

0CcooCc4 010204

171436

010170
130012

000002 010150

171402

000124

000010 010110 OUT3:

171342

01C074
171016

000004 010054

B5%:

668:

B4S:

NO3

PAGE 42

MOV £70016,R0 .EXPECTED: RING ,CTS,CARDET,STD,RTS,DTR
ggg Roqnx ‘EXPECTED VS ACTUAL

. ¢
HLT 1 . CHECK SEC XMIT & SEC REC JUMPERS

BIC sRTS, 2RXLSR
sWA1™ FOR CRBLE DELAYS
X II22IITIIIZTS 222222222222 L

sMODIFY “HOLD:" ACCORDINGLY FOR FASTER OR SLOWER MACHINE
SRR ERERREFHHHIRE R RRRRIRRRRRERHH N R R

MOV HOLD,R2 ;SET DELAY TIME

DEC  R2

BNE  BSS _ WAIT THIS TIME

;0K NOW _FALL THRU AKD CONTINUE TESTING...........
LEXIT STAGE LEFT....CHINNNG!

MOV~ GRXCSR,RI ;ACTUAL _

MOV _ #13 1DSC,CTS, CARDET, DTR, STD

0012, R0
-NOTE THAT 0SC STILL ASSERTS'EVEN THO THE SEC XMIT JUMPER # & IS 10T ON
EES qunx -EXPECTED VS ACTUAL
HCT i -CHECK BYPASS CONNECTOR
BIC #DTR, JRXLSR
‘WAIT FOR CABLE DELAYS
;!i!***ll**il*!**ii**l*i!***!**l*i*****
:MODIFY “HOLD:™ ACCORDINGLY FOR FASTER OR SLOWER MACHINE
XTI 322222223 2312383222333 32222288
fov HOLD,R2 ;SET DELAY TIME

DEC R2

BNE 66S -WAIT THIS TIME

0K NOW FALL THRU AND CONTINUE TESTING...........
:EXIT STAGE LEFT....CHINNNG!

MOV JRXCSR, R1 -ACTUAL

MOV #100010, RO :DSC,STD

CMP RO,R1 ' ;EXPECTED VS ACTUAL

BEQ .+4
1 OMLY DSC & STD SHOULD BE SET
INP OUTL  :JUMP AROUND
BIS £STD, IRXLSR
-WAIT FOR CABLE DELAYS
;*********l***l!l!l*i!!!il*!iil***l!!l!
:MODIFY "HOLD:" ACCORDINGLY FOR FASTER OR SLOWER 1imuiiINE
¥ 1222223223222 282122223222323322322222222
fMov HOLD,R2 ;SET DELAY TIME

DEC Re

BNE B4S :WAIT THIS TIME
0¥ NOW FALL THRU AND CONTINUE TESTING...........

tEnaT STAGE LEFT....CHINNNG!

MoV JRXCSR, R1 ACTUAL

MOV £171016,R0 : EXPECTED: 0SC,RING,CTS,CARDET,DSR,STD,RTS,DTR
EES ngqn1 EXPECTED VS ACTUAL

HLT i . CHECK SEC REC JUMPER

BIC $RTS, JRX(SR
‘WAIT FOR CABLE CELAYS

SEQ 0039




T

SITUR-B MRIYID 2S.I0080 IT-RL3=TB CB:1T FASE 43
SISOADLPIL 0MeaU3sRe NA:n2

2o] (ERRPRRRIP BRI R RN R R RN DR R BRI BRI RS BERS

20281 :MODIEY “HOLD:"™ ACCORDINGLY FOR FASTER OR SLOWER MACHINE

205 TR RERER AP R R R R R R RN A ARD SRR BRI RASRREEER

83 COTB2Y GC16702 171306 oy HOLD,R2 ;SET DELAY TIME

2084 02TE3C 11 ¥

2085 G070 00S3ne2 DEC R2

20% (07632 021376 8NE 658 ‘WAIT THIS TIME

2087 :0K NOW _FALL THRU AND CONTINUE TESTING...........

2268 -EXIT STASE LEFT....CHINNNG'

2289 017701 010240 AoV SRXCSR R] sACTUAL

2030 DO7e40 Q12700 131012 MOV 8131012,R0 -EXPECTED: DSC,CTS,CARDET.DSR,STD,0TR

2,31 007eWS 020001 CMP RO,R1 ' EXPECTED VS ACTUAL

203 00764 DO.401 8EQ .+4

2093 0C?6S0 .0MCO1 HLT i iCHECK H315 CONNECTOR

20 007852 (N2777 0030002 (1002 BIC 80TR, JRXLSR

209 ‘WAIT FOR CABLE DELAYS

80% : R SRR EREEFREE IR R EARASF RS RAARES

2097 :MODIFY “MOLD:” RCCORDINGLY FOR FASTER OR SLCWER MACHINE

m IR R R4 R R RS EREF AR AR E R LR R AR AR A

2099 007660 016702 171262 ROV HOLD,R2 ;SET DELRY TIME

2100 007664 EES:

2101 0076b4 302 DEC R2

axg 007666 001376 BNE 66S -WAIT THIS TIME

21 0K NOW FALL THR(l AND CONTINUE TESTING...........

210N ‘EXIT STRGE LEFT....CHINING!

210S 007670 C17701 010004 AoV JRXCSR, R1 sFCTUAL

2.9 20767 012700 10i0IC MOV 2101010,R0 -EXPECTED: DSC,DSR,STD

2107 0C7700 1 cMP R),R1 EXPECTED VS ARCTUAL

2108 007702 001401 BEQ .+4

2109 OC7704 1040C1 HLT 1 :CHECK 4315 CONNECTOR

;Hcl: 007706 104400 OUTl:  SCOPE

Ca

£112 ::THIS TEST VERIFYS THAT RECACT (REC ACTIVE) ASSERTS

2113 - IMMED. WHEN SYNC EXTERNAC MODE IS SELECTED

Sﬁg : 1AND SYNC SERRCH 15 SET

2116 007710 012767 0000S2 171210 TST2: fdv 842, TSTNO :SAVE THIS

2117 007716 012767 01003 171172 MOV sTSHY3, NEXT -G0 TO THIS TEST WHEN THRU

2118 007724 082777 000M00 007762 BIS sMRESEY, 9TXCSR s MASTER RESET

2119 027732 012777 020000 0OC.7S0 MOV SSYNEXT, UPARCSR ;SET THE MODE

5%5? 007740 052777 0OON00 007746 BIS SMRESET.JTXCSR :MASTER RESE:

2122 -SET MAINT DATR,CLK, BREAK, SMAINTENANCE MODE

SiS& 007746 012777 064001 007740 MOV sHTOATA! CLK!MINTBREAK, 3TXCSR

2125 .SET MODE ,8 OF BITS PARITY SENSE 8LORD SYNC REG

2126 007758 012777 026026 007726 Mo 8SYNEXT!EIGHT ! NOPAR! 26 , SPRRCSR

2127 007762 032777 004000 0077i0 81T SRECACT, SRXCSR

2.28 % 001401 BEQ BuS

2129 104000 Wt :RECACT SHOULD NOT BE SET

2130 0077 p4s:

2131 007774 052777 000020 007676 BIS 8SYNSCH, SRXCSR  ;SET SYNC SERRCH

2132 010002 032777 004090 0C7679 BIT sRECACT. MXCSR

2133 010010 00120} em; 6S$

3.3 010012 104000 Y :RECRCT DID MOT RSSERT

2135 013014 65$

SEQ OOMO

@ m—— -




CoDUR-B MRCYLL 27,1036 17-RJS-"B CB:1T FrgE 4N
OZDURD.PLI 04-RUG-7% 00:00 SEd 0041

213 010014 Q427" 202020 00765 8¢ BSYNSCH, SRXCSR  :DROP SERRCH SYNC
5137 8“355 883777 5453C 0C07eS:S BIT BRECRCT.ORXZSR 1S IT =07

138 01 1401 BEa beS

2139 010232 104000 HLT -RECACT SHOULD BS O

2140 0100 668:

2141 C10934 104400 SCOPE

2142 - THIS TEST VERIFYS THAT RECACT (REC RCTIVE) RSSERTS
2143 ;i IMMED. WHEN ISOCRONQUS MCDE IS SELECTED

s;:g :+AND SYNC SEARCH IS SET

2146 0100% 012767 0000S3 171082 7TSTY3: 4dv 843, TSTNO :SAVE THIS

2147 DI04 012767 010164 17109 MOV sT5t4d NEXT GO TO THIS TEST WHEN THRY
2148 01(0s2 082777 000400 007 8IS sMRESEY, STXCSR  ;MASTER RESET

2149 DI1C060 012777 000000 007622 MOV 8ISYMOD, 9PRRCSR :SET THE MODE

gi"s;‘? 010056 062777 000400 007620 BIS SMRESET JTXCSR ;MASTER RESET

2152 :SET MAINT DATA, CLK,BREAK , SMAINTENANCE MODE

5%?34 010074 012777 064001 007612 MOV sHTOA (A CLKIMINTBREAK, 3TXCSR

2155 :SET MODE ,# OF BITS,PARITY SENSE, 8LORD SYNC REG

2156 010102 012777 006026 00720 MOV 8ISYROD! £ 1GHT ' NOPAR! 26, JPRRCSR

2157 010110 033777 0QN000 007562 BIT $FECRCT, JRXCSR

2158 010116 00!40] BEQ BNS

2159 010120 104000 R -RECACT SHOULD NOT BE SET

I 2160 010122 BYS:
21el 010122 052777 000027 007550 BIS 8SYNSCH, 3RXCSR  ;SET SYNC SERRCH
2162 010130 032777 0OM0C0 067542 BIT SRECRCT. JRXCSR
2163 (10136 001004 BNE 65$

| 2164 B1J140 10NO000 HLT :RECACT DID NOT RSSERT

i 2165 DI0142 65S:

2166 010142 042777 000020 007530 BIC 8SYNSCH, JRXCSR  ; DROP SEARCH SYNC
2167 010150 032777 0ON000 007522 BIt eRECRCT SRXCSR ;IS IT =0°
2168 0if1S6 00140} BEQ 66$

| 2169 010160 104000 HLT *RECACT SHOULD BE O

2170 D106 668:

| 2171 019162 104400 SCOPE

. 2i7e - VERIFY THE MATCH DETECT 8 DATA ROY FLAGS BY PUMPING
2173 :IN TWO # SYNC CHARS THRU MAINT DATA BIT
2174 : HATCH THE RECACT BIT
2175 :1ON THE THIRD # CHARACTER IT SHOULD SET RXDONE
2176 ss%: DEPE ON MONITOR.............

I 2177 s+ IF ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
2178 227 &% cmmc}gn FOR RXDONE TO RSSERT
2179 ;s ON CHARACTER
2180 : tALSO CHECK THIS CHARACTER IN RXDBUF

| 2181 : :AND CHECK OPERATION OF SYNSCH

¢ 2182 ;;E%: SYNC INT
Sig ] TH:FIVE
2185 0J016M 012767 0ODOSH | TSTHd: Adv a4, TSTNO ;SAVE THIS
2186 010i72 012767 Ol 3 MOV sT5t4S NEXT G0 TO THIS TEST WHEN THRU

. 2187 010200 052777 BIS  #MRESE}, GTXCSR ;MASTER RESET

' 2188 010206 012777 007474 MOV $SYNINT, 9PRRCSR ;SET THE MODE

‘ 5{33 010214 052777 000400 007472 BIS SMRESET, JTXCSR :MASTER RESET
2191 :SET hAINT DATA, CLK,BREAK, BMAINTENANCE MODE




CZCURD. P11
2192 010222
2193
21
2195 010230
21% 01023%
2197 010242
2138
2199 010250
2200 010256
2201
2202 01026M
203 010272
204 010300
2205 010306
2206 010314
2207 010392
2208 010326
2209 010332
2210
2211 0103M
2212 010340
2213 010342
2214 DI034%
2215 010350
2216 010352
2217 01035
2218 010360
2219 010362
2220 D1036M
2z31 010364
2232 010372
2223 010M00
2224 010404
2225 DI0MIO
2226 Q0lOMI2
2227 010M1Y
2228 OIOMIY
2229 010M22
2230 DIoNN
2231 Dl10N6
2232 010MP6
2233 01043

010442

2235 OIDMWY
223% 010446
2237 DI04
2238 D142
2239 (010M5H
2240 010456

| 2241 DI0M56
| 2242 010MB2
2243 0104k
S5i2 Biture
2246 010474
010474

CoDUR-B MRCY1l 27.1006)
Q4-RUG-76 00:02

0127

012777
016703
0s2777
042777
082777

Q42777

17-RJ5-T6 08:17

064001

033026
OC744e
000020

000021
007216

007200

007464

007482
007430

007436
007430

007422
00741y
170634
170624
17062¢

007320

170546
170544

007244
007236

DO4

PAGE 45
MUV aMTDAT ! CLK!MINT ! BRERK, aTACSR
:SET MODE , 8 OF BITS,PARITY SENSE &LORO svnc REG
MOV sSYNINT!FIVENOPAR! 26, JPARCSR
MOV RXDBUF,R3 ssr UP FOR ERROR MESSAGE
BIS 8SYNSCH, JRXCSR  :SET SYNC SEAR
:POKE CLK T0 csf RECEIVER INTO SYNCROIZRTION
B1C 8CLK, a XCSR ;POKE CLK DOWN
BIS sCLK JTXCSR POKE CLK UP
:POKE CLK TO GET Loctc INTO svn.honxznrxon
BIC sCLK, JTXCSR -POKE CLK DOWN
8IS #CLK ' ITXCSR :POKE CLK UP
MOV 82, COUNT
18: MOV 85 SHIFT -8 OF SHIFTS
MOV 828 TEMPY :SYNC CHARRCTER
JSR PC, RPOKE
gg; coﬂnr
-TEST smcno 70 SEE HOW MANY SYNC CHARS WERE SELECTED
$STB ~ SYNCNO
BM] 18 :TWO SYNC CHARS
28: ggla gg;csn :CHECK REC DONE BIT
s HLT :RXDONE SHOULD NOT BE ASSERTED
T osIm 8RECACT, 3RXCSR
BNE 65S§
ccs HLUT -RECACT SHOULD BE ASSERTED
) MOV 85 SHIFY
qgg oai rsnzx -ANY CHARACTER
1518 anicsa : CHECK RXDONE
BN AX
e T - RXDONE SHOULD BE ASSERTED
" BIT SRECACT, JRXCSR
BNE 7S
o7 HLT sRECACT SHOULD STILL BE RSSERTED
" BIC 8SYNSCH, JRXCSR  ;CLR SYNC SERRCH
gés gg;:cncr "SRXCSR ;IT SHOULD DROP IMMEDIATELY
- RLT :RECRCT SHOULD BE CLR
] TSTB  SRXCSR ;RXDONE
BM] 698
cas HLT :RXDONE SHOULD STILL BE ASSERTED
T oMoV 821, RO :EXPECTED DATA
MOV RXDBUF ,R] :ACTUAL DRTA
gsma no Rl ';COMPARE’EXP VS ACT
208 HLT a ;DATA CHARS SHOULD COMPARE
’ TSTB  SRXCSR ;CHECK RXDONE

SEY 042




EQ4

DZDUR-B MACYLL 2701006 I7-AUS-TB 08:17 PARGE 46

D2DURD.PL1  OM-RUG-76 00:09 SEQ 0043
2248 01 100001 BrL 71$
5508 i3 13338 HLT  ;RXDONE SMOULD BE CLR FROM
2250 01050M ?18:
225 :PREVIOUS READING OF RXDBUF
2 010SON 104800 SCOPE
2253 » VERIFY THE MATCH DETECT 8 DATA RDY FLAGS 8Y PUMPING
2264 :+IN THO ® SYNC CHARS THRU MAINT DRTA BIT
2255 : 'WATCH THE RECRCT BIT
2056 : 10N THE THIRD # cm&ncrsn IT SHOULD SET RXDONE
2257 si%: DEPENDENT ON MONITOR.............
2258 ;3 IF ONE SYNC STRAP IS SELECTED THEN IT WILL OMLY
2259 : TAKE ONE SYNC CHORAZTER FOR RXDONE TO ASSERT
2060 :1ON THE SECOND CHARACTER
2261 :1ALSO CHECK THIS CHRRACTER IN RXDBUF
2262 s SAND CHECK OPERATION OF SYNSCH
2263 1IMODE: SYNC INTERMNAL
2064 s sLENGTH: SIX
azssE oE 010506 012767 0000SS 170412 TST4S: Mbv #45, TSTNO :SAVE THIS
2267 010514 012767 011030 170374 MOV sT5t4E, NEXT :GO TO THIS TEST WHEN THRU
2268 D10S22 052777 000400 007164 BIS sMRESEY, JTXCSR ;my;n AESET
2269 0I0530 0i2777 030000 007152 MOV sSYNINT. 9PRRCSR :SET THE MOOE
% 01053 0S2777 DOONO0 007150 BIS SMRESET,JTXCSR ;MASTER RESET
2272 :SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
2273 D10Sw+ 012777 064001 007142 MOV sMTDATA! CLK'MINT 'BREAK , 3TXCSR
2275 ;SET MODE , 8 OF BITS PARITY SENSE 8L0AD SYNC REG
2076 010552 012777 032026 007130 MOV sSYNINT!SIX!NOPAR! 26, 9PARCSR
2277 010560 016703 007120 MOV RXDBUF , R3 -SET'UP FCR ERROR MESSAGE
2278 010564 052777 000020 007106 BIS 8SYNSCH, SRXCSR ' SET SYNC SEARCH
2279 -POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....
2280 010572 042777 020000 00711M BIC 8CLK, dTXCSR :POKE CLK DOWN
2281 010600 020000 007106 BIS 8CLK JTXCSR :POKE CLK UP
2282 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2283 010606 042777 020000 007120 BIC 8CLK, STXCSR -POKE CLK DOWN
2284 010614 020000 007072 BIS #CLK QTXCSR "POKE CLK UP
2285 010622 012767 000002 170312 MOV 82, COUNT
2286 010630 012767 000006 170302 1S: MOV 86 SHIFT .8 OF SHIFTS
2287 010636 012767 000026 170300 MOV 820 TEWP! :GYNC CHARACTER
2288 O0I0EM4 OON7B7 0065M JSR PC, RPOKE
2289 010650 005367 170266 DEC COUNT
2290 010654 001403 BEQ Fo
2231 -TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
2292 010656 105767 170314 $STB = SYNCNO
2293 010662 100762 BM] 18 :THO SYNC CHARS
2294 010664 105777 007010 2s: 7STB  3RXCSR ;CHECK REC DONE BIT
2295 010670 10000} BPL BYS
22% 810572 104000 HLT sRXDONE SHOULD NOT BE RSSERTED
2297 010674 EHS: )
2298 010674 032777 00M000 006776 BIT 8RECACT, JRXCSR
2293 010702 001001 BNE 65§
% 818;& 104000 HLT :RECRCT SHOULD BE RSSERTED
1 01 65S$:
2302 010706 012767 000006 170224 MOV 86, SHIFT
2303 010714 012767 000021 170222 MOV s2l, TENPL sANY CHARACTER
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104000
42777
777
1401
104000
l
168401
104000

012700
017701

020001
001401
104002

105777

100001
104000

104400

3
oo
~N N

7|

0QO0
— YV ra
n

012777

012777
016703
052777

006456
006746

004000

000020
004000

006704

300021
006674

D06ES6

000020

006734

006722
006714

170070 TST46:
170052

00bb42
006630
006t26
006620

006606
00e5SeM

6s:

£7%:

B8S:

698:

708:

718:

JSR PC,RPOKE

1578 JRXCSR ;CHECK RXDONE

BMI 663

HLT ; RXDONE SHOULD BE RSSERTED

BIT I;ECRCT,BRXCSR

SNE 67$
HLT ;RECRCT SHOULD STILL BE ASSERTED

BIC #SYNSCH,dRXCSR ;CLR_SYNC SEARCH
géa ggECﬂCT,DRXCSR ; IT SHOULD DROP IMMEDIATELY

HLT ; RECARCT SHOULD BE CLR

TSTB SRXCSR ; RXDONE

BM] FH

HLT ;RXDONE SHOULD STILL BE ASSERTED

MOV #21,R0 :EXPECTED DATA
MOV SRxDBUF , Al :ACTUAL DATR
CHP ;&91 - COMPARE 'EXP VS ACT

BEQ
HLT 2 ; DRTA CHRARS SHOULD COMPARE

EgEB g?gCSR ; CHECK RXDONE
HLT ; RXDONE SHOULD BE CLR FROM

; PREVIOUS RERDING OF RXDBUF

sC

;s VERIFY THE MATCH DETECT 8 DATR RDY FLAGS BY PUMPING

+;IN TWO # SYNC CHARS THRU MAINT DATA BIT

s sWATCH THE RECACY BIY

;;ON THE THIRD # CHARACTER 1T SHOULD SET RXDONE

;o %: DEPENDENT ON MON.TOR.............

+:1F ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
AKE ONE SYNC CHARACTER FOR RXDONE TO RSSERT

:sON THE SECOND CHARACTER

+:RALSO CHECK THIS CHARACTER IN RXDBUF

;;AND CHECK OPERATION OF SYNSCH

::MODE: SYNC INTERNAL

s LENGTH: SEVEN

fadv 846, TSTNO :SAVE THIS

MOV s75t4? NEXT -GO TO THIS TEST WHEN THRU
BIS sMRESE}, 9TXCSR  ;MASTER AESET

MOV #SYNINT. QPARCSR ;SET THE MODE

8IS SMRESET,JTXCSR  :MASTER RESET

;ST MRINT DATA,CLK,BREAK, SMAINTENANCE MOOE

MOV sHTDATA! CLK!MINT 'BREAK , 3TXCSR

;SET HODE ¢ OF BITS PRARITY SENSE,8LORD SYNC REG

oV $SYNINT ! SEVEN'NOPAR! 26, 3PARCSR
MOV RXDBUF , R3 :SET UP FOR ERROR MESSAGE
BIS 8SYNSCH, 3RXCSR  ;SET SYNC SEARCH

SEJ 0044
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ChuUA-B mm' 27 1006) 1T-AJG-TH 08:1° PAGE u8B
C30JAD. P -au?.??s 05:00
2360 -POKE CLK TO GET RECEIVER INTD svncnorzmxon
236] 011114 042777 020000 0O0RS72 81¢ B8CLK, ‘mcsn POKE CLK DOWN
2362 0l1l22 777 020000 006564 BIS sCLK 9TXCSR OKE CLK UP
2363 :POKE CLK 10 GETY Loc!c INTO svnchomzmmn
2384 011130 042777 020000 006SSE BIC 8CLK, 3TXCSR +POKE CLK DOWN
2365 01113 0S2777 020000 006550 BIS sCLK JTXCSR :POKE CLK UP
2366 01114 012767 000002 167770 MOV 82, COUNT
2367 mugs 012767 000007 167760 !§: MOV 87 SHIFT .8 OF SHMIFTS
2368 011160 012767 000026 167756 MOV 82b . TEMPI :SYNC CHARRCTER
2369 011166 004767 006212 JSR PC, RPOKE
2370 011172 00S387 16774 DEC  COUNT
£371 011176 001403 BEQ 28
2372 - TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
2373 011200 106767 167772 1STB = SYNCNQ
2374 011204 100762 BMI 18 s TWO SYNC CHARS
2375 011206 106777 00B4sE 28: TSTB  JRXCSR :CHECK REC DONE BIT
2376 011212 100001 BPL BY4S
2377 011214 104000 HLT :RXDONE SHOULD NOT BE RSSERTED
2378 011216 BYS:
2379 011216 00N000 0OBNSY BIT $RECACT, 3RXCSR
2380 011224 00100} BNE 5%
2381 011226 104000 HLT :RECACT SHOULD BE ASSERTED
2382 011230 658
2383 011230 012767 000007 167702 MOV 87, SHIFT
2384 011236 012767 000021 167700 MOV :al TEMP! :ANY CHARACTER
2385 011294 00M767 006!3M JSR RPOKE
2386 011290 ms;% 006424 1518 am’(csn : CHECK RXDONE
2287 011254 100401 BN] 66S
2388 011256 104000 HLT -RXDONE SHOULD BE RSSERTED
2389 011260 B6S:
2330 011260 032777 004000 006412 BIT SRECACT, JRXCSR
2391 011266 001001 BNE 67S
2332 011270 104000 HLT :RECRCT SHOULD STILL BE RSSERTED
2343 011272 67S:
2394 011272 0N2777 000020 006400 BIC 8SYNSCH, 3RXCSR  ;CLR SYNC SFARCH
2395 gug 032777 004000 006372 BIT SRECACT,aRXCSR 3 IT SHOULD DROP IMMEDIATELY
£3% 011 001401 BEQ 68$
2397 011310 104000 HLT :RECACT SHOULD BE CLR
2398 011312 68S:
2399 011312 105777 006362 TSTB  SRXCSR  ;RXDONE
2400 C11316 100401 BM] 638
401 011320 104000 HLT sRXDONE SHOULD STILL BE ASSERTED
2402 811322 69S:
2403 011322 012700 000021 MOV 821, R0 :EXPECTED DATA
2404 011326 017701 006352 MOV SRXDBUF LRl :ACTURL DATR
2405 011332 020001 CHP RO,R1 ' ;COMPARE'EXP VS ACT
% 811& 1401 BEQ 708
11 1 HLT 2 :DATA CHARS SHOULD COMPARE
2408 011340 708:
2409 011340 1057?77 006334 1518 anxcsa : CHECK RXDONE
2410 guzm 100001 BPL 718
2411 011346 104000 HLT Rxoons SHOULD BE CLR FROM
2412 011390 718:
2413 -PREVIOUS READING OF RXDBUF
2414 011350 104400 SCOPE
2415 - sVERIFY THE MATCH DETECT 8 DATA RDY FLAGS BY PUMPING

GO4

SEG 004S




D<DUR-B MRCY11 27:1006) 17-AUG-76 0B:17 PARGE 49
DZDURD.PLI 04-AUG-76 00:00 SEQ 0046

2416 .+ IN TWO ® SYNC CHARS THRU MARINT OATA BIT
417 : {WATCH THE RECACT BIT

2418 : 10N THE THIRD % CHARWCTER IT SHOULD SET RXDONE
419 s3%: DEPENDENT ON MONITOR.............

2420 + IF ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
42l + 1TAKE ONE SYNC CHARACTER FOR RXDONE TO RSSERT
24e2 :;ON THE SECOND CHARACTER

2423 :1ALSO CHECK THIS CHARACTER IN RXDBUF

2424 : 1AND CHECK OPERATION OF SYNSCH

2425 s tMODE: SYNC INTERNAL

g:g% s LENGTH: EIGHT

2428 011362 012767 0000S? 167546 TST4?: HMdv 847, TSTNO :SAVE THIS

2429 011360 012767 011674 167530 MOV sTstug NEXT G0 TO THIS TEST WHEN THRU
2430 011366 052777 000400 006320 BIS sMRESEY, 9TXCSR  ;MASTER RESET

2431 011374 012777 030000 006306 MOV sSYNINT SPRRCSR ;SET THE MODE

g:gg 011402 052777 000400 006304 BIS SMRESET,@TXCSR ;MASTER RESET

2434 -SET MAINT DATR,CLK,BREAK, SMAINTENANCE MODE

gg 011410 012777 064001 006276 MOV sMTORTA! CLKYMINT BREAK , 3 TXCSR

2437 -GET MODE ,# OF BITS PARITY SENSE,8LORD SYNC REG

2438 011416 012777 036026 006264 MoV $SYNINT'EIGHTYNOPAR! 26, JPARCSR

2439 0llve4 016703 006254 MOV RXDBUF , R3 -SET UP FOR ERROR MESSRGE
2440 011430 0S2777 000020 006242 BIS 8SYNSCH, 9RXCSR  :SET SYNC SEARCH

2441 -POKE CLK TO GE} RECEIVER INTO SYNCROIZATION....
2442 011436 042777 020000 006250 B1C 8CLK, dTXCSR :POKE CLK DOWN

2443 O0lIWe4 0S2777 020000 006242 BiS #CLK JTXCSR :POKE CLK UP

444 :POKE CLK T0 GET LOGIC INTO SYNCARONIZATION

2945 011452 (N2777 (20000 006234 BIC $CLK, 3TXCSR -POKE CLK DOWN

2446 011460 052777 020000 006226 BIS sCLK ' TXCSR :POKE CLK UP

2447 011466 012767 000002 167446 MOV 2, COUNT

2448 011474 012767 000010 167436 1S: MOV 88, SHIFT -4 OF SHIFTS

2949 011502 012767 000026 167434 MOV 826 TEMP1 :SYNC CHRRACTER

2450 011510 004767 005670 JSR PC, RPOKE

2951 011514 005367 167422 DEC COUNT

2452 011520 001403 BEQ 28

2453 -TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
o454 011522 105767 167450 tsTB ~ SYNCNO

2455 011526 100762 BM] 18 TWO SYNC CHARS

2456 011530 105777 00614 2s: TSTB  3RXCSR :CHECK REC DONE BIT

2457 011534 100001 BPL B4S

2458 011536 104000 HLT s RXDONE SHOULD NOT BE RSSERTED
2459 (011540 BYS:

2460 011540 032777 004000 006132 BIT $RECACT, 3RXCSR

2461 011546 001001 BNE 65§

2462 011550 104000 HLT :RECACT SHOULD BE ASSERTED

2463 011552 B65S:

2464 011552 012767 000010 167360 MOV #8. ,SHIFT

2465 011560 012767 000021 167356 MOV 821 ' TEMP] :ANY CHARACTER

2466 011566 004767 00S612 TSR PC, RPOKE

2467 011572 105777 006102 TSTB  SRKCSR ;CHECK RXDONE

2468 011576 100401 BM] b6S

2469 011600 104000 HLT :RXDONE SHOULD BE ASSERTED

2470 011602 66S:

2471 011602 032777 004000 006070 BIT SRECACT, JRXCSR

i —— . i W G ——a— —
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DZ0UR-B MACY1l 27(1006)
DZDURD.PLL

001001
104000

Q42777
032777
001401
104000

105777
1004C]
104000

012700
017701
020001
001401
104002

105777

100001
104000

1044C0

012767
012767
0S2777

012777
052777

012777

17-RUG-?6 08:17

04-AUG-76 00:00

00C020
0C4000

00604C

000021
006030

006012

000060
0621%
000000
000400

064001

000000
000020

020000
020000

020000
020000
005674
000025
000007
000152
005350
00Se40

006056
006050

167224

167
005;92
005764

005782
00S754

00S74e
00s724

005732
005724

I04

PRGE 50
BNE 67%
- HLT :RECACT SHOULD STILL BE ASSERTED
S K
BIC 8SYNSCH, GRXCSR  ;CLR SYNC SEARCH
8&5 gSECRCT,aRXCSR : 1T SHOULD DROP IMMEDIATELY
e HLT RECACT SHOULD BE CLR
) TSTB  @RXCSR :RXDONE
BMI 69%
- HLT : RXDONE SHOULD STILL BE RSSERTED
T MOV 821, R0 :EXPECTED DATA
MOV JRXDBUF ,R] :ACTUAL DATA
CMP RO,RI ' ;COMPRRE'EXP VS ACT
BEQ 70§
08 HLT 2 :DATR CHARS SHOULD COMPARE
( M
TSTB  @RXCSR ;CHECK RXDONE
BPL 718
-1 HLT -RXDONE SHOULD BE CLR FROM
) copE PREVIOUS READING OF RXDBUF
- THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: {RECEIVER SECTION,IT USES THE ERROR FLAGS
: 170 DETERMINE THAt IT WAS SELECTED CORRECTLY
: 3 COVRRUN, RXERR)
: 1NODE : 1S¥YMOD
s sLENGTH: FIVE
i :25
15T48:  MbV 848, TSTNO -SAVE THIS
MOV c;aqu Ngxr GO TO THIS TEST WHEN THRU
BIS sMRESEY, STXCSR  ;MASTER RESET
MOV #ISYMOD, 8PARCSR ;SET THE MODE
BIS 8MRESET,TXCSR ;MASTER RESET

;SET MRINT DATA,CLK, BREAK &HQ;NTENQNCE MODE
MOV NT!

+SET MOD

eMTORTRICLKMINTTBREAK,, aTXCSR

E .8 OF BITS,PARITY SENSE,8LO0ARD SYNC REG
MoV 8ISYMOD'F IVE'NOPRR! 0, JPRRCSR
BIS $5SYNSCH aaxcgn .SET' SYNC SEARCH
-POKE CLK 10 GEY RECEIVEA INTO SYNCROIZATION....
B1¢ 8CLK, TXCSR s POKE CLK DOWN

sCLK §TXCSR :POKE CLK UP

BIS
iPOKE CLK T GET LOGIC_INTO SYNCRONIZATION

sCLK, 3TXCSR sPOKE CLK DOWN
BIS oCLK, aTXCSR sPOKE CLK UP
MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
MOV #825,R0" ;EXPECTED
MOV 87, SHIFT .8 OF SHIFTS
MOV 8152, TEMPL *DATA CHAR

H
JSR PC, RPOKE SHIFT IN THIS CHAR

TSTB  QRKCSR ;RXDONE }

SEQ 0047




- e ——————

DZOURD.P11
2528 012040
2529 012042
2530 0}209:
2% Bt
2533 012052
2534 012054
2535
2536
2537 012056
2538 012056
£539 012064
2540 012072
2541
2542 012076
c2S43 012104

01211
cs4s 012116
a2s46
2547 012122
cs48 0lcl2e
2549 012130
0le13e
2551
2552 012134
€583 0laiN
2554
2555
2556
2557
2558
2s59
2560
2561
e56e 012136
2563 0lol4d
2sby COlel
2565 0leal
2Sbb 0lclbb
2567
€568
2569 012174
2570
257}
eS72 0lege20e
€573 012210
2574
2575 012216
e57b 0lez2zv
2577
ec7e 012232
2579 012240
2sB80 0le246
e58l 0tle2se
2582 012256
2s83 0l2264

O<DUR-B MACYL1 27(1006)
O4-RUG-76

100401
104000

017701
020001
661401
104002

012767
012767
004767

012767
012767
052777
012777
0se?77

012777
012777
052777
042777
052777
QM4e777
052777
01£703
012700

012767
012767

17-RUG-76 08:!

00:05

00S634

000007
000152
005308

000007
000152

005266
140025
005556

000007
000124

167054
167052

167034
167032

166762
166744
005534
00SS22
005520

00sSie
00SS00

00sS462

00s470
DOs4e2

0OS4sY
005446

166654
166852

¢ PRAGE SI

BMI BYS
cus HLT RXDONE SHOULD BE SET
MOV IRXDBUF, R} :ACTUR
ggz EQQRI - CGMPARE ' EXPECTED vS. ACTUAL
HLT 2 +RECEIVED DATA DID NOT MATCH
'EXPECTED DATA - CHECK MAINT DATA
cs 'OR RECEIVER LOGIC
MOV 87, SHIFT .8 OF SHIFTS
MOV 8182, TEMPI DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
MOV 87 SHIFT -8 OF SHIFTS
MOV 8152, TEMPI :DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
MOV #140000725,R0  ;EXPECTED DATAR PLUS
RXERR & OVRRUN
MOV JRXDBUF ,Ri s ACTUARL
ggg EESRI :COMPARE 'EXP VS. RCT
HLT 2 :SPECIFICALLY LOOK AT RXERR 3
e :OVRRUN BITS...THEY BOTH SHOULD BE SET
SCOPE
s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: tRECEIVER SECTION.IT USES THE ERROR FLAGS
:170 DETERMINE THAY IT WRS SELECTED CORRECTLY
; ; (OVRRUN, RXERR)
: $ MODE : 1S¥YMOD
s sLENGTH:FIVE
+sCHAR: 12
TSTYY: MV 849, TSTNO sSAVE THIS
MOV e15t50, NEXT -GO TO THIS TEST WHEN THRU
BIS SMRESEY, 9TXCSR  ;MASTER RESET
MOV 81SYMOD. QPARCSR ;SET THE MODE
BIS SMRESET, TXCSR  ;MASTER RESET

;SET MAINT DATA,
MOV

-SET MODE ,8 OF
Mo¥
BIS

JO4

CLK, BREAK &nngnrenancs MODE
sHTORTAL CLK!MINTTBREAK , 3TXCSR

BITS,PARITY SENSE,8LO0AD SYNC REG
s1SYMOD!FIVE 'NOPAR' 0, 3PARCSR
8SYNSCH, IRXCSR  : SET'SYNC SEARCH

. POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....

BIC

8CLK, 8TXCSR ;1 POKE CLK DOWN
8CLK,8TXCSR :POKE CLK UP

BIS
- POKE CLSIEO GET LOGIC INTO SYNCRONIZATION

BIS
MOV
MoV
MOV
MOV

CLK, JTXCSR :POKE CLK DOWN
8CLK aTXCSR POKE CoK UF
RXDBUF ,R3 :SET UP FOR ERROR MESSAGE

812 RO’ ;EXPECTED
87 SHIFT .4 OF SHIFTS
8124, TENP] :DATA CHAR

SEQ 0046




DDUR-B MRCY11 27(1036)

DZDURD.PLI
2584 (0la272
2585 oigagg

3 015308
2588 012206
eo8% 012306
2590 Qledie
2591 0le3id
2592 012316
2593
2S5
£59%5 0le320
259% 012320
2537 012326
2598 012334
2539
cb00 012340
2601 012346
2602 012354
2603 012380
260
ce0S 0l23eM
2606 012370
2607 012372
2608 012374
2610 012376
cbll 012376
cble
ebl3
2614
cb1S
2blb
2617
cb18
2b19
cb20 012400
262l 012406
2bz2 Ole4l4
ebe3d Qlegyee
b2y 012430
2beS
cbeb
2627 012436
2bet
2629
2630 Qlc44y
2631 012452
eb3e
2633 012460
eb34 Olaubd
eb3S
eb36 012474
2637 012502
2638 012510
et39 0l1eSiN

004767
105777
100401
104090

017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

012767
012767
0s2777?
012777
052777

012777

012777
052777

042777
0se?77

042777
052777
016703
012700

17-AUG-76 08:17 PRGE Se
Q4-RUG-?6 00:00

005106
005376

005372

00000?
000124
005044

000007
000124
005024
14001e

00S314

000062
0leb4e
000400
000000
000400

064001

000000
000020

020000
020000

020000
020000
005170
000037

16kbl2
166610

572

166
166570

005236
00Sc20

005226
005220

00szie
005e04

JSR PC,RPOKE .CHIFT IN THIS CHAR
TSTB  JRXCSR ;RXDONE *
BMI BYS
s HLT -RXDONE SHOULD BE SET
MOV JRXDBUF, R1 « RCTUAL
ggz gggnx : COMPARE ' EXPECTED VS. AQCTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MAINT CATA
ccs 10R RECEIVER LOGIC
MOV 87, SHIFT 4 OF SHIFTS
MOV 8124, TENP] :DATA_CHAR
JSR PC,RPOKE tSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
MOV 7 SHIFT .8 OF SHIFTS
MOV £124, TEMP1 :DATA CHAR
JSR PC,RPOKE sSHIFT IN THIS CHAR
MOV #140000712,R0  ;EXPECTED DATA PLUS
*RXERR & OVRRUN
MOV JRXDBUF ,R1 : ACTUAL
CMP RO,R1 ' ;COMPARE’EXP VS. ACT
BEQ 664
HLT 2 :SPECIFICALLY LOOK AT RXERR &
e *OVRRUN BITS...THEY BOTH SHOULO BE SET
SCOPE
- <THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s 'RECEIVER SECTION,IT USES THE ERROR FLAGS
: 170 DETERMINE THAY IT WAS SELECTED CORRECTLY
; 3 (OVRRUN, RXERR)
;;HODE:IS?HOD
s sLENGTH:FIVE
s sCHAR: 37
15750: fdv #50, TSTNO :SAVE THIS
MOV 875151, NEXT -GO TO THIS TEST WHEN THRU
BIS sMRESEY, STXCSR  ;MASTER RESET
MOV #ISYMOD. QPARCSR :SET THE MODE
BIS SMRESET JTXCSR :MASTER RESET
:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
MOV sMTOATA! CLK!MINTYBRERK, aTXCSR
:SET MODE ,# OF BITS,PARITY SENSE,3LOAD SYNC REG
MO¥ $1SYMOD!F IVE'NOPAR! 0, 3PARCSR
BIS 8SYNSCH. JRXCSR  :SET SYNC SEARCH

B81¢

BIS
;POKE CLK TO GET
BIC

BIS
MOV
MOV

KO4

- POKE CLK TO GEY RECEIVER INTO svucnsgznrzon....

#CLK,9TXCSR  ;POKE CLK DO

#CLK . STXCSR :POKE CLK LP
LOGYC INTO SYNCRONIZATION
CLK, STXCSR : POKE CLK DOWN

sCLK . @TXCSR !POKE CLK UP
RXDB(F ,R3 :SET UP FOR ERROR MESSAGE
037,R0’ ;EXPECTED

SEQ 0049




LZDJR-B MRCYLL 27{1006}
DoDURD.PLL

2640 012520
ctdl 012526
cb4e 012534
cb43 012540
2644 D125WM
2b4S (012546
cb4s 012550
cb4? (12550
cb48 012554
2649 (012556
2650 012580
cbSl
2652
eb53 012562
2654 (l2Ske
cbSS (012570
cES6 012576
57
bS8 012602
2659 012610
ebb0 012616
cbbl 0lese?
663 012626
26ty 012632
cbbS 012634
ebbb 012636
Y4
cb68 012640
2669 0leb40
2670
2671
2672
2673
F= Y |
2675
2676
o677
c678 0lcbYe
2679 012650
2680 612656
b8l 0.2664
eb82 0125872
683
ob84

1 26BS 012700
cb86
cb87
cbB88 012706

b 2689 012714

I 2690

[ cb9] 012722
2t 012730
2693
2694 012736
ce3S 012744

012767
012767
004767
105777
160401
104000

017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002

104400

012767
012767
Qsg777
012777
0se?7?
012777

012777
052777

042777
052777

Q42777
052777

LOY

17-RUG-T6 08:17 PRGE 53

04-AUG-76 00:03

000007
000176
004644
00S134

005120

000007
000176
004602

000007
0092176
004562
140037

005052

020000
020000

166350
166346

166330
166326

166256
166240
00S030
005016
005014

005006
004774

004756

004764
004756

J04750
004742

e4y:

653:

MOV 87, SHIFT .4 OF SHIFTS

MOV 176, TEMPL :DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR
TSTB QRXCSR ;RXDONE *

BMI BYS

HLT -RXDONE SHOULD BE SET

MOV aRXDBUF ,R1 s RCTUARL

828 ggQRl ; COMPRRE EXPECTED VS. ACTUAL

ALY e ;RECEIVED DATR DID NOT MATCH
;EXPECTED DRTA - CHECK MARINT DATA
;OR RECEIVER LOGIC

MOV 87 SHIET -8 OF SHIFTS
MOV 8176, TEMPY :DATA CHAR
POKE :SHIFT IN THIS CHAR

JSR PC,RPO ;
; NOW SHI;évIN A SECOND CHARARCTER'NITHOUT READING RXDBUF

bb3:

TSTS1:

87, SHIFT .8 OF SHIFTS
MOV 8176, TEMPL :DATA CHAR
JSR PC, RPOKE *SHIFT IN THIS CHAR
MOV #140000'37,R0  ;EXPECTED DATR PLUS
:RXERR & OVRRUN
MOV JRXDBUF , R1 : ACTUAL

ggg Eginl s COMPARE 'EXP VS. ACT
HLT 2 :SPECIFICALLY LOOK AT RXERR 8

; OVRRUN BITS.,.THEY BOTH SHOULD BE SET

SCOPE

3 THIS TEST VEAirvS WORD LENGTH SELECT OF THE
s sRECEIVER SECTION,IT USES THE ERROR FLRGS

;s TO DETERMINE THRT IT WAS SELECTED CORRECTLY
; ; (OVRRUN, RXERR)

* 1 MODE : ISYMOD

+sLENGTH:FIVE

: ;CHAR: 0

Mdv %51, TSTNO sSAVE THIS

MOV 8.EOP NEXT G0 TO THIS TEST WHEN THRU
BIS $MRESET, JTXCSR  ;MASTER RESET

MOV 81SYMOD, JPARCSR ;SET THE MODE

BIS SMRESET,TXCSR :MASTER RESET

;SET MAINT DATAR,CLK, BREAK, BMAINTENANCE MODE

MOV sMTDATR!CLK!MINT!BRERK,3TXCSR

;SET MODE ,# OF BITS,PRARITY SENSE,8LOAD SYNC REG

MoV 81SYMOD' FIVEINOPAR! 0, 9PARCSR

BIS 8SYNSCH. 9RXCSR :SET'SYNC SEARCH

-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
81¢ #CLK, JTXCSR :POKE CLK DOWN

BIS $CLK ' JTXCSR :POKE CLK UP

K T0 GET LOGIC INTO SYNCRONIZATION

BIC #CLK, JTXCSR :POKE CLK DOMWN

BIS CLK JTXCSR :POKE CL¥ UP

L

SEQ 00s0




OcQUR-B MACYLL &7 (1006)
OZDURD.P11 O4-RUG-76

263% 012752 016703
2697 012756 012700
2638 012762 012767

2699 012770 Ole7h?
2700 012776 004767
2701 013002 105777
2702 013006 100401
2703 013010 104000
2704 013012
2705 013012 017701
2706 013016 020001
707 013020 0G140]
2708 013022 104002
279
2710
2711 013024
2712 DI13024 012767
2713 013032 C:2167
o714 01304 004767
2715

716 012044 012767
2717 013052 012767
2718 013060 004767
2719 013064 012700
2720
2721 013070 017701
2782 013074 020001
2723 013076 001401
2724 013100 104002
2725
2726 013102
2727 013102 104400

17-RJG-T6 08:17

00:00

004726
000000
00n0Q?7
000100
0C4432
004e72

004666

000007
000100
004340

000007
000100
004320
140000

004610

166150
leE 146

166106
166104

166066
166064

PRGE SH

MUV
MOV
MOV
MOV
JSR
1578
SMI
HLT

E-3:

MOV
cMP
8EQ
HLT

558:

JSR
;NOW SHIFY IN A
MOV

MoV
MOV

MoV
JSR
MOV

[0
CMP
BEQ
HLT

EES:

5COPE

MOY™

RXDBUF,R3 -SET UP FOR ERROR MESSAGE
80,R0 ' ;EXPECTED

87 SHIFT -8 OF SHIFTS

2100, TEMP1 :DATA CHAR

PC, RPOKE :SHIFT IN THIS CHRR
§5§CSR s RYDONE #

;RXDONE SHOULD BE SET

JRXDBUF,R1 ;ACTUAL

EEQRI ; COMPARE EXPECTED VS. ACTUAL

e ;RECEIVED DATA DID NOT MATCH
;EXPECTED DATA - CHECK MRINT DATA
;OR RECEIVER LOGIC

87, SHIFT 4 OF SHIFTS

100, TEMPIL :DATA CHAR

PC, RPOKE :SHIFT IN THIS CHAR
SECOND CHARACTER' WITHOUT READING RXDBUF
87, SHIFT -4 OF SHIFTS

100, TEMP1 :DATA CHAR

PC, RPOKE :SHIFT IN THIS CHRR

£190000'0,R0  :EXPECTED DRTR PLUS
:RXERR & OVRRUN
JRXDBUF ,R1

; ACTUAL
EEQRI ; COMPRRE EXP VS. ACT
e ; SPECIFICALLY LOOK AT RXERR &

:OVRRUN BITS...THEY BOTH SHOULD BE SET

SES 0051




NO4Y

CCOUR-B MACYLL 27(1006) 17-AUG-76 08:17 PAGE SS

DZDURD.PI11  O4-RUG-76 00:09 SEQ 00S2

2729

szgo :END _OF PASS
731 }TYPE NAME OF TEST

2732 :UPDATE PASS COUNT

2733 CHECK FOR EXIT TO ACT-11

g;gg +RESTRRT TEST

2736 013104 104402 .EOP:  TYPE - TYPE NAME OF TEST

2737 013106 016246 MEPRSS

2738 013110 104410 013342 CONVRT ,QUTCRY

2739 DI13114 104402 015767 TYPE DEVICE .

e780 013120 105767 166056 ISTS  AULTD ,ARE YOU RUNNING MULTIPLE DEVICES 7

o741 013124 CQ0I5I) BEQ ¢cC :NO, JUMP AROUND

2742 01.126 005767 166064 TST ACTREG :ARE ANY DEVICES ACTIVE ?

2743 013132 001007 BNE RUNIT : YES

2744 013134 104402 016001 TYpPE MCOW +NO

2745 013140 016700 166052 MOV ACTREG.RN :DISPLAY ACTREG

2746 013144 006000 HALT -SELECT SOMETHING TO RUN @ ACTREG:

274? -SELECT SWITCHES & HIT CONTINUE tPUT SwoB =1)

2748 01314 000167 166106 P .START :START OVER AGAIN...... YOU DESELECTED EVERYTHING
749 013152 0e2767 000010 166024 RUNIT: ADD 210, BASEADD *NEXT BLOCK (ADDRESSES)

2750 013160 062767 000010 166024 ZERC:  ADD #10,BASEIV -NEXT BLOCK (VECTORS)

2751 013166 00024} CLC )

2752 013170 006167 165024 POL ROTADD ;UP DATE ROTATING POINTER

2753 013174 103410 BCS 2% :1S IT THE LAST DEVICE

2754 70 BE TESTED IN THIS PASS ?

2755 013176 036767 166016 166012 BIT ROTADD, ACTREG - TEST THIS DEVICE FOR ACTIVE STATUS

2756 013204 001762 8EQ RUNIT :IF NOT ACTIVE, TRY NEXT ADDRESS

2757 013206 004767 000034 JSR PC, REPLAY *CALCULATE NEW’ PARAMETERS

2758 013212 000167 000174 IMP RESTRT :YES IT WAS ACTIVE, TEST THIS DEVICE

2759 013215 012767 000001 165774 28: MOV #1,ROTADD :0K',NOW SET UP ROTATING

2760 PCINTER FOR NEXT MULTIPLE PASS

2761 013224 016767 165756 165752 MOV KEEPADD, BASEADD *RESTORE BRSE ADORESS

2762 013232 016767 165756 165752 MOV KEEPIV, BRSEIV RESTORE BRSE INTERRUPT VECTORS

2763 013240 004767 000002 JSR PC,REPLAY :CALC NEW PARAMETERS

2764 013244 oooqu} BR cC : JUMP RROUND REPLAY

2765 013246 016767 165732 004126 REPLAY: MOV BASEADD, DUBASE *GET UP FOR NEW ADDRESSES

2766 013254 DON767 003770 JSR PC, DURDDR :CREATE NEW ADDRESSES

2767 013260 016767 165726 004436 MOV BASETIV, DURIV : CREATE DURIV

2768 013066 062767 000002 165716 ADD 82 BASEIV

2769 013274 016767 165712 004424 MOV BASEIV,DURIS : CRERTE DURIS

2770 013302 0&2767 000002 165702 ADD 2. BASEIV

2771 013310 016767 165676 004412 MOV BASE'V . DUTIV :CREATE DUTIV

2772 013316 062767 000002 165666 ADD 82, BASEIV

2773 013324 016767 165662 004400 MOV BASEIV,DUTIS -CREATE DUTIS

2774 013332 016767 004366 16SES? MOV DURIV,BASEIV - RESTORE

27752% 013340 000207 RTS PC

2777 013342 000001 OUTCRY: |

2778 013344 0o 002 BYTE 6,2

g;gg 013346 017700 RXCSR

2781 013350 cce:

2782 013350 00S0b7 165560 CLR LSTERR :CLEAR LAST ERROR PC

2783 013354 0OS067? 165644 CLR ERRFLG :CLEAR ERROR FLAG

2784 013360 005267 16554 INC PASCNT s UPDRTE PASS COLNT




———

BOS

cecu =B MRCYLL 27,1006 7-3" -6 08:i7 PASE St

1
ConuR0.PIl D4-AUG-TH 00:C CEQ 0083
, 013364 016”7 163542 185610 MUV PASCNT, ALIGHTS -5ISFLAY PRSS COUNT
86 013372 013701 0GI0%2 MOV FITERCH :CHECK FOR ACT-11 R DOP

2~8” 013376 COIN0S BEQ RESTAT ) - IF NOT, CONTINUE TESTING

e~88 013400 0000DS RESET .

2789 013402 02y7!l LOSICAL: ISR PC, ("""

2799 0I1N0N 009240 NGP

2791 013406 NOP

2792 OINI0 000240 NOP

™93 0I1Mi2 012767 000340 164356 RESTRT: Mo 8340,FS :PREVENT INTERRUPTS (FRIC: 7)

2T 1IN0 10WMI3 CKSKR :CHECK FOR 15

2795 D122 012767 002350 16546Y MOV 8TST1,RTRN

9% DIN30 N00167 16671H J¥P 1571

gzg% +SCOPE LOOP AND INTERATION HANDLER

280C DI1™NM .SCOPE:

2801 ;#e%d STRART OF CCDE FOR THE X OR TESTER m#sass

2802 D13%34 DOON2M BR 4§ - IF RUNNING ON THE X OR TESTER CHANGE

2803 :THIS INSTRUCTION TO A "NOP” (NOP=240)

2804 DIN® 013746 0000 MOV 384, - (SP) :SAVE CONTENTS OF ERROR VECTOR

2805 0I™N2 012737 013462 000004 MOV 818 Ja4 ssr FOR TIME ou1

2806 0I3NS0 006737 177060 ST 38177060 TIME GUT ON X OR ?

2807 C.MS4 012637 0000 MOV <sp;¢ a8y Rssrons ERROR VYECTOR

2808 01460 DOONOY BR 160 T0 NEXT TESTY

2809 0i™Mbe 022626 '8: CHP <sp)+ (SP)+ :CLEAR THE STACK RFTER A TIMEOUT

2810 013v6N 0]2637 000OMM MOV (SP)+. S84 :RESTORE ERROR VECTOR

2811 0170 000403 A BR 3s :LOOP ON PRESENT rssr

2612 0I1M72 016767 165427 1BS4I4 2§: MOV NEXT,RTRN :SET UP NEXT TEST IN RTRN

2813 01300 016716 163410 3s: MOV RTRN. (SP) SET UP STACK FOR RT!

2614 013504 000002 RTI

281S 013506 48: -##%% END OF CODE FOR THE X OR TESTER ##»¥##

2616 013506 104413 {KSwWR -CHECK FOR 16

2817 0:3X10 032777 0OHO0020 16532 8IT 8SK]4, 3SR :LOOP ON CURRENT TEST °

2818 013X16 001407 TTST:  BEQ 15

2819 013520 00OM3R A BR K}

2820 013622 105777 165356 TSTB  STKCSR s TEST TTY FLRG

£821 013526 100027 BPL k| ;

2822 013530 (17700 165352 MOV 3 TKDBR, RO :CLR DONE BIT

2823 01XM 000412 BR 2$ ‘1F A TTY KEY IS STRUCK GO TO NEXT TST

2824 01363 032777 004000 165334 IS: BIT #5111, 3SR : INHIBIT ITERATIONS °

2825 013544 001006 BNE 28

2826 01364 005267 16522 INC LPCNT

2827 013225 026767 165346 165342 CMP LPCNT, ICOUNT :CHECK FOR ITERATION CNT FINISH

2828 01 101412 BLOS 3%

2229 013562 105067 165436 28: CLRB  ERRFLG

2830 013566 005067 165332 A CLR LPCNT

2831 013572 012767 00000 1653c2 MOV 85, ICOUNT :SET UP ITERATION COUNT

2832 01300 016767 165312 165206 MOV NEXT,RTRN :SET UP NEXT TEST IN RTRN

2833 013606 016716 165302 38: MOV RTRN. (SP) :SET UP STACK FOR RTI

28M 013612 0000C2 RT1

262 01314 0CIN07 BRW: 1407 :RESTORE “BEQ 13" INSTRUCTION

gggg 013616 BRX: 432 RESTORE “BR 3§* INSTRUCTICN

gggg :CHECK FOR FREEZE ON CURRENT DATA

eB4C 013620 104412 .SCOP1: CKSWKR ;CHECK FOR tQ




r cos
DIDUR-B MRCYIL 27.1006) 17-AJG-T 08:1° PAGE §7
CSDURD.PLL DN=-RUG-T6 00:09 €EL 0C0C4
2941 013622 032777 001000 165250 BiT 8SW09, JSKR
2942 (13630 00!402 BEQ 18
2843 013632 016716 165262 MOV LOCK, (SP)
2894 013636 000002 18: RTI
qu%as’s s TELETYPE OUTPUT ROUTINE
2848 013640 01054 JTYPE: MOV RS, -(SP)
o849 01342 017605 000072 ) myv  32tSP),RS
28S0 013646 062766 000002 00052 ADD 82,2(5P)
2851 01354 105715 18: 1STB  (RS) sLOOK FCR “0*
£8S2 013656 001406 £EQ 38
2853 01360 105777 165224 28: TSTB  3TPCSR s TEST DONE BIT
2854 013664 100237% BPL 2
2855 013666 112577 165220 MOVB  (RS)+,aTPDBER - TYPE CHAR
2856 013672 000770 BR 18 D0 IT AGAIN UNTIL "C” IS SEEN
2857 01362N (12605 38: MOV (SP)+,RS
%sg 01367s D0OOUO2 RTI
2232? s#SCI1 STRING INPUT ROUTINE
286¢ D13700 010346 .INSTR: MOV R3,-(SP)
2863 013732 0i0N4E MOV RY’ -(SP)
2964 013704 017667 00000M 000010 MOV dulsp), . M6
| 2865 013712 062766 000002 0O0COCH ROD 82,4(SP)
2866 013720 109402 .INST!: TYPE
| 2867 013722 (000000 MSG: O
. 2868 013724 012704 01703 MOV 8 INBUF , RN
2869 013730 012703 000007 MOV 87 R3
2870 013734 108777 165144 18: TSTB  9TKCSR
i 2871 013790 100375 BPL 1 1
2872 813742 117718 185140 MOVB  &TKDBR, (R4)
2873 (.36 142714 000200 BICB %200, (RY)
| 2874 013782 121427 000025 CMPB  (RY). 825 1S IT QW
2875 013756 001003 BNE 2008
| 2876 013760 10W402 016156 TYPE, MCRLF
2877 01378M BR CINSTY
287t 013766 122427 00001S 2008: CMPB  (R4)+, 815
2879 013772 001423 BEQ INSTR2
2690 013774 117777 165106 165110 MOVB  STKDBR,aTPDER
2881 014002 105777 165102 28: TSTB  STPCSR
2682 gxwoos 100375 BPL 28
2683 014010 005303 DEC R3
cEod 014012 001350 18
€85 014014 000402 BR . INSTG
2886 014016 010346 .INSTE: MOV R3,-(SP)
2887 31:% 010446 MOV R4 -(SP)
2c8 01 104402 JINSTG: TYPE
2689 0I4024 016152 MOM
2890 014026 005737 015314 157 JSROSK
2891 014032 001402 BEQ 400$
2892 QIN0M 104402 018156 TYPE ,MCRLF
293 (B14040 0007 400$:  BR .INSTI
. 28 Dl4042 012653 INSTR2: MOV (5P)+,RY4
2896 0i40v4 012603 MOV (SP)+ R3
289 0J+04¢ 000002 RTI

— —— —— e
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.PRRAM:

PRRAM] :

s

PARERR:

1208:

LIMITS:

DOS

PRGE SB

; CONVERT ASCII STRING T0 OCTAL

MOV RS, -(SP)
MOV RY’ - (EP)
POV 4(8P),RS
MOV (RS)+,LOLIM
MOV (RS)+,HILIM
MOV (RS)+, DEVADR

MOVB  (RS)+.LOBITS
MOVB  (RS)+ ADRCNT
MOV RS, 4(5p)

LR RS

MOV 8 INBUF , RY
CMPB  8lS, (R4)

BEQ PARRERR
CMPB (R4, #60
BLTY PARERR
CNP8  (RYJ, 867
BGY PAREAR

BICB  #80, (RY)
BISB (R4}+ RS

CMPB 815, (RY)

BEQ BGIE

ASL RS

ASL RS

ASL RS

BR X

CMPB :ég‘(RQ) 1S FIRST CHARACTER A (CR)
?2? 8R0S 15 CKSWR ROUTINE BEING USED
BNE PRRTI

INSTER

BR PARAM|

:TEST TO SEE IF NUMGBER IS WITHIN LIMITS
CMP RS, HILIM

-

BLO PRRERR

BITB  LOBITS,RS

BNE PARERR

:STORE NUMBER AT SPECIFIED RDDRESS

MOV DEVADR, RY
MOV RS, (R4} +

ADD
DECS  RDACNT
BNE

18
MOV (SP)+,RY
MOV (S
RTI
0
0

SEL OCES




EOS

DCOUR-B MACYL] 27(1006) 1T-AUS-TE 0B:17 PRAGE 59

DZDURD.PLL 08-RUG-7d 00:00 SEQ 00SE
2953 0i4260 000000 DEVADR: 0

2954 Ol4oe2 000000 LGBITS: O

maqss 014263 ADRCNT=L0BITS+1

2957 :SAVE PC OF TEST THAT FAILED AND RO-RS
2959 0l4264 016667 00000CH 164702 .SAVOS: MOV 4(SP), SAVPC

23%5 :SAVE RO-RS

2963 Dl14272 010567 164672 SV0S: MOV RS, SAVRS

2364 014276 01046/ 16466M MOV R4, SAVRY

2965 014302 010367 164656 MOV R3. SAVR3

014306 010267 164650 MOV Re, SAVR2

2967 014312 010167 164642 MOV R1.SAVRI

2968 014316 010067 164634 MOV RO, SAVRO

2969 014322 000002 RTI

eeg;é :RESTORE RO-RS

2973 014324 016700 164626 .RESCS: MOV SAVRO, RO

2974 0I4330 016701 164624 MOV SAVRI . R1

2975 014334 016702 1b4622 MOV SAVR2. R2

2976 014340 016703 164620 MOV SAVR3.R3

2977 OI4344 016704 164616 MOV SAVRY | R4

2978 014350 016705 164614 MOV SAVRS . RS

2979 014354 000002 RTI

a‘zaE 1: -CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
aqaa“a D14356 104402 .CONVR: TYPE

2984 014360 016156 MCRLF

2985 0i4362 01004 .CNVRT: MOV RO, -(SP)

2986 014364 010146 MOV RI,-(SP)

2987 014366 010346 MOV R3,-(SP)

2388 014370 010446 MOV R4, -(SP)

2383 014372 C1054 MOV RS’ ~(SP)

2990 014374 017601 000012 MOV 312(SP),R]

2991 13& 16767 002470 164542 MOV TEMP_ TEMP3

29%2 01 gazm 000012 ROD 12(SP)

2993 0IM4i4 012167 0001S4 MOV (R1)+, WROCNT

2994 014420 112167 000152 18: MOVB  (R1)+. CHRCNT

2995 0Iv 613167 000147 MOVB  (R1)+ SPACNT

29% 01w 13167 000144 MOV 3(k1)4 BINWRD

2937 Diw3N 016704 000INC 2s: MOV BINWRD | RN

2998 0I¥M40 116705 000132 MOVB  CHRCNT.RS

2999 D144 81 017074 MOV aTEMP, RO

3000 Olw4s0 O10N03 3s: MOV R4, R3

300] 014452 0M2703 177770 BIC 8177770,R3

3002 0i4456 062703 RDD 8060, R3

ﬁ 81%3 0359 MOVB  R3, (RD)+

14464 6&2 ASR RY -SHIFT FOR NEXT

3005 0I4466 042704 100000 BIC 8100000, R4 :CLUGE TO STOP BIT 15 PROPAGATING.
goos gzwe 84‘ ASR RY ;opro
007 Oi4474 ASR RY :DITT0
3008 014476 005205 DEC RS




FOS

Co0UR-B MACYLL 27110060 17-RUG-76 08:17 PAGE 60

DZDLAD.PI1  ON-RUG-?8 00:09 SEG 0057

14 1 BNE 38

B8 818 8243 oizia BG  SRDATA.R3

3011 014506 114023 ys: MOVB  -(R0),lR3)+

3015 014510 10S36° 000062 DECB  CHRCN

3013 OI4E14 001374 BNE 4§

3014 014516 105767 0000SS TSTB  SPACNT

3015 014522 001405 8EQ 6

3016 014524 112723 000040 5§: MOVB 8040, (R3)+

3017 014530 105367 DODO43 DECB  SPACAT

3018 Ol14534 001373 BNE 5§

3019 014536 105013 BS: CLRB  (RY)

3020 01440 108402 TYPE

3021 Ol4s42 017134 MDATA

3022 D145 7 000024 DEC WRDCNT

3023 014550 001323 BNE 1$

3024 014552 016767 164372 002314 MOV TEHP3 TEMP

3055 014560 012605 MOV (SP)+.RS

3026 014562 012604 MOV (SP)+ R4

3097 01456M 012603 MOV (5P)+.R3

3008 014566 012601 MOV (SP)+. Rl

30°9 014570 (012600 MOV (SP)+. RO

3030 014572 D000Ge RTI

3031 014574 DO00OO0 WRDCNT: n

3032 014576 000000 CHRCNT:

3033 014577 SPQCNT-CHRCNT+1

gggg 014600 000000 BINWRD:

303% ;COMPARE_THE FIRST CHARACTER IN THE TELETYPE INPUT

037 BUFFER TO THE CHARACTERS “N* AND “Y

3038 tIF THE CHARRCTER IS “N* CLEAR THE anc

3039 :IF THE CHARACTER IS ~Y* SET THE FLAG

5649 0i4%02 017605 000000 .SETFLG: MOV 3(SP),RS

3042 014606 122767 000116 002220 CMPB l'N IR8UF :1S IT “N* 2

3043 0l4614 001002 BNE

3044 014616 10501S CLRB (RS) - 000

304 014620 000406 BR 2$

04 0l46c2 122767 000131 002204 1S: CMPB  8'Y,INBUF IS IT »y* ?

3M? 014630 001005 BNE 3s

3048 014632 112715 177777 MOVB  8-1,(RS) . 377

3049 014636 062716 000002 28: ADD 82, SP)

3050 Oiwe42 000002 RTI

3051 014644 104408 3s: INSTER :RETRY

3052 0l4646 000755 BR .SETFLG

3053 - TRAP DISPATCH SERVICE

3054 :ARGUMENT OF TRRP IS EXTRACTED

3055 :AND USED RS OFFSET TO OBTRIN POINTER

gggg :T0 SELECTED SUBROUTINE

3058 014650 011646 .TRPSR: MOV (SP),-(SP) sGET PC OF RETURN

3059 0J465e 162716 000002 SUB 82, (5P) +=PC OF TRAP

3060 014656 017616 000000 MOV a(QP) (SP) :GET TRP

3061 0l466e 006316 TRPOK: RSL ‘MULTIPLY TRAP mc BY 2

3062 OI466M 042716 177001 BIC 0177001 (SP) :CLERR UNWANTED BITS

3063 0I470 062716 001226 ADD 8. TRPTAB, (SP) :POINTER TO SUBROUTINE RDDRESS

2064 014674 017616 000000 MOV 3(SP), (SP) {SUBROUTINE RDDRESS




DIPUA-B_MACY1L av:zg ) Jr-AUs-TH 08:1T7 PAGE Bl
CBURD.PIL 0N-AUG-Po 00:00 €EQ 0058
3065 014700 0COL36 IMP J(SP)+ 50 TO SUBROUTINE
gggg :ERROR HANDLER
3069 0I4702 104M13 JHLT:  CKSWR :CHECK FOR 1G A
3070 014204 032777 020000 164168 BIT #5W13, ISWR : INIBIT ERROR TYPE OUT ?
3071 014712 001061 BNE HALTS
3072 O0I4714 021667 1BM21M CHP (SP), LSTERR
3073 014720 0OI4OM BEQ 18
3074 014722 011667 164206 MOV (SP),LSTERR
014726 105067 164272 CLRB  ERRFLG
3076 014732 109406 18: SAVOS
3077 0l473 011605 MOV (SP).RS
3078 0I473% 162705 000002 SUB 82, RS
014742 011504 MOV (RS, RY
3080 014744 006304 ASL RY
308] 014746 06]504 ADD (RS),RY
3082 014750 ASL RY
3083 018752 QN2704 177001 BIC $177001, R4
3084 014756 062704 017650 ADD 8. ERRTAB, RY
3085 014762 012467 000040 MOV (RY) +,ERRMSG
3086 0l4766 012467 DOOOYG MOV (R4)+. DRTAHD
3087 014772 011467 00COSH MOV (RY),DATRBP
3088 014776 105767 164222 TSTB  ERRFLG
3089 015002 001403 BEQ TYPMSG
3090 015004 005767 0000M2 ST DATABP
3091 015010 001014 BNE TYPDAT
3082 015012 104410 TYPMSG: CONVRT
3093 015014 O0ISI4M ERTABO
30 015016 112767 177777 164200 MOVB  8-1,ERRFLG
309 015024 108402 TYPE
30% 015026 000000 ERRMSG: 0
3097 015030 00S767 00000 ST DATAKD
3098 0150 001402 BEQ TYPDRT
3099 01503% 104402 TYPE
3100 015040 DATAHD: 0
3101 015042 005767 0000OM TYPDAT: TST DATABP
3102 01504 001402 BEQ RESREG
3103 015050 104410 CONVRT
3104 015052 DATABP: 0
3105 015054 10M4G7 RESREG: RESOS
3106 015056 005777 164016 HALTS: TST JSWR
3107 015062 100005 BPL EXITER
I 3108 015064 010046 PUSHRO
3109 015066 016600 000002 MOV 2(SP),R0
. 3110 015072 000000 HALT
| 3111 015074 012600 POPRO
3112 015076 10413 EXITER: CKSWR :CHECK FOR G
3113 015100 00S26? 164026 INC ERRCNT
3114 015104 000400 163766 BIT £5L08, ISKR :LOOP ON ERROR ?
3115 015112 001007 BNE 1§
3116 015114 (0302777 002000 163756 BIT 85410, ISR :ESCAPE TO NEXT ON ERROR ?
3117 015122 001407 BEQ 28
. 3118 01514 016767 163766 163762 MOV NEXT, RTRN :SET UP FOR NEXT TEST
| 3119 015132 012706 001100 18: MOV sSTALK, SP ‘REINITIALIZE SP
2120 01513 000177 163752 IMP SRTRN




DcDUR-B MRCY11 27(1006}
DZDURD.PLL 04-AUG-76

312l 015142 000002

3122 Qi51w  00000]
3183 018146 006
3124 015150 001174
3125

3126

3187

3128 015152 010046
3129 015154 010146
3130 015156 010246
3131 015160 010346
3132 015162 OI10M46
3133 0615164 010946
314 015166 016746
3135 0iS172 010667
31% 015176 012767
3137 015204 000000
3138 015206 000777
3139

3140

3141

3142 015210 016706
3143 015214 012605
3144 015216 012604
3145 015520 012603
3146 015222 012602
3147 015224 012601
3198 0iSee Qieen]
3149 0153310 01276

3150 01523 012767
3151 0152%4 015706
3152 015550 Q05067
3183 015264 005267
3154 015260 001375
3155 016262 1OMM10
3156 015264 015306
3157 016266 109402
3158 015270 016161
3159 015272 005067
3160 015076 005067
3161 015302 000177
3162 015306 0000D)
3163 015310 _ 006
3164 015312 001114
3165

3166

3167

3168

3169

3170 015314 (0000CO
3171

3172

3173 015316 00S737
3174 015322 001042
3175 015324 022767
3176 015332 001036

T-AUG-T6 08:17

00:00

00e

162632
163774

015210 162620

163756

162566
162532

eBgss
TReET

163726
163606
002

000042
000176 163546

2s:
ERTABO: |

PFRIL:

18:

RESTAR:

18:

PFTAB:

.CKSKR:

HOS

PRGE 62

Rl

.BYTE b&,2

SAVPC

*ENTER HERE ON POWER FRILURE

MOV R0, -(SP) :SAVE RO-RS ON PROCESSIR STACK
MOV R1.-(SP)
MOV R2,-(SP)
MOV R3,-(SP)
MOV RH,-(SP;

MOV RS, ~(SP
MOV 24,-(SP)

MOV SP! SRVSP :SAVE STACK POINTER

MOV sRESTART, 24 :SET UP FOR POWER UP TRAP
HALT *HALT ON POWER DOWN NORMAL
BR 18

:PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED

MOV SRVSP, SP :RESTORE STACK POINTER
MOV (SP)+ RS :RESTORE RO-RS

MOV (5P) 4+ RY

MOV (SP)+,R3

MOV (SP)+.R2

MOV (SP)+.RI

MOV (SP)+'RO

MOV 8.PFALL, 24 :SET UP FOR POWER FAILURE
MOV 8340, PS

MOV eSTALK, 5P

CLR TEMP

INC TEMP

BNE I

CONVRT

PFTAB

TYPE

MPFAIL

CLR ERRFLG

CLR LSTERR

{np JRTRN

_BYTE 6,2

RTRN

‘S?EESCST§§°” REGISTER ROUTINE. CHECKS FOR 1G TO ALLOW CHANGING
: LOCATIONS &szo:o

ROSW:  .WORD

ST Jnu2

8NE ouT

CMP 8SWREG, SWR :SOFTWARE SWITCH REGISTER PRESENT
BNE ouT :NO, GET OUT

SEQ 0059




105

OCDUR-B MACY1L 27(1006) 17-RJG-76 0B:17 PAGE 63

DZDURD.PL1  ON4-RUG-76 00:00 SEQ 0060
3177 O0IS33 105777 163544 TSTB  JTKCSR : 1ES,WAIT FOR
3178 015340 100033 BPL ouT 'RERDY, GET CHARACTER
3179 015342 017767 163540 176352 MOV JTKDBR, . MSG tAND STRIP OFF
3180 15350 042767 177600 176344 BIC £177600, . MSG : THE GARBAGE
181 018286 122767 0C00C7 176336 CMPB 87, .MSG (1S IT A <G
3182 015384 001021 BNE out
3183 015366 [04402 015444 TYPE, SCNTG
3184 015372 005137 015314 .CNTLU: COM J4RDSW
3185 015376 104402 015451 TYPE, SMSWR
3186 015402 1044i1 015436 CNVRY, SHREGC
3187 015406 104403 01546l INSTR. SMNEW
3188 015412 10- 0S PRRAM
3189 015414 00C.0D 0
3130 QI1SM1e 177777 177777
319] 015420 000176 SWREG
3192 Q018422 000 001 .BYTE 0,1
3193 0IS424 104402 016156 TYPE, MCRLF
3194 Q015430 005037 015214 OUT:  CLR J8ROSW
3195 015434 000002 RTI
319 01543 000001 SWREGC: 1
3197 D1S440 006 002 BYTE 6,2
3198 Ol5442 000176 SWREG
3199 0l5444 00S01S 043536 000 SCNTG: .ASCIZ <15>¢12>/16/

3200 015451 015 0S1412 051127 S$MSWR: .ASCIZ <155¢12)/SWR= /

3201 015456 020075 000

3202 015461 040 D47040 0S3505 SMNEW: .ASCIZ / NEW= /

3003 015466 020075 000

3004 015472 .EVEN

3005 015472 005015 042012 030525 MTITLE: .RSCIZ <15)¢12><12>/DUl1l DZDUA-D TAPE A /<15><12)
3206 D15500 1 0SSI04 052504

3207 015506 026501 020104 040524

3208 015514 042520 ONO4Y4D 006Y40

3209 015522 000012

210 015524 00S0I5 042526 052103 MVECTO: .RSCIZ  ¢<15>¢<12>/VECTOR RDDRESS-/

3211 015532 0S1117 040440 042104

3012 015540 042622 051523 0000SS

3213 015546 005015 O0Si¥l 020124 MREGRD: .RSCIZ «<15>¢12>/1ST DEVICE: RECEIVER CONTROL REGISTER RDDRESS-/
P14 DISE5M 042504 044526 042503

3215 015562 020072 042502 042503

216 015570 0S3111 0S1105 Q41440

217 015576 ON7117 OS11o4 Q46117

3218 015604 0SI10M0 043505 0S1511

3219 015612 04254 020122 042101

3020 015620 051104 051505 026523

3221 015626 000

3222 015627 015 040412 042522 MMULT: .ASCIZ <15>¢12>/ARE YOU RUNNING MULTIPLE DEVICES ? (Y OR N)-/
3023 015634 054440 052517 051040

3224 015642 047126 044516 O43E16

2225 015650 O46N40 (46126 Q44524

3c2h 015656 (46120 020105 (042504

3c27 015664 044526 042503 020123

3028 015672 020077 054450 047440

3229 015700 020122 B24516

3230 013706 00501S 040514 0S2123 MLASTD: .ASCIZ ¢15>¢12>/LAST DEVICE:RECEIVER CONTROL REGISTER ADDRESS-/
2031 016714 Duq2040 053105 04ISI1

3232 015722 035105 042522 042503




e . G i et S—

JO5

C20UR-B MACY1! 27(1036! JG-76 08:17 PAGE &4

DZDURD.P1I O4-RUG-76

17-R
00:00 SEG 006!
3233 015730 053111 051105 041440
83 e

3234 015736 (047117 Q4s117
gagg 15794 851 0 g5 0515811
2 16752 (42Sed 020l2e (042101
3237 015760 051683 0S1505 0265e3

3238 015766
3239 015767 075 042504 044526 DEVICE: .RSCIZ /=DEVICE /

gg%? 15774 0%8803 86084 809
4 16001 ! YOle 053517 MCOW:  .RSCIZ <15>¢12>/HOW NOW BROWN COW? ...SELECT SOMETHING TO RUN @RCTREG/
3242 016006 047040 0S3S17 041040
3243 016014 047522 Q47127 Q41440

3244 016022 0S3517 020077 027056

324S5 016030 0S14S6 046105 041505

3246 016036 020124 047523 Q42515

3247 016044 0O44led 047111 020107

3248 016052 047524 0S1040 047125

3249 016060 040040 041501 0Slied

3250 016066 043505 000

3251 016071 015 047412 052125 MRANGE: .ASCIZ <«15>¢12>/0UT OF RANGE:RE(YPE LAST DEVICE RXCSR ADORESS-/
3252 016076 047440 020106 O40S2e

3253 01104 043516 035105 042522

3254 016112 0S4Se4 042520 046040

3255 016120 O0SiS01 020124 042504

3256 016126 044526 042503 0S1040

3257 016134 041530 0S1123 040440

3258 016142 042104 051523

3259 016150 0000SS

3260 016152 020040 000077 MGM: ASCIZ 7

3261 016156 00S01S 000 MCRLF: .ASCIZ 1Sl

3262 01blbl C40 0S0040 053517 MPFAIL: .ASCIZ -~ POWER FRILURE, PROGRAM RESTART AT TEST IN PROGRESS/
3263 016166 051105 043040 Q44S0l

264 016174 0SeSIN  OM2522 020054

3265 016202 051120 043517 040See

3266 016210 020115 OM pS2le3

3267 01b2le6 051101 Q20124 0S2101

3268 016224 0S2040 051505 020le4

3269 016232 047111 0SO040 Q47522

3270 0le240 051107 0S1S0S 000123

3271 Olbede 00S01S 047105 020104 MEPRSS: .ASCIZ «15><12>/END OF PRSS TAPE R/
3272 016254 043117 050040 0S1501

3273 016262 020123 040524 042520

3274 016270 040440 000

3275 016273 015 0510!2 000 MR: .RSCIZ <«iS>12>/R/

3276 016277 015 0S20j2 0S150S MTSTPC: .ARSCIZ <15><12>/TEST PC-/

3277 016304 020124 041520 0000SS

3278 016312 00S01S O47Si4 045503 MLOCK: .RSCIZ «<15>¢12>/L0CK ON SELECTED TEST? (Y OR N)-/
3279 016320 Q47440 020116 042523

32680 016326 042514 052103 042105

3281 016334 052040 0S1S05 03

3c82 0le34e 0240M0 020131 0S1117

3283 016350 047040 026451

3284 016355 015 042012 020125 MLEVEL: .RSCIZ <15>¢12>/DU PRIORITY LEVEL-/
3285 016362 051120 Q47511 Qu4See

3c86 016370 0S 046040 053105

3287 016376 046105 0000SS

3288 016402 005015 020043 043117 MSYNC: .ASCIZ <15>¢12>/# OF SYNC CHARS SELECTED ( 1 OR 2)-/




CL0UR-B MRCYLL 27(1006)
O4-AUG-76 00:00

DZDURD.P11

38

BuBEEEEELE
OO NN LW—-O

RER

016410
018416
0l6424
016432

17-RUG-76 08:17

Q47131
051101
042514
024040
020122

020103
0201e3
052103
030440
024462

0S1440
Q44515
050115
020066
QS4450
024516

0S1440
041505
Q42520
044440
020131
026451

020123
046103
041101

KO5

<15)¢12>/1S SEC XMIT JUMPER #6 IN? (Y OR N)-/

«15>¢12>71S SEC REC JUMPER 85 IN? (Y OR N)-/

(15>¢12>/1S OPT CLR ENARBLE JUMPER #4 IN? (Y OR N)-/

<15><12>/ARE YOU RUNNING IN MRINT MODE EXTERNAL?/

CISX<12>C1X/AND ..... DO YOU HAVE THE EXTERNAL MODEM BYPRSS/

(15>¢<12>¢1>/JUMPER CONNECTOR ON ?(Y OR N)-/

; BUFFERS FOR INPUT-OUTPUT

PAGE &S
MWIRES: .ASCIZ
MWIRES: .ASCIZ
MWIREY: .RSCIZ
MEXTT: L.RSCII

.ASCII
.ASCIZ
.EVEN
INBUF: .BLKB
TEMP: .BLKB

40
40

SEQ 00e2




DZDUR-B MACYLL 27(1006)
04-AUG-76 00:00

D20URD.P11

3345
3346
3347
3348
3349
3350
3351
3352
3353
3354
3355
3356
3357
3358
3359
3360
3361
3362
3363
3364
3365
3366
3367

017134

17454

017470

000040

000240
000200

016767
005267
016767
005267
016767
016767
005267
016767
0167&;

00526

016767
005267
016767
005267
016767
00S267
016767
000207
000000

042777
0CS067
006067
006067
006267
042767
056777
042777
052777
005367
001346
000207

000044

040000
161530
161522
161520
161514

161502
020000
020000
16145¢

000020
000012
0CoCo4

ooo422
000412

000402
0004CO

0003564
000362

0003S2
000342
000332
000322

000302

161506
000246
000240
000232

LOS

17-AUG-76 08:17 PRGE 66

MDATR: .HBLKB 40
SRR R R R R SRR AR RS RN R RS RRRE

;UTILITIES
SRR R R R AR R 4R

s THIS UTILITY CALCULATES PRIORITY LEVEL

BULEV: ASL OUPRT  ;SHIFT LEFT

ASL DUPRT

ASL DUPRT

as([ DUPRT !

ASL DUPRT  :

MOV DUPRT,LESS! MOVE THIS TO LESSI
SUB ], LESS] : CREATE LESSI

g%g 337 LESS1 ' CLEAR TNZVC

DUPRT: LEVELS
LESS1: LEVELY ;LEVEL TO ALLOW INTERRUPTS

:NEW DU ADDRESSES
DUADDR: MOV DUBASE,RXCSR  ; XXXO

INC DUBASE

MOV DUBASE,HRXCSR 3 XXX1
INC DUBASE’

MOV DUBASE,RXDBUF  ; XXX2
MOV DUBASE,PARCSR  ; XXX2
INC DUBRSE’

MOV DUBASE,HRXDBUF ;XXX3
MOV DUBARSE . HPARCSR  ; XXX3
INC DUBASE

MOV DUBRSE, TXCSR 3 X¥X4
INC DUBASE "

MOV  DUBASE,HTXCSR  ;XXXS
INC DUBASE’

MOV DUBASE,TXDBUF  :XXXb
INC DUBRSE'

MOV DUBASE, HTXDBUF 3 XXX7
RTS PC

DUBASE: O

:THIS UTILITY POKES THE MAINT DATA ansso UPON THE
s INFORMATION CONTAINED IN TEMPI AND IT IS
:GHIFTED IN BY THE CONTENTS OF SHKIFT
RPOKE: BIC $MTDATA, ATXCSR
CLR TEMP2
ROR TEMPI  ;FORCE CARRY
ROR TEMP2  :PICK UP CARRY IN BIT 15
ASR TEMP2  :SHIFT INTO 911 14
IC 8BIT1S, TEMP2  ;CLR BIT 1S
BIS TEMP2 JTXMSR  :POKE MRINT DATA
IC #CLK, 9TXCSR :POKE CLK
IS sCLK 9TXCSR ;
EC SHIFt
NE RPOKE
RTS PC

; THIS ROUTINE CALCULRTES 00D SARITY FOR AN B8 BIT CHAR

SEQ 00&3

— a — - —— ——— - ——— —— —— e —— p—— —— —




3401
3403

&

?HO?
S408
3409
3410
3411
3412
3413
3414
3415
3416
317
3418

CcOUR-B MACYIL 27
O20URD.P1L

017472
017500
017504

017213

017516

017554

017556
017564

017646

017650
017652
017654
017656
0176860
017662
017664
017666
017670
017672
017674
017676

016767
00S067

e

005567

042767
000207

016767
00S067
0127¢?
000000
006067

005567
005367

{1006)
04-RUG-76 00:00

17-AUG-

161446
161444
00C010

161430
161426
177762
161414
000400

000400

1612362
161360
000010
161344
161342
177762
161330
000400

0oo400

000002

MOS

76 08:17 PAGE 67
161446 0DDB: MUV TEMPL, TEMP2 SAVE TEMP]
CLR TEMP3'
MOV 88., (PC)+
13: 0
23: ROR TEMP2
ADC TEMP3
DEC 18
BNE 23
ROR TEMP3
BCS 33
161400 gés :gxre ,TEMP1 +SET 0DD PARITY
161370 38: BIC 88178, TEMPI :CLR EVEN PARITY
-TEMP1 NOW HAS ODD PARITY CHARACTER
4§: ATS PC
- THIS ROUTINE CRLCULRTES EVEN PARITY FOR nn 8 BIT CHARACTER
161362 EVENS: TEMPL, TEMP2 :SAVE TEMP]
CLR TEHPB
MOV 88., (PC)+
18: 0
28: ROR TEMP2
ADC TEMP3
DEC 1§
BNE 23
ROR TEMP3
BCC 3s
161314 gés uglre , TEMP1 :SET EVEN PARITY
161304 38: BIC 88178, TEMPL :CLR ODD PARITY
. h;gnpl Ngg HAQ EVEN PaR1}Y CHARRCTER
TRPREG: ADD 82, (SP) ;ALLOW IT TO "CRUNCH" INTO HLT BACK
o1t :IN MAIN PART OF THE PROGRAM
:ERROR HLT TABLE
.ERRTAB: gno :HLT 0 BIT ERPOR (GENERAL)
0
EMI :HLT 1 REGISTER ERROR
OH1
DT1
EM2 sHLT 2 RECEIVER ERROR
i
En? :HLT 3 TRANSMITTER ERROR
DTl
-DEFAULT DU RDDRESSES
RXCSR: 160040
HRXCSR: 160041
RXDBUF: 160042
HRXOBUF 160043
PARCSR: 160042
HPARCSR: 160043
TXCSR: 160044

SEQ 0064




<0UR-B MRCYL!l 27(1006)
04-RUG-76 00:00

DZ0URD.P11

457
3458

017716
017720
017722

017724
017726
017730
017732

017734
017742
017750
017756
017764
017772
020000
020006

020121
020126
020134

020142
Cz014Y4
020146

160045
160046
160047

000770
000772
000774
000776

036440
0S111?7
036440
0SIS1i
051108

105
042524
gselis
000003

0
001164

17-AUG-76 08:1

04440
CS004Q
051040
Q4e524
047522
005015
0S1511
000040
051040
042526
Q47522
005015
051511
000040
052040
Q44515
04e440
050040
042See
051105

050130
020104
040525

0o
004
coe

0tilee
000103
Q4350S
020122
02012¢e
051001
O425eH

041505
020122
0201¢e2
051001
O425eu

040See
0Sele4
0Sl11ee
006503
044507
020040

041505
040440
000114

¢ PRGE

HTXCSR:
TXDBUF :

HTXDBUF :
DURIV:

DURIS:

DUTIV:

DUTIS:

EMO:

EML:

EMe:

EM3:

DH!:

EVEN
DTI:

.END

NOS

68
160045
160046

160047
;DEFAULT DU VECTORS
270 -REC INTR VECTOR
772 ‘REC INTR STATUS
774 :XMIT INTR VECTOR
776 :XMIT INTR STATUS

: ERROR MESSAGES
"8SC1Z 7/ = ERROR PC/

.RSCIZ

.RSCIZ 7/

.RSCIZ 7/

;DATA_HERDERS FOR ERROR MESSAGES
ASCIZ /EXPECTED ACTUAL/

éDRTR TABLES FOR ERROR MESSAGES

.BYTE 6,4
SAVR3 ghscxsren

. 4
SAVRO -tépecrzo DATA
SAVRI  ;ACTUAL DATA

REGISTER ERROR PC/<¢15>¢12><(1>/REGISTER /

RECEIVER ERROR PC/<15><12><1>/REGISTER /

TRANSMITTER ERROR PC/<15><12><(1>/REGISTER ~/

SEQ 008S




1T=RCs-TE 08:17 PRGE "C
CROSS REFERENCE TARBLE -- USER STMBOLS

-
CooUR-B MACYIL 27,1006
ODURD.PLL ON-RUG-TE 00:029
R 0C294% 385
CTRES OClclb 8CTe
QORCNT= D1weE3 2507

SERD %1209 ad2s
Iv 1212 80Ss

B8 001664 936
BINRD 014630 2936+
BITW = 002000 7178
BITD = DOO0QO! bbSs
BX7. = D000Ge bk4s
BIT10 = 002000 65Ss
B:Ti1 = DONOOC £S4s
Bill2 = 010000 6S3s
3i713 = 022000 652s
EITIS = DN0000 £Sis
BIV1S = 100000 6508
BITZ2 = DOOOON 6638
8173 = D000I0 (Y ¥] ]

t BITY = 000020 bbls
BiYS = DOOONO 6604
BIT6 = 000100 659¢
BIT? = 000200 6588
28178 = 00ONC 6578

'BIT9 = 001000 &568
BREAK = D0J0C1 3753'

| BRM 013614 1029
BRX 01316 1030

| <ARDET= 110000 bEls
cce 013350 274!

I CHRCNT DJNS78 oNe

!CKSHR = 1(M413 B849s
LXK = 0e0000 7168

i 2203

i o943

l c6e?
CNTLU = 10M414 gS1s
CNVRT = 10W4]1 B4Ss

* CONVRT= 104410 8438

FCOUNT 001142 7788

| CTS = 02200 6808
CRTABP (15(S2 30L7s
OATAHD 015040 3086#
DEVROR (14210 2905+
DEVICE 0157t7 €739

'+ DM} 0e0icl 44l

+ CISPRE 00074 7468
CLIGHT= 177870 6358
DG = 100000 7148

» DN INT= 000040 7218

*peC = 100000 6788
DSINTE= wBas
SR = 00} tLB4s
DSWR = |77270 348

. DR = 000072 b3cs
A S 020142 3442

r ——— .

9§37
246
919s
929+

- 92 )
as?
276t

1627
1594

l
l

NNNLE L
LNOre—~

S
B
l
l
i

1605

718

1344
e43S

959+

3623
2’87

1634

1414
1276

1154

BO6

2742
S6E+
2768¢

1644

3413

1350
2569

[V 1oV IA Vol MY ]
i

[ o 2t

@ LU

R

u
>

236b#

1419
1281

1159

274s
2749#
2769

1660

1467
1487

3428

1352
cba?

rony—
o
~O £

2370+

1421
1283

1165

27ss

27kle
e2770#

1667

1469
1432

oo 2
AR 8-

1170

2765
2771

1677

1494

1640

NNNE
ggn

2

cySl#

1883

277

1658

1355

e773

1673

2199
2365

33N

2774+

2123

0

SEG 00e6

2153

2202
2442
2579




CIDUR-B MACYIL €
CoTURD.PLI
DURCDR 017
DUBRSE 017432
DULEY  QI717Y
DUPRT 017244
DURIS 017728
DRIV 017784
OCTIS 017732
UTIV 017730
EJGHT = DOB0OC
£ 0177M
EMI 017750
22 020012
EX3  L;00SH
ERRCNT 001132
ERRFLG 001224
ERRMSG 015026
ERTAB0 D15]44
EVENE 017556
EVEPAR= 001400
EVPAR = OODN00
EXITER 015076
FIVE = (00000
FRMERR= (020000
| LTS 015056
- HOXEN = 000010
HILIM 014256
(B 001
| HPARCS 017712
| HRXCSR 017702
| HDOBU 017706
HIXCSR 017716
HTXDBU 017722
\ ICOONT 001122
| INMF 0170
| INIFLG 001222
INSTER= 10NNON
" INSTR = 10403
INSTR2 014042
1SYM00= DO00O0
JMREY 001203
KEEPRD 001206
KEEPIV 001214
. LASTRD 001210
LESS] 017246
LEVELO= 000000
LEVEL1= DDOOMG
LEVEL2= 000100
LEVEL3= 000140
LEVEL4= 000200
LEVELS= 000240
LEVELB= 000300
LEVEL?= 000340

-
"
¥
-
wn

8
R

04-RLG-76 00:02

1T-RJ.-"b 08:17
918 ovhb
914 917

3374 3375#
984 33518
981 J3S1e

2769 34628
925 928

e773% 346N

e771%  4b3e

70398 cled

N3?7 4668

3440 34688

N3 3474s

JN4b 33808
7718 870#
R17s 869+#

3035 30968

3083 diczs

Hite
71es
701a

3107 3lles
7068 2195
6978 1773

3071 31068
7238 1362

204 9™
7768 183;

20s0 206

1099  3372%

1069  [S'WMe

1084% 237 1#

1114#  1605#

1129+ 3380#
767 2827
932 3%
B1Ss 875
83Ss 1000
8338 09

1047 3'87

879 Xyl |
7068 2149
796s 1018
B0J3s 917
8068 928%
BONS 946

3356% 33S7%
6758
6748
6738
£728
6718 236}
6708 3380
6698
bbBs 1085
7568 830+#

PRGE ?
CROSE REF
JJ64s
o eS* 3364
3376 3377
3352 3363+
929 2767+
2156 2438
3113+
2783¢ 2829+
eSiy 572
1363 1367
29528
éggl 1664
3 2099
34SSs
33668  34S1s
3453
3376%# 34578
J459s
2831+
2868 2910
8784
2929 3051
920 330
2156 2s07
1656 1872
919 963
2762
5?7 971
33S8%  33bls
1980 1095
£8ss  278S#

3365¢#
3378

3354+
2’74

3 7S

2630

1368
1674

3042

Eal

2514
%5

1110

CO6

l
ERENCE TRBLE -- USER SYMBOLS

3366 3367%
3379« 3380
3355+ 3356
34bls

3088 3094+
ctes

1373 1375
1888 1910

3046 3343
%6 976

2565 2s7¢e

276l

1125 1553

SEa 0087




D06

CoOUR-B MACYLL 27.1006: 1T-RUG-T6 08:17 PRGE 72

CZDURD.P11  ON-AUG-76 00:03 CROSS REFERENCE TABLE -- USER SYMBOLS SEC 0Ce8
LINITS 014204 2520 2934s
LOBITS 014262 £906% 2938  2954s 29§
LOCK 001123 7bb8 2843
LOSICA OIM02 27898
LOKFLG 001225 Bl8s 1037 1038
LOLIN  G14259 2303« 293  2%51e
LPCNT 001124 7688 Bebw PRkt 2827  2B30%
LSTERR 001134 7708 871 2vB2¢ 3072 3074 3160k
MRSK] 007236 19438
MRSK2 007254 19438
MRSK3 D073 19831
ned 01600] 794 32418
MCRLF 016156 76 2892 2984 3193 326!s
MOATA 017134 3010 3021  33ce
01624 2737 3°ls
MEXT_ = 010000 7280 1658 1673
7 018y 1016 33178 _
WINT = D0MO00 7278 1625 1640 2123 21€3 2192 2273 2354 2436 2511 2569 2627 2685
MLASTD 015706 d2 30308
MLEVEL 016355 Q77 B4e
MOCK  DIE3l2 1636 32788
MILY 015607 93] 30228
WPFAIL 01616] 3158 39628
MaM 016152 2889 30608
R 016273 1067 32758
316071 %7 30518
MREGAC 015546 910 32138
MRESET= 00400 7188 1160 1193 1226 1259 282 1305 1328 1351 1374 1397 i¥20 1443
468 1493 1516 1839 1573 1S4 1578 1579 1589  1B0M 1639 1672 1688
1700 1712 1724 1736 1797 1760 177¢ 1784 179% 1808 1836 1850 1867
2118 2120 2148 2150 2187 2133 2268 2270 2349 2351 2430 2M32 2506
2508 2564  2Sbb  ob22  oedM  obs7 2682
MCYNC  Di6402 39]  3288s )
MTDATR= 040000 7158 1827 1528 1532  153C 1538 1S40 1625 1630 1638 1658 1663  1E7!
2123 2153 2192 2273 2359 2436 2611 2563 2627 2685 3387
MTITLE 015472 877 32058
MTSTPC 016277 1048 32768
D 001202 7978 933 9 1026 2740
MVECTO 015524 921 32108
MdIREY 016563 1012 3309
MIRES 016616 1008 33028
M{REE 016450 1004 32558
001116 76ce  1063¢ 1078% 1093+ 1108% 1123» 1138 1147%  1180% 1213¢  1246*  1269%  1292%
1315¢ 1338% 13i% (389 1407% 1430% I455¢ 1480% 1S03¥  1SPb% 1549  1S72%  ISEGH
1bo4s  1BS3e  1687¢  1699%  I710¢  1723% 1739 1746 1759%  1771%  1783% 1795  1B06#
183 189 lSSe 2117 2474 21gbk  2eb7v  23es 2923 205k el 2l 79
NOPAR = DLON0Q 7108 2126 2156 2195 2276 2357 2438 2514 2572 2630 2688
0D0PAR= 001000 7118
| 0008 017472 34018
ONCE 00136 8% 8798
| OPTCLR 00120} 79%% 1014 1163 119 1229 1556 1S90 18Il
015430 3174 3176 3178 3182  3I34s
QUTCRY 013342 2738 27778
CUTHUL 002024 939 964 9758

1875 2009 206! 2110s

=
3
3
R




17-AUG-T6 08:17

DoDUR-8 MRCYLL 271008
D<ODURD.PLL Q4-RUG-76 00:09
g 88 1928
1930
6968
s 10“905 837
PﬂRﬂHl 014110 290Ss
PARCSR 017710 1096#%
2S07#
PAREN = 001000 700s
PRRER = 010000 6988
PRRERR (lIu41bN e9le
PARTI DOl4c46 28
PRSCNT 001130 708
PFTRB 015306 3156
POPR] = 012600 bY4s
POP1SP= 00S726 bycs
POP2SP= 022626 4B
PS = 177776 b36s
PUSHRO= 010046 6438
PUSH]S= D0S746 b4ls
P s 46 B4Ss
DiS3iy 2890
RECRCT= 6828
2314
REPLAY 013246 - 4-Y4
RESREG 015054 3102
RESTAR (015210 3136
RESTRT OQiNMle 27’58
RESOS = 1049407 B4ls
RING = OM0000 6798
RINTEN= DOC100 6878
ROTRDO 0012290 8108
RPIKE 01740 2207
2602
RTRN 00l1iN 7648
216N
RTS = (000004 6Sls
RMNA = 000090 1
RUNB = saass | 20
RUNC = swsesg 20
= St | c0
= Rekies | 20
= BEBEEE | 0
RUNIT Dl3182 2743
RXCSR 017700 1066#%
1198
1258

PXCBUF 017704

0128

0bcs
1785

91l
2930
cl19#
eS14#

1761
2914
2948s
868+
31624
3111

PRGE 73

EO6

CROSS REFERENCE THBLE -- USER SYMBOLS

qce
clob#
cSbS#
2916
2784+

1022#

31708
ele?

27658

943
2149k
2572%
2925s
78S

1553+

J184#
2132
2395

TU N 0=t bt e Pt Pt P
.—-o..o\i&.;mmo— s b
W )r— ~N—un
NuD =) r—r—NW

b4 L x

oM
W
~NW
o~

e47b
34504
1761

968

2156
2b23#

2935

2793#%

3194
el3?
2460

976
2188+
2630%

2937

3150#

el5?
2471

1159+
1220

{7

2lbl#
22784
2390
2430

1785

10489
2195#
2681%

2939

clbe
2476

1306
2450
2718
c8lex

1198

3188
22b9*

2b8B#

2167

2752%
246b
33878
€813

1203

2276%
3369+

2217

2350+
34544

2228

2759%
2540

2833
1971

2357%

2233

2544
3118#
2028

1186%
1248

‘E

1987*
2eld
2313#%
SHN0*
cb3l#

2242

c431#

2298

2S84
3120
2078

2438+

2309

2598
Jlel




0.0UR-B MACYLL 27 (1036)
0<DURD.P11

RXDONE= 000200
RXERR = 100000
veC 00117
SAVRO 001156
SAVR1 001160
VRe 001162
SAVR3  00lle4
SAVRY 001166
001170

SRVSP  00117¢
SAVOS = 104406
SCOPE = 104400
SCOP! = 104801
SEND = 000020
C 001200
SETFLG= 108412
= 004000

SEXMIT 001177
SHIFT 001140
SIX = 002000
SPRCNT= 014577
SRD = 002000
STRCK = 001100
STD = 000010
STFLG 001223
STPSYN= 000400
SvisS 0i4272
SR 001100
SHREG 000176
SHREGC 015436
SWO0 = 000001
SO0l = 000002
S22 = 000004
SW03 = 000010
SHON = 000020
ISHDS = 0000N0
SWO06 = 000100
' SH08 = 000400
| SWO9 = 001000
| SWi0 = 002000
| S¥il = 004000
. Sl = 010000
I SH13 = 020000
' SHIN = OM0000
i SIS = 100000
SYNCNO 001176

| SYNEXT= 020000
SYNINT= 030000

17-AUG-76 0B:(7
04-AUG-76 00:08

bles

oo
Dot P Pt P P Pt
O£

[ 2 3 4 2 3 F 5 3 ¥ 3 /|

AR

PAGE 74

FO6

CROSS REFERENCE TRBLE -- USER SYMBOLS

404 2439 2485
2705 272l 33b8#
1689
1797
2959 32y
2968% 2973 3497
29%67?% 2974 3499
296b% 2975
2965% 2976 3495
2%NE 2977
2%3% 2978
3135 342
3076
1074 1089 1104
1356 1379 1402
1680 1694 1706
1857 2110 2141
1385 13686 1390
1010 1929
932 1005 1009
2357
1006 927
cc0S% 2221%  2286#%
cb00F 2640% 26S4+#
2276
3014 3017%  3033#
B&Y 1023 3119
1214 1215 1219
B67#
1316 1317 1321
879 884 B888#%
3116 3178
888 894 3178
3198
897
1045
3114
e84l
3116
e8ay
3070
eBl?7
QoY # Q98 2211
2119 eleb
2188 2195 ccb9
1247 1248 1252

geee

34524

U= 0o g
=) L
3= e
- MUNO

1331
1013

2302#
cbSB#

3181
1ee0

1322
894
3191

2292

2276

1253

es3l

1134
1448
1729
225¢
13%
1017

2367#%
cbSB*

1225
1327

897
3198

2373

2350

1258

2547

1142
1473
1741
2333
1398
1036

2383*
27lo#

1231
1329
1032

2454
2357

1260

€580

2448%
27 1b#

1236

1045

2589

2464+
3396+

1931

2817

c438
el3b

cbls

cScu#*

1987

28ed

elél

cb38

2538#%

20le

284!

2166

2e47

1287
1584
1802
26693

2542

2062

3070

el197

SEG 0070
cbt3

2582+

3108

2232




TENPL

TEMP2
TEMP3
TEMPY
TEMPS
TKCSR
TKCBR
TLRSY
TPCSR

TPDBR
TRPOK
TSTNO

1871

1ST10
15711
15712
TST13
TST1N

P 7ST16
lTSTl?
f

15718
T€T19
TETR2
v TSTe0
'TSTBI
ST
15723
I ST
1 15125
15726
‘ 157
15728
75729
TS73
15730
75731
15732
16733
TSTM
1S735
TET36
18737
76738
' 1€729
TETY

CcOUR-B MACYll 27010

UZDURD.PIL 04=-RUG~:

O

798
£98

822
—-3L

BSOBECRRRERR
S

TRPREG

—
-
&t

2313

2999
c20b#
260] %
J430#
3388+#
2991 #*

2820
28ee
2730s
2853
2855#

1079
g7c*
1314%
1623#
1833*

2358

3024+
o2k
ob4ls

3390#
204
2870
2872

288l
c880%

23%

3152#
2cB7#
2655+

3391 %
3402+

3177
2880

2440
384
2659%

3392%
3406+

3179

114

1092#
1383#
1698%
2l1b#

279

GO6

) é?-ﬂJG-?B 08:17 PQGS ?E
& 00:C3 CROSS REFERENCE YABLE -- USER SYMBOLS

e47S e51S
33448

c3bB* 2384#
2699% 2713%
3393 3401 %

3409% 3419+

34338

1107% 1l22%
1406%  [429#
1710  1722%

cl4bx  2185#

2573

o44Sx
2717+

J405#
J423#

1137%
1454 %
1733%
ccbb#

2bal
2465%
3389#

3418#
342b#

2689

2ScS#
31401

3422+

1179%
1502+
1758%
24c8*

2533+
3411

1210%
1S25#
1770%
2S04#

2543
3413#

1245*
1548#*
1782*
2562

SEQC 0071

2583#
3418

1268%
1571%
1794%
2b20#




CDUR-B MACYLL 27.1036)

17-AJ5-76 08:17 PAGE 76

nuJob

CoDURD.PLL ON-RUG-76 00:090 CROSS REFERENCE TARBLE -- USER SYMBOLS SEQ 0072
TST40 008726 1834 1848
TSTH1  0O677M 1849 18648
TST82 007710 1865 cllbs
TSTN3 810038 cil? 1468
TSTUYY 10164 2147 18Ss
TSTSNS  DI0S06 cl8b ccbbs
TST4G 011030 ceb? 23478
TST47 011352 2348 c4cBs
TST48 01167 2429 2S04s
TST4Y  0l213% 2s0s 25628
TSTS 700 1108 11228
TSTS0 (012400 €563 cb20s
TSTS1  Ql26Me cbel ce78s 2730
TSTSS = #s#sss 2679
TS76 00276k 1123 1137%
1517 003016 1138 11468
1578 003146 1147 11798
7573 003276 1180 12128
1787 013516 1029 1030% 1040% I04l# 1043% 1044# 28188
TXCSR 017714 1111%  1160# 1193% lg2b# 1259% 1282% 130S# 1328% 1339 340 13448 I3NS 13S0
1351® 1352 136c% 1363 1367% 1368 1373%  1374% 1375 1385% 1386 13908 1391
1396+ 13974+ 1398 1408% 1409 1413#% 1414 1419% 1420% 1421 1431 # 1432 1436%
1437 1442%  I443%  L14YM 1456%  [N57 ivel® 1462 1467%  |N6B% 1469 14818 1482
1486% 1487 1492  1493% 1494 1S04%  |S0S 1509% 1S10 1515%  |Sl6% 1517 1527%
1528 1532# 1533 1538% 1539% 1S40 1S51# 185§ 1573%  1S74 15788 1579 1589»
1604% 1606 1blex 1613 1625% 1627 1630% 1634 16388  1639% 1640% 1644 1658#
1660 1663% 1667 1671# 1672% 1673% 1677 1688% 1700% 1712% J724% 1725 173S»
1736 1747%  [760% 1772% 1784% 1796% 1808% 1835% (836% 1837 1838 1850% 1867%
cligs 21208 2123% 2148% 21508 2153% 2137% 2189 2192% 2199% 2200% 2202% 2203%
ochB® 2270% 2273%  2280% 22B8l#  22B83% 2284%  2349%# 23Sk 2354k 236l 2362F 236M#%
2365% 24308 2432% 243S#  24YM2R 24M3E® 244SE 2446% 2506  2508% 2Sll®  2S17% 2518+
2s20# 1# 2564% 2Sbb* 2569% 257S% 2S76#% 257B¥  2579% 2620% 2624%  2627% 2633
cb34# 6% 2637% 2680 2bB2% 268SF 2BbSl¥ 2692% 2B94E  2695%  3374#  3387% 3393#
3394%  3395% 3456
TXDBUF 017720 11c6% {139 3378% 345868
TXOONE= 000200 7198 1725
TXINTE= 000100 7¢08  143] 1432 1436 1437 1942 1444
TYPDAT 015042 3091 3098 31018
TYPE = 10M402 g831s 877 1087 2736 2739 2744 2866 2876 2888 2892 2983 3020 3095
3099 3157 3183 3185 3193
TYPMSG 015012 3089 30928
USER = 000000 7cb8
vOID = 000001 6938
MRDCNT DINS7M 2993% 3022% 30318
ZERQ 013160 27508
SCNTG  O1S444 3183 31998
SE = 000065 €878 1063 10648 1078 10798 1093 10948 1108 1109 1123 11248 1138 11398
1147 11488 1180 1i8ls 1213 12148 1246 12478 1269 12708 129¢ 12938 131§
13168 1338 13398 1361 13628 1384 13858 1407 14088 1430 14318 1455 14568
| 1480 iy8ls 1503 15048 1526 15278 1549 15508 15872 1673¢ 1588 15898 1624
16258 1653 16548 1687 16888 1699 17008 1711 171es 1723 17248 1734 1735s
1746 17478 1759 17608 1771 17728 1783 17848 1795 17968 1806 18078 1834
18358 1849 18508 1865 18668 2117 cli8s 2147 cl4y8s 2186 21878 2267 c2e8s
2348 23498 2429 24308 2508 2S068 2563 cSe4s 2621 2622 2679 cb80#
SMNEW 015461 3187 32028
| SMSWR 015451 3185 32008
| 106




1UD
DIDUA-B MACY1l 27(1C36) IT-AJS-76 08:17 PAGE 77
DZDURD.PIl  04-AUG-76 00:00 CROSS REFERENCE TABLE -~ USER SYMBOLS

SN = 02063 S87s 1062 10648 1077 1079¢  109¢ 10948 1107
1146 11488 1179 118ls 1212 12l4s 1245 12474

13168 1337 13398 1380 1362 1383 13858 1406
RN A N A
s, s B9 L D I
18358 1848 18508 1864 18668 2116 21188 2146
34?7 23438 2428 24308 2504 2s0es 2562 2sbys
$Y = 000015 gé?: ggg. 829s 83ls 8334 835s 8378 839
= 020180 7318 7348 744s 7Sis 1140 1561 1565 1597
1645 1661 1668 1678 1726 1752 1817 igeH
1902 1919 1924 1346 1952 1969 1985 2001
2032 2108 32048 33438 33448 334Ss
.BEGIN 002156 899 10228
.CKSWR 015316 BS0  3173s
-CNTLU 015372 852 31848
CNVRT 014362 846 29858
-CONVR 014356 844 29838
EOP 013104 2679  2736s
-ERRTR 017650 3084 34378
HLT 014702 737 30698
-INSTE Cl4016 83 28868
INSTG 0140322 2885 cB88s
INSTR 013700 2862s
-INST1 013720 28bbs 2877 2893
.HSG 013722 28e4s 28678 3179%  318C* 3181
-PARAM  0140S0 838  2300s
.PFAIL 015152 735 86S  3le8s 3148
-RESOS 014324 842 29734
SAVDS 0OluyctH g40 2959
SCOPE 013434 828 28008
SCOP1 013620 830 28408
SETFL 014502 B48 30418 3052
.START 001260 747 8638 873 2748
-TRPSR 014650 733 30588
.TRPTR 001226 8248 3063
-TYPE 013640 832  cB4Bs

QNN L O+
OV Wore
— L
- =

[4 VY Y Y Sy Uy
nNneN
[ 3

J06



Cl0UR-B MACYL! 27(1006)
04-RUG-76 00:00

CoCurD.P1Y
MY 6478
1172
129
INL]
1530
1669
1856
2077
2e4s
M0l
2sse
PRGEND c87s
PRGFRY c87s
PUSSYF 587
RSETUP S87s
TSETUP G878
SBEGIN 5878
SBINAR S87s
SBUFFE 6878
SCRBLE 5878
SCATCH t87s
SCLRVE 5878
SCONVR c87s
878
SEOP 878
SGETFL 5878
SGETPR 5878
SGETSY c87s
SHERDE 5878
SHLY c874
SINSTR C87%
$1S08 £878
SMQTCH c878s
SMRR £87s
SMRRY 5878
1499
$MRM cg7s
$HSG 5873
SPARAN SB78
SPFRIL 58748
SPOKE 878
SPOKER 878
SRCNETY S87s
SRECAC 878
SREG c87s
SRESET 5878
1516
1784
2351
SRXACT c87%
$SSCOPE S87s
$SCOPY c87%
SSETFL 878
SSETVE c87s
SSTARTY c873%
SSTRIP £87s

1068
1184
1301
1416
1535
1679
1882
20983
2249
c407
2608
2729

588

2118
1018
3340
1884
730
879
2380
27e9
930
309
985
Ses
3066
2859

17-RJs~-76 08:17

1371
1189
1308
1423
1S4¢

1306

1003
S20

1695
1176

ccBe
2253

1193
1578
1808
2432
2142

1083
1200
1319
1434
1562
1703
19C3

1932

1007
40

1707
1209

2363
233M

1226
1589
1836
2506

PRGE 79

JUb

CROSS REFERENCE TABLE -- MACRO NAMES

1956

1011

1730
1242

2444
2415

1259
1604
1850
2508

1098
1217
1331
1446
1576

1972

1015
975

1755
1265

2519

1e82
1639
1867
254

1988

1034
1047

1767
1288

1113 1116
1233 1238
1347 1354
1464 1471
1598 1603
1753 1763
1953 1970
clbH 2169
2320 2326
2478 2482
a7e4

2506 2SeM
2013 2029
1779 1791
1311 1334
2635 2693
1328 1351
1688 1700
eled 2148
eba2 2beH

TU) s 0o pt P 0=t st g
NNV N LN
— D ~Je—- Uy
O UN— L UNO O

o
L)
(oo [N
o

cee2

2046

1357

2680

2063

1380

1397
1724
el8?
2682

2079

1403

1420
1735
2189

2035

1426

1443
1747
ccb8

145,

1468
1760
2270

SEQ 0074

1167
1285
1400
1519
1bb2
1842
2060
22393
2397
2587

1476

1493
1772
2349

V4 m [N




C<DUR-B MACY11 2701006 17-RAUG-76 0B:17 PAGE 80
CZCURD.PLI C4-AUG-76 00:00 CROSS REFERENCE THBLE -- MACRO NAMES SEQ 0075

§SYMBO 5878 600 .
§SYNCR 5878 2157 2278 2353  2wi0 2515 2573 2631 2683

§TRAPS 5878 819

STRPAR 5378

STRPDE Se7s 827 829 831 833 835 B37 839 841 843 B4 847 843 g5l
STRPSR 5878 3053

$TSTNO S87s 1062 1077 1092 1107 1122 1137 1146 1179 1ele 1245 1268 123} 1314 1337
1360 1383 1406 1429 1454 1479 1802 1525 1548 15871 1587 1623 1652 1686 1698
1710 1722 1733 1745 1758 1770 1782 1794 180S 1833 1848 1864 elib 2i4b 2185

£ebb c347 c428 2504 2562 2620 2678
STYPE 5878 2845
SUNIBU 5878 1060 1075 1090 1108 1120
S$VARIA 5878 S0

SWORDF 5878
$1ORDO 5878 249% 2554 2ele 2670
$LKORDP 5878

. ABS. (020160 000

ERRORS DETECTED: O
DEFRULT GLOBALS GENERATED: O

DZDUAD , DZDUAD /CRF /CPU; 20/S0L=HELLO.P11/EQ: RUNR, PRPA.P11,KEET.P11,C20LAD. P11
RUN-TIME: 24 36 3 SECONDS

RUN-TIME RATIO: B81/64=].2

CORE USED: 18K (36 PAGES)

—_— ——————— —— . -

| NA



